Applicants' Questions regarding the City of Toronto's Progress Report dated May 19, 2020 Pursuant to the terms of the Interim Settlement Agreement dated May 15, 2020

- May 22, 2020 -

The terms "Physical Distancing Standards", "Shelter System," "Beds", and "Clients" are intended to refer to the defined terms as set out in the Interim Settlement dated May 15, 2020.

Delays in Achieving Physical Distancing Standards Since May 2, 2020

In its May 2, 2020 letter (attached as Appendix "A"), the City asserted that 319 more people needed to be relocated in order to achieve Physical Distancing Standards across the shelter system, and that these relocations would be completed by May 15, 2020. The May 19, 2020 Progress Report indicates that as of May 18, 2020, relocation of 131 individuals from 15 different sites is required in order to achieve Physical Distancing Standards across the shelter system.

- 1. Please provide an explanation as to why the City's previously stated plan of achieving compliance with Physical Distancing Standards across the shelter system by May 15, 2020 was not in fact achieved. Please include explanation in respect of each of the 15 sites where compliance with Physical Distancing Standards had not been achieved as of May 18, 2020, as to why the City was unable to achieve compliance for that site by May 15, 2020, as had previously been anticipated. For each of these 15 sites, please also explain why the relocation plans could not be effected earlier than the dates indicated in Table B of the Progress Report dated May 19, 2020.
- 2. With respect to the 15 sites where compliance with Physical Distancing Standards had not been achieved as of May 18, 2020, please advise of the number of residents in each of those sites that had been identified through the risk stratification CARE program as requiring minimum support in the context of relocation to an alternative site. If any of the 15 sites had one or more residents as of May 15, 2020 that had been identified as requiring minimum support, please explain why these residents had not been relocated to an alternative site prior to May 15, 2020, so as to enable compliance with Physical Distancing Standards to be achieved more rapidly.

Basis for Determining When Physical Distancing Standards Are Met in Progress Reports

In the City's letter dated May 7, 2020, the City attached a number of spreadsheets that were the basis for the City's determinations of how many beds needed to be removed from each shelter site in order to achieve physical distancing:

"We are providing you with the attached spreadsheets that summarize the process and calculations that staff used to estimate the number of spaces that needed to be removed from each facility in order to provide enough room for physical distancing between the remaining spaces. The square footage of each room within a given facility was calculated

and SSHA determined the number of beds that would need to be relocated from each facility by subtracting the required number of beds per bedroom or sleeping area to achieve physical distancing from the actual current capacity number."

The spreadsheets the City provided are attached as Appendices "B" through "E". The spreadsheets disclose that the City calculated the maximum number of beds per room at each shelter site based on the area (length times width) of each room, divided by 74.3 square feet per bed.

- 3. Please confirm that the target capacities for each shelter site on pages 3-8 of the Progress Report dated May 19, 2020 were determined based on the calculation of 74.3 square feet per bed, as set out in the spreadsheets provided on May 7. If not, please explain how the target capacities were determined.
- 4. Please explain the methodology by which the City has determined that the measure of 74.3 square feet per bed is sufficient, regardless of room dimensions, room configuration, bed size and other variables, to ensure that the Physical Distancing Standard of 2 metres lateral distancing between beds is satisfied in all cases.
- 5. What steps if any have been taken by the City to confirm the dimensions of the beds actually in use at each site?
- 6. Our clients are of the view that, in respect of larger rooms with dormitory-style occupancy, an allocation of 74.3 square feet per bed is inadequate to ensure compliance with the Physical Distancing Standard of 2 metre spacing between beds. In order to begin an assessment of this issue, we have identified within the City's spreadsheets 27 rooms in which 10+ beds are allocated based on 74.3 square feet per bed (each of these rooms is highlighted in the attached versions at Appendices "B" through "E"). These rooms are located within 15 different shelter sites. With respect to each of these rooms and/or each of these shelter sites, please advise what steps have been taken by the City to confirm that the target capacity identified in the May 7 spreadsheet can be and has in fact been implemented in a manner consistent with compliance with the Physical Distancing Standard (2 metres lateral distance between beds and no use of upper bunks). Alternatively, in the event that no such steps have been taken in respect of any given room or site, please confirm that the target capacity reported for that shelter site in the Progress Report dated May 19, 2020 reflects the target capacity identified in the May 7 spreadsheet for that site.

Capacity Targets for 24-Hour Respites

The spreadsheets that the City provided on May 7, 2020 did not include any information about capacity targets for respite sites in order to comply with Physical Distancing Standards. Instead, the City said in its letter: "Please note that these spreadsheets do not include all locations. Some sites, including respite sites and newer locations had capacity targets developed based on information provided directly by sites and through measurement of beds during site visits."

7. Please provide sufficient information to enable assessment of the sufficiency (in terms of achievement of Physical Distancing Standards) of the capacity targets shown in the May

19, 2020 Progress Report for each of the respites listed on pages 2-8. For any given site, such information could consist of:

- a. The information provided directly by these sites and through measurements of beds during site visits, as referenced in the May 7, 2020 letter; OR
- b. The dimensions for every room occupied for sleeping in each site, the capacity target of that room, and the dimensions of the beds, cots or mats used in that site; OR
- c. Any other information relied upon by the City to determine the capacity target as shown in the May 19, 2020 Progress Report.

Capacity Targets and Compliance with Physical Distancing Standards for COVID-19 Response sites

The Progress Report dated May 19, 2020 does not include the target capacity figures for any of the COVID-19 Response sites (Dixon Hall – 354 George St; Driftwood CC; John Innes CC; Matty Eckler CC; Warden Hilltop CC; Jimmie Simpson CC; Trinity CRC; Homes First Society – 5800 Yonge St. Building B; OOTC 188 Carlton St; Masaryk-Cowan CC).

- 8. In accordance with the requirements of the Interim Settlement, please provide the City's assessment of the target capacity of each of the COVID-19 Response sites. The Progress Report dated May 19, 2020 has reported that the occupancy figure for each such site as of May 18, 2020 was in compliance with Physical Distancing Standards and that further reduction was "n/a".
- 9. Please provide information regarding how the capacity targets for each of the COVID-19 Response sites were determined, to enable assessment of whether the capacity targets are sufficient to achieve Physical Distancing Standards. For any given site, such information could consist of:
 - a. The dimensions for every room occupied for sleeping in each site, the capacity target of that room, and the dimensions of the beds, cots or mats used in that site; OR
 - b. Any other information relied upon by the City to determine the capacity target for that site, such that the occupancy figure reported in the Progress Report dated May 19, 2020 was in compliance with Physical Distancing Standards.

Family Sector

The Progress Report dated May 19, 2020 does not disclose target capacity for the following sites in the Family sector: Birkdale Residence; Christie Refugee Welcome Centre; Red Door Family Shelter; Sojourn House; Sojourn House Refugee Family Grange; Toronto Community Hostel.

10. Please confirm that for each of these sites, sleeping arrangements are such that each family has its own room and individuals from different households/families are not

sleeping in shared rooms. In the event that this is not the case for all such sites, please explain how the City has confirmed that compliance with Physical Distancing Standards has been achieved in respect of that site.

Streets to Homes Satellite Interim Housing Program

The Progress Report dated May 19, 2020 does not disclose the capacity or existing occupancy for the Streets to Homes Satellite Interim Housing Program. Under the terms of the Interim Settlement, this program is one of the components of the Shelter System, and therefore subject to the reporting obligations set out in the Interim Settlement.

11. In accordance with the requirements of the Interim Settlement, please identify the different sites making up the Streets to Homes Satellite Interim Housing Program, the number of units and beds at each site, the target capacity of each such unit, and the number of occupants in each such unit.

Confidential Hotel Locations

The Progress Report dated May 19, 2020 does not disclose the capacity for the hotel rooms that the City has secured for the purposes of achieving Physical Distancing Standards across the Shelter System. Under the terms of the Interim Settlement, these hotel rooms are one of the components of the Shelter System, and therefore subject to the reporting obligations set out in the Interim Settlement.

- 12. In accordance with the requirements of the Interim Settlement, please identify the capacity of each of the hotels identified on pages 9-11 of the Progress Report dated May 19, 2020.
- 13. In accordance with the requirements of the Interim Settlement, please identify if any additional hotels have been secured by the City for the purposes of achieving Physical Distancing Standards across the Shelter System, other than those identified on pages 9-11 of the Progress Report dated May 19, 2020. In the event that such additional hotel sites have been secured, please advise of the capacity of each such site.

Relocation Plans for St. Felix Sites

In the May 19, 2020 Progress Report, the City disclosed its plans to move residents from St. Felix's 25 Augusta Avenue and 69 Fraser Avenue sites to meet physical distancing standards, into a new site. According to the May 19, 2020 Progress Report, this new site "required renovations to ensure the site meets all requirements", that such renovations were "underway" and the site "should be ready by early next week".

According to City's outbreak report dated May 20, 2020, there is a known outbreak at one of the St. Felix sites, and this outbreak arose on April 24, 2020.

14. In respect of the residents that the City plans to relocate from the two St. Felix locations in order to meet physical distancing standards, please explain why the City selected a location that required renovation and that was not immediately available, rather than

- making use of other available Beds, such as vacant hotel rooms within hotel sites that had already been secured by City or Beds within other Shelter System sites that were not operating at target capacity.
- 15. What is the configuration of the new site that is undergoing renovations, and in particular, is it a congregate setting with dormitory-style sleeping arrangements? What is the target capacity of this new site, and how has this been determined?
- 16. What steps if any have been taken, in planning for relocation of residents from the St. Felix site with a known outbreak, to minimize and prevent risks of transmission of COVID-19?

APPENDIX A



Wendy Walberg LL.B., LL.M., C.S.

City Solicitor Legal Services 55 John Street Stn. 1260, 26th Flr., Metro Hall Toronto ON M5V 3C6 Tel. (416) 392-8047 Fax (416) 397-5624

* Certified by the Law Society as a Specialist in Municipal Law: Local Government

Reply To: Kirsten Franz, Practice Lead, Litigation

Tel: 416-392-1813 Fax: 416-397-5624 E-Mail: Kirsten.Franz@toronto.ca

May 2, 2020

Jessica Orkin, Louis Century and Geetha Philipupillai Goldblatt Partners LLP 20 Dundas Street W., Suite 1039 Toronto, ON M5G 2C2

Andrew Porter, Anthony Sangiuliano and Sahar Talebi Lenczner Slaght LLP 130 Adelaide St. W., Suite 2600 Toronto, ON M5H 3P5

Dear Counsel:

RE: Sanctuary Ministries of Toronto et al v City of Toronto

We received the following information from Shelter Support & Housing Administration this evening, reflecting the results of this weeks' incredible effort to relocate shelter clients into new facilities. The numbers below are current to last night (Friday May 1, 2020). These numbers are changing on a daily basis.

The City has achieved physical distancing in 95% of the system.

The total number of people moved for physical distancing, including 24-hour temporary COVID-19 response sites, hotels, and housing is 1,679.

The breakdown of the 1,679 is:

- 964 clients have been moved for physical distancing into hotel sites
- 13 community centres and other sites have opened as temporary shelter/respite sites for physical distancing with 497 clients moved into those facilities
- 218 people moved into permanent housing through the rapid housing initiative, housing allowances and rent geared to income.

SENT VIA EMAIL

In addition to this, the City is in the process of moving clients who sleep outdoors from encampments into interim housing in apartments. This started April 29 and 58 people have moved in to date.

The number of remaining spaces in existing facilities with clients that need to be relocated is 319.

Staff expect that the remaining clients will be relocated by May 15.

Yours truly,

Kirsten Franz

c.c. David Gourlay, Michele Brady, Alison Barclay
Zachary Green and Savitri Gordian, Crown Law Office, Ontario Ministry of the Attorney
General

APPENDIX B

	10.00	37.00	FALSE	-17.00	20	20.35	1512.00	27.00	56.00	A208	2	339 George - SH - O'Neill	339 George
	10.00	28.00	FALSE	-22.00	6	6.66	495.00	11.00	45.00	A108	_	339 George - SH - O'Neill	339 George
Notes	# Bunk Beds	Actual Occupancy	Interpretatio n (Meets 74.3)	Required # of Clients Delta: 74.3 Per Bedroom or (=>0 equals Sleeping compliance area to or shortage Interpretatio Comply with of beds) n (Meets 74.3 sq ft of (<0 = 74.3) Personal overage of Space beds) [Rounded [Rounded] DOWN]	Required # of Clients Per Of Clients Per Per Bedroom or Bedroom to Sleeping Comply with area to 74.3 sq ft of Comply with Personal 74.3 sq ft of Space Personal Space [not foot [Rounded] DOWN]	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]	Total Area	Width of Bedroom/ Sleeping area (ft)	Length of Bedroom/ Sleeping area (ft)	Room #	Floor		Site

339 George St - SHLT	
	Floor
303 304 317 312 313 313 321 321 321 323 332 332 340 341 342 343 353 355 356 357	Room #
13.00 13.00 13.00 13.00 13.00 13.00 15.00 17.00 17.00 16.00 18.00 18.00 16.00 16.00 16.00 16.00 16.00	Length of Budroom/ Steeping area (ft)
18.00 18.00 18.00 18.00 18.00 18.00 18.00 18.00 18.00 18.00 18.00 18.00 18.00 18.00	Width of Bedroom/ Sleeping aroa (ft)
247.00 234.00 234.00 234.00 234.00 234.00 180.00 270.00 198.00 240.00 240.00 240.00 240.00 240.00 240.00 288.00 144.00 340.00 288.00 288.00 340.00 288.00 340.00 288.00 340.00	Total Area
3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
ο α α α α α α α α α α α α α α α α α α α	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq tt of Personal Space [Rounded DOWN]
-1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
FALSE FALSE	interpretatio n (Meets 74.3)
4.00 4.00 4.00 4.00 4.00 5.00 4.00 5.00 4.00 5.00 4.00 4	Actual Occupancy
0.000	# Bunk Beds
	Notes

339 George St - SH Hostel	339 George St - SH Hoste	339 George St - SH Hostel	339 George St - SH Hoste	339 George St - SH Hostel	Site						
SH Hostel	SH Hostel	SH Hostel	SH Hostel	SH Hostel	SH Hostel	SH Hostel	SH Hostel	SH Hostel	SH Hostel	SH Hostel	
2	2	Ν	Ν	2	2	2	2	2	2	2	Floor
244	242	240	239	211	210	209	207	206	202	201	Room #
29.00	57.00	30.00	19.00	26.00	11.00	24.00	52.00	45.00	19.00	33.00	Length of Bedroom/ Sleeping area (ft)
16.00	18.00	17.00	17.00	18.00	18.00	18.00	18.00	18.00	18.00	19.00	Width of Bedroom/ Sleeping area (ft)
464.00	1026.00	510.00	323.00	468.00	198.00	432.00	936.00	810.00	342.00	627.00	Total Area
6.24	13.81	6.86	4.35	6.30	2.66	5.81	12.60	10.90	4.60	8.44	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
6	13	တ	4	တ	2	Çī	12	10	4	œ	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
-14.00	-29.00	-16.00	-8.00	-14.00	-6.00	-13.00	-24.00	-26.00	-8.00	-16.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	Interpretatio n (Meets 74.3)
20.00	42.00	22.00	12.00	20.00	8.00	18.00	36.00	36.00	12.00	24.00	Actual Occupancy
10.00	21.00	11.00	6.00	10.00	4.00	9.00	18.00	18.00	6.00	12.00	# Bunk Beds
											Notes

George St -	÷ St	George St - SH	339 George St - SH Annex	George	339 George St - SH Annex	339 George St - SH Annex	339 George St - SH Annex	George	339 George St - SH Annex	George St - SH	George St - SH	George St -	St - SH	339 George St - SH Annex	339 George St - SH Annex	St - SH	339 George St - SH Annex	<u>₽</u>	St - SH	St.	St - SH	339 George St - SH Annex	George St -	George St -	339 George St - SH Annex	S					
4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	Floor
459	458	457	456	455	454	453	452	451	444	443	442	441	440	435	434	433	432	424	423	422	421	415	414	413	412	411	404	403	402	401	Ream #
16.00	16.00	16.00	16.00	18.00	18.00	16.00	17.00	11.00	8.00	16.00	8.00	8.00	13.00	17.00	17.00	17.00	13.00	11.00	11.00	13.00	8.00	14.00	22.00	13.00	12.00	19.00	14.00	13.00	12.00	8.00	Length of Bedroon/ Sheeping area (ff)
18.00	18.00	18.00	18.00	20.00	20.00	20.00	20.00	20.00	18.00	18.00	18.00	18.00	18.00	21.00	20.00	21.00	21.00	18.00	18.00	18.00	18.00	18.00	18.00	18.00	19.00	18.00	18.00	18.00	18.00	18.00	Width of Bedroom/ Steeping area (ft)
288.00	288.00	288.00	288.00	360.00	360.00	320.00	340.00	220.00	144.00	288.00	144.00	144.00	234.00	357.00	340.00	357.00	273.00	198.00	198.00	234.00	144.00	252.00	396.00	234.00	228.00	342.00	252.00	234.00	216.00	144.00	Total Area
3.88	3.88	3.88	3.88	4.85	4.85	4.31	4.58	2.96	1.94	3.88	1.94	1.94	3.15	4.80	4.58	4 80	3.67	2,66	2.66	3.15	1.94	3.39	5.33	3.15	3.07	4.60	3.39	3.15	2.91	1.94	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
ω	ω	ယ	ω	4	4	4	4	N	_	ω	_	<u></u>	ယ	4	4	4	ယျ	N	N	ω	_	ω	(J)	ω	ω	4	ω	ω	N	_	Required # of Clients Per Bedroom or Steeping area to Comply with 74.3 sq it of Personal Space [Rounded DOWN]
-2.00	-2.00	2.00	-2.00	-2.00	-2.00	-2.00	-1 00	-1.00	-1.00	-2.00	-1.00	-1.00	0.00	-1.00	-2.00	-200	-1.00	-2.00	-2.00	-1.00	-1.00	-1.00	-2.00	-1.00	-1.00	-2.00	-1.00	-1.00	-2.00	0.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (::0 = overage of beds) [Rounded]
FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	1.00	FALSE	FALSE	EA SE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	1.00	Interpretatio n (Meets 74.3)
5.00	5.00	5.00	5.00	6.00	6.00	6.00	5.00	3.00	2.00	5.00	2.00	2.00	3.00	5.00	6.00	600	4.00	4.00	4.00	4.00	2,00	4.00	7.00	4.00	4.00	6,00	4.00	4.00	4.00	1.00	Actual Occupancy
0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	000	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	# Bunk Beds
																															Notes

EST.	700	NAME .	-	18/18	-	E07/	Fugured F			_		
						Hexputed # of Chants	cl Cherts For Combine					
			Length of sections)	Wildrich secroom/		Budraom to Comply with 14.3	Siccorng streets Comerc	compliance or shortage	Interpretation			
	FINA	Room =	Simples area (*1	Sections area (fr)		sq tt of Personal Scale	A m 74 3 sq ft of Fersonal		n (Meets 712)	Occupancy	Seas	
135 Sherbourne	8	23	18.00	12.60	230.40	3.10	DOWN;	-2.00	FALSE	5.00	0.00	_
135 Sherbourne 135 Sherbourne	B B	43 44	17.11	31.70 23.10	542.39 395.24	7.30 5.32	7 5	3.00 -2.00	1.00 FALSE	4.00 7.00	0.00	
135 Sherbourne 135 Sherbourne	G	101 102	12.80 12.80	8.40 7.80	107.52 99.84	1.45 1.34	1	-1.00 1.00	FALSE 1.00	2.00 0.00	1.00 0.00	Private Room
135 Sherbourne 135 Sherbourne 135 Sherbourne	G	103 104	12.80 12.80	7.80 7.80	99.84 99.84	1.34 1.34	1	-1.00 -1.00	FALSE	2.00 2.00	1.00	
135 Sherbourne	G G	105 106	12.80 12.80	7.80 7.80	99.84 99.84	1.34	1	-1.00 -1.00	FALSE	2.00	1.00	
135 Sherbourne 135 Sherbourne 135 Sherbourne	G G	107 108 109	12.80 12.80	7.80 7.80 7.80	99.84 99.84	1,34	1	-1.00 -1.00	FALSE	2.00	1.00	
135 Sherbourne 135 Sherbourne	G	110	12.80 12.80 12.80	7.80	99.84 99.84	1,34	1	1.00 -1.00	FALSE	2.00	1.00	Private Room
135 Sherbourne 135 Sherbourne	G	135 136	15.10 19.80	7.80 19.80 28.60	99.84 298.98	1,34 4.02	4	1.00 -2.00	FALSE	0.00 6.00	0.00	Private Room
135 Sherbourne 135 Sherbourne	G	137 138	20.50 19.30	16.20 16.20	566.28 332.10 312.66	7.62 4.47 4.21	7 4 4	-1.00 -1.00 -2.00	FALSE	5.00 5.00	0.00	
135 Sherbourne 135 Sherbourne	Ğ	139	15.90 24.00	208.00 15.90	3307.20 381.60	44.51 5.14	44 5	38.00 -1.00	1,00 FALSE	6.00 6.00	0.00	
135 Sherbourne 135 Sherbourne	G	141 142	7.90 20.10	15.90 15.90	125.61 319.59	1.69 4.30	1 4	-1.00 -2.00	FALSE	2.00	0.00 0.00 0.00	
135 Sherbourne 135 Sherbourne	G	148 150	18.00 16.00	16.00 12.10	288.00 193.60	3.88	3 2	-5.00 -2.00	FALSE	8.00 4.00	2.00	
135 Sherbourne 135 Sherbourne	G G	152 153	16.00 16.00	8.10 9.70	129.60 155.20	1.74	1 2	-1,00 0.00	FALSE 1.00	2.00	0.00	
135 Sherbourne 135 Sherbourne	G 2	154 201	16.00 8.40	16.80 12.80	268.80 107.52	3.62 1.45	3	-2.00 1.00	FALSE 1.00	5.00	0.00	Private Room
135 Sherbourne 135 Sherbourne	2	202 203	7.80 7.80	12.80 12.80	99.84 99.84	1.34 1.34	1	1.00	1.00	0.00	0.00	Private Room Private Room
135 Sherbourne 135 Sherbourne	2	204 205	7.80 7.80	12.80 12.80	99.84 99.84	1.34	1	-1.00 -1.00	FALSE FALSE	2.00	1.00	111140
135 Sherbourne 135 Sherbourne	2	206 207	7.80 7.80	12.80 12.80	99.84 99.84	1.34	1	-1.00 -1.00	FALSE	2.00	1.00	
135 Sherbourne 135 Sherbourne	2	208 209	7.80 7.80	12.80 12.80	99,84 99.84	1,34	1	0.00 1.00	1.00	1,00	0.00	Private Room
135 Sherbourne 135 Sherbourne	2	210 211	7.80 7.80	12.80 12.80	99.84 99.84	1.34	1	1.00	1.00 FALSE	0.00 2.00	1.00	Private Room
135 Sherbourne 135 Sherbourne	2	212 213	7.80 7.80	12.80 12.80	99.84 99.84	1.34 1,34	1	1.00 -1.00	1.00 FALSE	2.00	1.00	Private Room
135 Sherbourne 135 Sherbourne	2	214 215	7.80 7.80	12.80 12.80	99.84 99.84	1.34 1.34	1	-1.00 1.00	FALSE 1.00	2.00 0.00	1.00	Private Room
135 Sherbourne 135 Sherbourne	2	216 217	15.10 20.50	13.60 16.00	205.36 328.00	2.76 4.41	2	-6.00 -3.00	FALSE FALSE	8.00 7.00	4.00 1.00	
135 Sherbourne 135 Sherbourne	2	218 219	17.20 9.30	12.40 12.40	213.28 115.32	2.87 1.55	1	-4.00 -2.00	FALSE	6.00 3.00	3.00 1.00	
135 Sherbourne 135 Sherbourne 135 Sherbourne	2 2 2	221 222 223	12.40 6.90	11.70	145.08 85.56	1,95 1,15	1	-3.00 0.00	1.00	4.00 1.00	2.00 0.00	
135 Sherbourne 135 Sherbourne	2 2	227 228	7.30 7.40 7.90	12.90 12.80 12.80	94.17 94.72	1.27	1	0.00	1.00	1.00	0.00	
135 Sherbourne 135 Sherbourne	2 2	229 230	7.90 7.90	12.80 12.80	101.12 101.12 101.12	1.36 1.36 1.36	1 1 1	1.00	1.00	0.00	0.00	Private Room Private Room
135 Sherbourne 135 Sherbourne	2	231 232	7.90 7.90	12.80 12.80	101.12	1.36 1.36	1	1.00 1.00 1.00	1.00 1.00 1.00	0.00	0.00	Private Room Private Room
135 Sherbourne 135 Sherbourne	2	234 235	19.30 28.60	15.11 15.11	291.62 432.15	3.92 5.82	3	-3.00 -3.00	FALSE FALSE	0.00 6.00 8.00	0.00 0.00 0.00	Private Room
135 Sherbourne 135 Sherbourne	2	236 237	16.20 19.30	20.50 16.20	332.10 312.66	4.47 4.21	4	-2.00 -2.00	FALSE FALSE	6.00 6.00	0.00	
135 Sherbourne 135 Sherbourne	2	238 239	21.10 21.00	15.90 15.90	335.49 333.90	4.52 4.49	4	-2.00 -2.00	FALSE	6.00	0.00	
135 Sherbourne 135 Sherbourne	2	240 241	15.90 15.90	10.50 20.10	166.95 319.59	2.25 4.30	2	0.00	1.00 FALSE	2.00	0.00	
135 Sherbourne 135 Sherbourne	2	244 245	9.40 17.90	17.90 12.80	168.26 229.12	2.26 3.08	2	0.00	1.00	2.00	0.00	
135 Sherbourne 135 Sherbourne	2	246 247	17.90 17.90	12.80 12.80	229.12 229.12	3.08 3.08	3	1.00	1.00	2.00	0.00	
135 Sherbourne 135 Sherbourne	2	248 249	17.90 17.90	12.80 9.90	229.12 177.21	3.08 2.39	3 2	1.00	1.00	2.00	0.00	
135 Sherbourne 135 Sherbourne	2	253 257	17.60 9.20	16.10 16.00	283.36 147.20	3.81 1.98	3	-4.00 -2.00	FALSE FALSE	7.00 3.00	3.00	
135 Sherbourne 135 Sherbourne	2	258 259	9.20 9.20	16.00 16.00	147.20 147.20	1.98 1.98	1	-2.00 -2.00	FALSE FALSE	3.00 3.00	0.00	
135 Sherbourne 135 Sherbourne	2	260 261	9.20 9.20	16.00 16.00	147.20 147.20	1.98 1.98	1	-4.00 -1.00	FALSE FALSE	5.00 2.00	2.00 0.00	
135 Sherbourne 135 Sherbourne	2	262 266	8.30 9.30	16.00 16.00	132.80 148.80	1.79 2.00	2	-1.00 0.00	FALSE 1.00	2.00	0.00	
135 Sherbourne 135 Sherbourne	3	267 301	17.00 8.40	16.50 12.80	280.50 107.52	3.78 1.45	3 1	-2.00 1.00	FALSE 1.00	5.00 0.00	0.00 0.00	Private Room
135 Sherbourne 135 Sherbourne 135 Sherbourne	3 3 3	302 303 304	7.80 7.80 7.80	12.80 12.80	99.84 99.84	1.34	1	-1.00 1.00	FALSE 1.00	0.00	0.00	Private Room
135 Sherbourne 135 Sherbourne	3	305 306	7.80 7.80	12.80 12.80 12.80	99.84 99.84 99.84	1.34	1	0.00	1.00	1.00	0.00	Private Room
135 Sherbourne 135 Sherbourne	3	307 308	7.80 7.80 7.80	12.80 12.80 12.80	99.84 99.84	1.34 1.34 1.34	1 1	1.00 -1.00 1.00	1.00 FALSE 1.00	0.00 2.00 0.00	0.00 1.00 0.00	Private Room
135 Sherbourne 135 Sherbourne	3	309 310	7.80 7.80	12.80	99.84 99.84	1.34	i	1.00	1.00 FALSE	0.00	0.00 0.00 1.00	Private Room Private Room
135 Sherbourne 135 Sherbourne	3	311 312	7.80 7.80	12.80 12.80	99.84 99.84	1.34	1	1.00	1.00	0.00	0.00	Private Room Private Room
135 Sherbourne 135 Sherbourne	3	313 314	7.80 7.80	12.80 12.80	99.84 99.84	1.34 1.34	1	1.00	1.00	0.00	0.00	Private Room Private Room
135 Sherbourne 135 Sherbourne	3	315 316	7.80 13.60	12.80 25.30	99.84 344.08	1.34 4.63	1 4	1.00	1.00 FALSE	0.00 5.00	0.00	Private Room
135 Sherbourne 135 Sherbourne	3	317 318	12.40 11.80	12.10 12.40	150.04 146.32	2.02 1.97	2	2.00	1.00 FALSE	0.00 3.00	0.00	Private Room
135 Sherbourne 135 Sherbourne	3	319 320	7.70 7.50	12.40 12.40	95.48 93.00	1,29 1,25	1	-1.00 -1.00	FALSE FALSE	2.00	1.00	
135 Sherbourne 135 Sherbourne	3	321 322	7.60 8.20	12.40 12.40	94.24 101.68	1.27 1.37	1	1.00 -1.00	1.00 FALSE	0.00 2.00	0.00 1.00	Private Room
135 Sherbourne 135 Sherbourne	3	323 325	9.00 19.30	12.40 15.11	111.60 291.62	1.50 3.92	1 3	1.00 -3.00	1.00 FALSE	0.00 6.00	0.00	Private Room
135 Sherbourne 135 Sherbourne	3	326 327	28.60 16.20	15.11 20.50	432.15 332.10	5.82 4.47	5	-3.00 -1.00	FALSE FALSE	8.00 5.00	0.00	
135 Sherbourne 135 Sherbourne	3	328 329	19.30 21.10	16.20 15.90	312.66 336.49	4.21 4.52	4	-2.00 -2.00	FALSE	6.00 6.00	0.00	
135 Sherbourne 135 Sherbourne 135 Sherbourne	3 3 3	330 331 332	21.00 10.50	15.90 15.90	333.90 166.95	4.49 2.25	2	-2.00 0.00	FALSE 1.00	6.00 2.00	0.00	
135 Sherbourne 135 Sherbourne	3	334 337	20.10 14.10 17.60	15.90 8.20	319.59 115.62	4.30 1.56	1	-2.00 -1.00	FALSE	6.00 2.00	0.00	
135 Sherbourne 135 Sherbourne	3	341 342	9.20 9.20	16.10 16.00 16.00	283.36 147.20	3.81 1.98	3 1	-4.00 -3.00	FALSE	7.00 4.00	1.00	
135 Sherbourne 135 Sherbourne	3	343 344	9.20 9.20 9.20	16.00 16.00	147.20 147.20 147.20	1.98 1.98	1 1	-3.00 -3.00	FALSE	4.00 4.00	1.00	
135 Sherbourne 135 Sherbourne	3	345 346	13.50 16.80	16.00 16.00	216.00 268.80	1,98 2,91 3,62	2	-3.00 -2.00	FALSE	4.00 4.00	0.00	
135 Sherbourne 135 Sherbourne	3	348 349	9.50 9.50	16.00 16.00	152.00 152.00	3.62 2.05 2.05	2 2	-3.00 0.00 0.00	1.00 1.00	6.00 2.00 2.00	0.00 0.00 0.00	
135 Sherbourne	3	350	17.00	16.00	272.00	3.66	3	-2.00	FALSE	5.00	0.00	

107	107	107	107	Sile
107 Jarvis	107 Jarvis	107 Jarvis	107 Jarvis	
ယ	ယ	2	Ν	Floor
303	302	203	202	Room #
23.00	108.00	20.00	108.00	Length of Bedroom/ Sleeping area (ft)
20.00	24.00	23.00	24.00	Width of Bedroom/ Sleeping area (ft)
460.00	2592.00	460.00	2592.00	Total Area
6.19	34.89	6.19	34.89	Required # of Clients of Clients Per Per Bedroom to Sleeping Comply with area to 74.3 sq ft of Comply with Personal 74.3 sq ft of Space [not rounded] [Rounded DOWN]
တ	34	တ	34	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
-6.00	-14.00	-6.00	-14.00	equired # Clients Delta: 74.3 Per droom or (=>0 equals leeping compliance or shortage mply with of beds) 3 sq ft of (<0 = ersonal overage of beds) Space [Rounded] OUVN]
FALSE	FALSE	FALSE	FALSE	Interpretatio n (Meets 74.3)
12.00	48.00	12.00	48.00	Actual Occupancy
6.00	0.00	6.00	0.00	# Bunk Beds
				Notes

38 Bathurst	38 Bathurst	38 Bathurst	38 Bathurst	Sie
		. <i>α α α α α α α α α</i>	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Floor
322 322 323 324 325 326 327 329	300 310 311 312 315 316 317 318	221 222 222 224 225 307 308	115 123 201 202 208 208 213 214 215 216 216	Roam #
15.60 15.60 15.60 15.60	15.60 15.60 15.60 15.60 15.60 15.60	22.60 22.60 22.60 10.11 21.30 15.60 15.80 15.80	10.90 34.90 21.50 10.11 22.60 22.60 21.30 21.30 21.30 21.30 22.60	Length of Bedroom Stepping area (ft)
0.11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		20.30 20.30 20.30 15.60 10.11 10.11 10.11 10.11	21.60 20.00 10.10 15.60 20.30 20.30 10.11 10.10 10.10 10.11 20.30	Wigh of Bodroom/ Steeping area (It)
157.72 157.72 157.72 157.72 157.72 157.72 157.72 157.72	157.72 157.72 157.72 157.72 157.72 157.72 157.72 157.72 157.72 157.72	458.78 458.78 458.78 157.72 215.13 157.72 157.72 157.72 157.72 157.72	235.44 688.00 217.15 157.72 458.78 458.78 157.72 215.13 215.13 215.13 215.72 458.78	Total Area
2.12 2.12 2.12 2.13 2.13 2.13 2.13	2.12 2.12 2.12 2.13 2.14 2.15 2.15 2.15 2.15 2.15 2.15 2.15 2.15	6.17 6.17 2.12 2.12 2.12 2.12 2.12 2.12	3.17 9.39 2.92 2.12 6.17 6.17 6.17	Required # of Clents of Clents of Clents of Clents of Comply with 74.3 sq ft of Personal Space [not rounded]
N N N N N N N N N	, , , , , , , , , , , , , , , , , , , ,	NNNNN000	๑๑៷៷៷៰៰៷៷៰៰	Required # of Cleants Per Hedroom or Stoeping area to Comply with 74.3 sq ft of Persantel Space [Rounded DOVAN]
11111111111	300000000000000000000000000000000000000	2.00 2.00 1.00 1.00 1.00	1:00 2:00 2:00 2:00 2:00 2:00 2:00	Deth: 74.3 (=>0 equals compliance or shortage interpretation of heats) in (Meets (<0 = 74.3) enverage of briefs) [Rounded]
1.0000000000000000000000000000000000000	1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.	FALSE FALSE 1.00 FALSE 1.00 1.00 1.00	FALSE FALSE 1.00 FALSE 1.00 FALSE 1.00 FALSE 1.00 FALSE FALS	
1.0000000000000000000000000000000000000	11.000000000000000000000000000000000000	1.00 1.00 1.00	2.00 12.00 4.00 2.00 8.00 8.00 2.00 4.00 4.00 8.00	Actuel Cecupanev
0.0000000000000000000000000000000000000		0.000	0.00 0.00 0.00 0.00 0.00 0.00 0.00	a Barik Bods
				Notes

Total Actual Occupancy: 8964,708

35 Sydenham	Sile					
ω	ω	ယ	N	2	2	Floor
308	307	304	213	211	205	Room #
9.00	16.00	16.00	14.00	10.00	8.00	Length of Bedroom/ Sleeping area (ft)
14.00	8.00	9.00	9.00	8.00	16.00	Width of Bedroom/ Sleeping area (ft)
126.00	128.00	144.00	126.00	80.00	128.00	Total Area
1.70	1.72	1.94	1.70	1.08	1.72	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
	_	_		_	_	Required # of Clients Delta: 74.3 Per Bedroom or (=>0 equals Sleeping compliance area to or shortage Comply with of beds) 74.3 sq ft of (<0 = Personal overage of Space (Rounded] [Rounded]
0.00	0.00	0.00	0.00	0.00	0.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
1.00	1.00	1.00	1.00	1.00	1.00	Interpretatio n (Meets 74.3)
1.00	1.00	1.00	1.00	1.00	1.00	Actual Occupancy
0.00	0.00	0.00	0.00	0.00	0.00	# Bunk Beds
						Notes

26 Vaughan	
N N N N N N N N N N N N N N N N N N N	Floor
201 202 203 204 205 206 206 210 211 212 213 215 216	Room #
16.00 17.00 16.00 16.00 16.00 22.00 17.00 17.00 17.00 17.00 17.00 17.00 17.00 17.00	Length of Bedroom/ Sleeping area (ft)
10.00 15.00 10.00 10.00 14.00 16.00 10.00 11.00 11.00 11.00 11.00 11.00 15.00	Width of Bedroom/ Sleeping area (ft)
160.00 255.00 160.00 160.00 224.00 352.00 170.00 187.00 187.00 187.00 187.00 187.00 187.00 187.00 187.00 187.00 187.00	Total Area
2.15 3.43 2.15 2.15 3.01 4.74 2.29 2.52 2.52 2.52 2.52 2.52 2.52 2.52	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
α ω α α α α α α α α α α α α α α α α α α	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	Interpretatio n (Meets 74.3)
1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	Actual Occupancy
0.00 0.00 0.00 1.00 0.00 0.00 0.00 0.00	# Bunk Beds
	Notes

850 Bloor St W 850 Bloor St W 850 Bloor St W	Site
N N N N	Floor
200 203 204 206	Room #
15.00 14.00 27.00 14.00	Length of Bedroom/ Sleeping area (ft)
19.00 30.00 19.00 29.00	Width of Bedroom/ Sloeping area (ft)
285.00 420.00 513.00 406.00	Total Area
3.84 5.65 6.90	Required # of Clients Per Bedroom to Comply with 74.3 sq ft o Personal Space [not rounded]
ဟတ ဟ ယ	
-2.00 -3.00 -2.00	Required # of Clients Delta: 74.3 Per Bedroom or (=>0 equals Sleeping compliance area to or shortage Comply with of beds) 74.3 sq ft of (<0 = Personal overage of Space beds) [Rounded DOWN]
FALSE FALSE FALSE	Interpretation (Meets 74.3)
5.00 8.00 8.00	Actual Occupancy
0.00 0.00 0.00	# Bunk Beds
	Notes

973 Lansdowne	973 Lansdowne	973 Lansdowne	Site
2	22	2	Floor
217	211	203	Room #
67.00	32.00	15.00	Length of Bedroom/ Sleeping area (ft)
32.00	23.00	17.00	Width of Bedroom/ Sleeping area (ft)
2144.00	736.00	255.00	Total Area
28.86	9.91	3.43	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
28	ပ	ယ	
-22,00	-5.00	-1.00	
FALSE	FALSE	FALSE	Delta: 74.3 (=>0 equals compliance or shortage Interpretatio of beds) n (Meets (<0 = 74.3) overage of beds) [Rounded]
50.00	14.00	4.00	Actual Occupancy
22.00	7.00	0.00	# Bunk Beds

Ш	FALSE	-6.00	10	10.09	750.00	30.00	25.00	206	2	349 George
	FALSE	-5.00	10	10.66	792.00	33.00	24.00	201	2	349 George
m	FALSE	-3.00	6	6.39	475.00	25.00	19.00	107	1	349 George
	Interpretati n (Meets 74.3)	Required # of Clients Delta: 74.3 Per Bedroom or (=>0 equals Sleeping compliance area to or shortage Interpretatio Comply with of beds) n (Meets 74.3 sq ft of (<0 = 74.3) Personal overage of Space beds) [Rounded [Rounded] DOWN]	Required # of Clients Per Bedroom or Sleeping h area to f Comply with 74.3 sq ft of Personal Space [Rounded DOWN]	Required # of Clients of Clients Per Bedroom or Bedroom to Sleeping Comply with area to 74.3 sq ft of Space [not rounded] [Rounded DOWN]	Total Area	Width of Bedroom/ Sleeping area (ft)	Length of Bedroom/ Sleeping area (ft)	Room #	Floor	Site

616 Vaughan	Site							
2	2	N	N	2	Ν	N	2	Floor
217	216	215	212	210	208	206	205	Room #
13.00	8.00	12.00	26.00	16.00	16.00	16.00	23.00	Length of Bedroom/ Sleeping area (ft)
18.00	9.00	13.00	19.00	15.00	11.00	13.00	18.00	Width of Bedroom/ Sleeping area (ft)
234.00	72.00	156.00	494.00	240.00	176.00	208.00	414.00	Total Area
3.15	0.97	2.10	6.65	3.23	2.37	2.80	5.57	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
ω	0	N	တ	ω	N	2	ΟΊ	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
-5.00	-4.00	-2.00	-4.00	-5.00	-4.00	-4.00	-5.00	Required # of Clients Delta: 74.3 Per Bedroom or (=>0 equals Sleeping compliance area to or shortage Comply with of beds) 74.3 sq ft of (<0 = Personal overage of Space beds) [Rounded [Rounded] DOWN]
FALSE	Interpretatio n (Meets 74.3)							
8.00	4.00	4.00	10.00	8.00	6.00	6.00	10.00	Actual Occupancy
4.00	2.00	2,00	5.00	4.00	3.00	3.00	5.00	# Bunk Beds

	502 Spadina Ave	502 Spadina Ave	Sile
	2	2	Floor
	203	200	Rocm #
	75.00	22.00	Length of Bedroom/ Sleeping area (ft)
	32.00	32.00	Width of Bedroom/ Sleeping area (ft)
1	2400.00	704.00	Total Area
01:00	32 30	9.48	Required # of Clients of Clients Per Per Bedroom to Sleeping Comply with area to 74.3 sq ft of Comply wit Personal 74.3 sq ft c Space Personal Space Space [not rounded] [Rounded DOWN]
0	30	9	
0.00	-18 00	-5.00	Required # of Clients Delta: 74.3 Per Bedroom or (=>0 equals Sleeping compliance area to or shortage Interpretatio Comply with of beds) n (Meets 74.3 sq ft of (<0 = 74.3) Personal overage of Space beds) [Rounded [Rounded] DOWN]
	EAI CE	FALSE	Interpretatio n (Meets 74.3)
00.00	20 00	14.00	Actual Occupancy
17.00	47 00	7.00	# Bunk Beds

525 Bloor St E	525 Bloor St E	Siè
B	В	Floor
RM018	B111	Room #
50.00	15.00	Length of Bedroom/ Sleeping area (ft)
64.00	14.00	Width of Bedroom/ Sleeping area (ft)
3200.00	210.00	Total Area
43.07	2.83	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
43	2	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
-14.00	-3.00	Required # of Clients Delta: 74.3 Per Bedroom or (=>0 equals Sleeping compliance area to or shortage Interpretatio Comply with of beds) n (Meets 74.3 sq ft of (<0 = 74.3) Personal overage of Space beds) [Rounded [Rounded] DOWN]
FALSE	FALSE	Interpretatio n (Meets 74.3)
57.00	5.00	Actual Occupancy
27.00	200	# Bunk Beds
		Notes

S4e	Floor	⊼oom #	Length of Bedroom/ Sleeping area (ft)	Width of Bedroom! Sleeping area (ft)	Total Area	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space {nct	S'eeping area to		Interpretation (Meets 74.3)	Actuat Occupancy	# Bunk Beds	Notes
						rounded)	(Rounded	(Rounded)				
412 Queen St E							DOWN					
412 Queen St E	B B	20 21	27.00 27.00	14.00 17.00	378.00 459.00	5.09	5	-3.00	FALSE	8.00	4.00	
412 Queen St E	2	217.1	12.00	7.00	84.00	6.18 1.13	6 1	-2.00 0.00	FALSE 1.00	8.00 1.00	4.00 0.00	
412 Queen St E	2	217.2	12.00	7.00	84.00	1.13	i	0.00	1.00	1.00	0.00	
412 Queen St E	2	217.3	13.00	7.00	91.00	1.22	1	0.00	1.00	1.00	0.00	
412 Queen St E 412 Queen St E	2	217.4	10.00	7.00	70.00	0.94	0	-1.00	FALSE	1.00	0.00	
412 Queen St E	2 2	217.5 217.6	12,00 12.00	7.00 7.00	84.00	1.13	1	0.00	1.00	1.00	0.00	
412 Queen St E	2	217.7	12.00	7.00	84.00 84.00	1.13 1.13	1	0.00	1.00	1.00	0.00	
412 Queen St E	2	217.8	12.00	7.00	84.00	1.13	1	0.00	1.00 1.00	1.00 1.00	0.00	
412 Queen St E	2	217.9	9.00	7.00	63.00	0.85	Ö	-1.00	FALSE	1.00	0.00	
412 Queen St E	2	217.1	9.00	6.00	54.00	0.73	0	-1.00	FALSE	1.00	0.00	
412 Queen St E 412 Queen St E	2 2	217.11 217.12	11.00	8.00	88.00	1.18	1	0.00	1.00	1.00	0.00	
412 Queen St E	2	217.12	12.00 12.00	8.00 7.00	96.00 84.00	1.29 1.13	1	0.00	1.00	1.00	0.00	
412 Queen St E	2	217.14	12.00	7.00	84.00	1.13	1	0.00	1.00 1.00	1.00 1.00	0.00	
412 Queen St E	2	217.15	10.00	7.00	70.00	0.94	Ö	-1.00	FALSE	1.00	0.00 0.00	
412 Queen St E	2	217.16	10.00	6.00	60.00	0.81	Ō	-1.00	FALSE	1.00	0.00	
412 Queen St E	2	217.17	10.00	7,00	70.00	0.94	0	-1.00	FALSE	1.00	0.00	
412 Queen St E 412 Queen St E	2 2	217.18 217.19	10.00	7.00	70.00	0.94	0	-1.00	FALSE	1.00	0.00	
412 Queen St E	2	217.19	13.00 13.00	7.00 7.00	91.00 91.00	1.22 1.22	1	0.00	1.00	1.00	0.00	
412 Queen St E	2	217.21	13.00	7.00	91.00	1.22	1	0.00	1.00 1.00	1.00 1.00	0.00	
412 Queen St E	2	217.22	13.00	7.00	91.00	1.22	i	0.00	1.00	1.00	0.00	
412 Queen St E	2	217.23	13.00	7.00	91.00	1.22	1	0.00	1.00	1.00	0.00	
412 Queen St E 412 Queen St E	2	217.24	10.00	8.00	80.00	1.08	1	0.00	1.00	1.00	0.00	
412 Queen St E	2 3	217.25 316.26	10.00 12.00	8.00 7.00	80.00	1.08	1	0.00	1.00	1.00	0.00	
412 Queen St E	3	316.27	12.00	7.00	84.00 84.00	1.13 1.13	1	-1.00	FALSE	2.00	1.00	
412 Queen St E	3	316.29	11.00	7.00	77.00	1.13	1	-1.00 -1.00	FALSE FALSE	2.00	1.00 1.00	
412 Queen St E	3	316.3	12.00	7.00	84.00	1.13	1	-1.00	FALSE	2.00	1.00	
412 Queen St E	3	316.31	12.00	7.00	84.00	1,13	1	-1.00	FALSE	2.00	1.00	
412 Queen St E 412 Queen St E	3 3	316.32	12.00	7.00	84.00	1.13	1	-1.00	FALSE	2.00	1.00	
412 Queen St E	3	316.33 316.34	12.00 9.00	8.00 7.00	96.00 63.00	1.29	1	-1.00	FALSE	2.00	1.00	
412 Queen St E	3	316.35	9.00	8.00	72.00	0.85 0.97	0	-2.00 -2.00	FALSE FALSE	2.00	1.00	
412 Queen St E	3	316.36	10.00	8.00	80.00	1.08	1	-1.00	FALSE	2.00 2.00	1.00	
412 Queen St E	3	316.37	12.00	7.00	84.00	1.13	1	-1.00	FALSE	2.00	1.00	
412 Queen St E	3	316.38	12.00	7.00	84.00	1.13	1	-1.00	FALSE	2.00	1.00	
412 Queen St E 412 Queen St E	3 3	316.39 319.4	12.00	7.00	84.00	1.13	1	-1.00	FALSE	2.00	1.00	
412 Queen St E	3	316.41	10.00 10.00	7.00 7.00	70.00 70.00	0.94	0	-2.00	FALSE	2.00	1.00	
412 Queen St E	3	316.42	10.00	7.00	70.00	0.94 0.94	0	-1.00 -1.00	FALSE FALSE	1.00	0.00	
412 Queen St E	3	316.43	10.00	7.00	70.00	0.94	ő	-1.00	FALSE	1.00 1.00	0.00	
412 Queen St E	3	316.44	13.00	7.00	91.00	1.22	1	-1.00	FALSE	2.00	1.00	
412 Queen St E	3	316.45	13.00	7.00	91.00	1.22	1	-1.00	FALSE	2.00	1.00	
412 Queen St E 412 Queen St E	3 3	316.46 316.47	13.00 13.00	7.00	91.00	1.22	1	-1.00	FALSE	2.00	1.00	
412 Queen St E	3	316.48	13.00	7.00 7.00	91.00 91.00	1.22	1	-1.00	FALSE	2.00	1.00	
412 Queen St E	3	316.49	13.00	7.00	91.00	1.22 1.22	1	-1.00 -1.00	FALSE FALSE	2.00	1.00	
412 Queen St E	3	318.13	19.00	16.00	304.00	4.09	4	-2.00	FALSE	2.00 6.00	1.00 2.00	
412 Queen St E	3	318.14	10.00	8.00	80.00	1.08	1	-1.00	FALSE	2.00	1.00	
412 Queen St E	3	318.15	10.00	8.00	80.00	1.08	1	-1.00	FALSE	2.00	1.00	

161 Sheppard	161 Sheppard	161 Sheppard	161 Sheppard				161 Sheppard	S e
2	N	Ν	N	N	Ν	Ν.	_	Floor
211	210	209	207	206	205	204	110	Room #
9.33	9.33	12.67	16.17	15.33	9.33	9.33	20.08	Length of Bedroom/ Sleeping area (ft)
17.83	17.83	12.83	10.17	15.58	15.58	15.58	9.00	Width of Bedroom/ Sleeping area (ft)
166.44	166.44	162.56	164.36	238.94	145.44	145.44	180.75	Total Area
2.24	2.24	2.19	2.21	3.22	1.96	1.96	2.43	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
Ŋ	2	N	N	ω	<u> </u>	_	2	Required # of Clients Delta: 74.3 Per Bedroom or (=>0 equals Sleeping compliance area to or shortage Comply with of beds) 74.3 sq ft of (<0 = Personal overage of Space beds) [Rounded [Rounded]
-1.00	-1.00	0.00	-4.00	-1.00	-2.00	-2.00	-4.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
FALSE	FALSE	1.00	FALSE	FALSE	FALSE	FALSE	FALSE	Interpretatio n (Meets 74.3)
3.00	3.00	2.00	6.00	4.00	3.00	3.00	6.00	Actual Occupancy
0.00	0.00	0.00	3.00	0.00	0.00	0.00	2.00	# Bunk Beds
								Notes

t d	502	525	412	5	349	616	973	850	333	333	333	33	133	13	38	မ္	26	Sites
See detaited room breakdown in site tabs	502 Spadina Ave	525 Bloor St E	412 Queen St E	161 Sheppard	349 George	616 Vaughan	973 Lansdowne	850 Bloor St W	339 George - SH - O'Neill	339 George St - SH LT	339 George St - SH Hostel	339 George St - SH Annex	135 Sherbourne	107 Jarvis	38 Bathurst	35 Sydenham	26 Vaughan	CS
) site tabs	2	2	53	œ	ω	80	ω	4	2	26	=	31	120	4	40	6	18	Rooms Assessed
	0%	0%	34%	13%	0%	0%	0%	0%	0%	15%	0%	6%	40%	%0	73%	100%	100%	% of Rooms Complying with 74.3sqft of Personal Space
		0	8	1	0	0	0	0	0	4	0	2	48	0	29	6	18	Number of rooms currently comply
	0	0	28	0	0	0	0	0	0	_	0	1	ۍ.	0	24	6	14	Number of Number of rooms single currently occupancy comply
	64	62	94	30	40	56	68	29	65	110	250	133	344	120	10	6	25	Current Capacity
	-23	-17	-42	-15	-14	-33	-28	-10	-39	-30	-174	-44	-64	-40	0	0	0	Reduction in beds required
The state of the s	-23	-17	-42	-15	-14	မ်	-28	-10	-39	-30	-174	-44	-64	-40	2	0	91	uction Overage/shortage beds of beds to meet uired 74.3sqft
	24	29	32	SI.	0	28	29	0	20	0	125	0	44	12	0	0	ω	Bunk Beds (i) Site

Legend:

	<u>유</u>
(None of the bedrooms comply)	Does Not Comply
(At least 1 bedroom does not comply)	Partially Complies
(All bedroon comply	Compl

22.00	6	070	in site tabs	See detailed room breakdown in site tabs
	0	0%	2	502 Spadina Ave
-17.00 29	0	0%	2	525 Bloor St E
-42.00 32	18	34%	53	412 Queen St E
-15.00	1	13%	80	161 Sheppard
-14.00	0	0%	ω	349 George
-33.00 28	0	0%	00	616 Vaughan
-28.00	0	0%	ω	973 Lansdowne
-10.00	0	0%	4	850 Bloor St W
-39.00	0	0%	2	339 George - SH - O'Neill
-30.00	4	15%	26	339 George St - SH LT
-174.00	0	0%	=	339 George St - SH Hostel
-44.00	2	6%	<u>ფ</u>	339 George St - SH Annex
-64.00	48	40%	120	135 Sherbourne
-40.00	0	0%	4	107 Jarvis
2.00	29	73%	40	38 Bathurst
0.00	6	100%	6	35 Sydenham
16.00	8	100%	1 66	26 Vaughan
	with 74.3	Space		
74.3sqft Site	comply	of Personal	00000000	
	Y	##	Rooms	Sites
Overage/shortage Bunk				
	Number of	% of Rooms 1		

Legend

렸	Does Not Comply	Partially Complies (At least 1	Fully Complies
	(None of the bedrooms camply)	(At least 1 bedroom does not comply)	(All bedroom comply)

26 Vaughan 36 Vaughan 37 Sydenham 37 Sydenham 38 Syden	26 Vaughan 26 Vaughan 26 Vaughan	Site
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	ΝΝΝ	Floor
204 205 206 206 207 208 210 211 211 212 213 214 215 216 217 218 207 218 208 219 219 219	201 202 203	Room: #
16.00 16.00 17.00	16.00 17.00 16.00	Length of Bedroom/ Sleeping area (ft)
10.00 14.00 10.00 10.00 10.00 11.00 11.00 11.00 11.00 11.00 16.00 16.00 9.00 9.00 14.00 9.00 16.	10.00 15.00 10.00	Width of Bedroom/ Sleeping area (ft)
160.00 224.00 352.00 170.00 170.00 221.00 187.00 187.00 187.00 187.00 187.00 187.00 187.00 128.00	160.00 255.00 160.00	Total Area
2.15 3.01 4.74 2.29 2.52 2.52 2.52 2.52 2.52 2.52 2.52	2.15 3.43 2.15	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space
と 3 4 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	DOWN] 2 2	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space
1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	[Rounded] 1.00 2.00 1.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds)
1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	1.00 1.00	Interpretation (Meets 74.3)
1.00 3.00 1.00 1.00 1.00 1.00 1.00 1.00	1.00	Actual Occupancy
1.00 1.00 0.00 0.00 0.00 0.00 0.00 0.00	0.00 0.00	# Bunk Beds
		Notes

135 Sherbourne		38 Bathurst	38 Bathurst
ଦ ଦ ଦ ଦ ଦ ଦ ଦ ଦ) ៣ ៣ ២ ២ ២ ۵ ២ ២		ωωωωωωωωωωωωωννν
105 106 107 108 109 110	203 203 203 203 203 203 203 203	321 322 323 324 326 327 328	221 222 222 301 302 303 306 308 309 310 311 316 316 318
12.80 12.80 12.80 12.80 12.80 12.80 12.80	108.00 20.00 108.00 23.00 18.00 17.11 17.11 12.80	15.60 15.60 15.60 15.60	22.60 22.60 10.11 21.30 15.60 15.60 15.60 15.60 15.60 15.60 15.60
7.80 7.80 7.80 7.80 7.80 7.80 7.80	24.00 23.00 24.00 20.00 12.80 31.70 23.10 8.40 7.80		20.30 20.30 15.60 10.11 10.11 10.11 10.11 10.11
99.84 99.84 99.84 99.84 99.84 99.84	2592.00 460.00 2592.00 460.00 230.40 542.39 395.24 107.52 99.84	157.72 157.72 157.72 157.72 157.72 157.72 157.72 157.72	458.78 458.78 157.72 215.13 157.72 157.72 157.72 157.72 157.72 157.72 157.72 157.72 157.72 157.72 157.72 157.72
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	34.89 6.19 34.89 6.19 3.10 7.30 5.32 1.45	2	6.17 6.17 2.12 2.12 2.12 2.12 2.12 2.12
<u> </u>	, 5 7 3 6 3 6 4 , 5 7 3 6 4	2000000000	, , , , , , , , , , , , , , , , , , ,
-1.00 -1.00 -1.00 1.00	-14.00 -6.00 -6.00 -2.00 -2.00 -1.00	111111111111111111111111111111111111111	-2.00 -2.00 -2.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
FALSE FALSE FALSE FALSE 1.00 FALSE 1.00	FALSE FALSE FALSE FALSE FALSE FALSE 1.00	1.00 1.00 1.00 1.00	FALSE 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.0
0.00 0.00 0.00	48.00 12.00 48.00 5.00 4.00 7.00 2.00	1.00 1.00 1.00 1.00	8.00 8.00 1.00 1.00 1.00 1.00 1.00 1.00
1.00 1.00 1.00 1.00 0.00	0.00 0.00 0.00 0.00 0.00		0.0000000000000000000000000000000000000
Private Room Private Room	Private Room		

135 Sherbourne	135 Sherbourne	
N N N N N N N N N N N N N I) N N N N N N N N N N N	. N N N O O O O O O O O O O O O O O O O
218 219 221 221 222 223 223 231 231 235 236 237	204 205 206 207 210 211 212 213	135 136 137 138 139 140 141 142 148 150 152 153 154 201 202
17.20 9.30 12.40 6.90 7.30 7.90 7.90 7.90 19.30 28.60 16.20 19.30 21.10	7.80 7.80 7.80 7.80 7.80 7.80 7.80 7.80	15.10 19.80 20.50 19.30 15.90 24.00 7.90 16.00 16.00 16.00 16.00 8.40 7.80
12.40 12.40 11.70 12.40 12.90 12.80 12.80 12.80 12.80 15.11 15.11 15.11	12.80 12.80 12.80 12.80 12.80 12.80 12.80 12.80 12.80	19.80 28.60 16.20 16.20 208.00 15.90 15.90 16.00 12.10 9.70 12.80 12.80
213.28 115.32 145.08 85.56 94.17 94.72 101.12 101.12 101.12 101.12 291.62 432.15 332.10 312.66 335.49	99.84 99.84 99.84 99.84 99.84 99.84 99.84 99.84 99.84	298.98 566.28 332.10 312.66 3307.20 381.60 125.61 319.59 288.00 193.60 129.60 155.20 268.80 107.52 99.84
2.87 1.95 1.95 1.27 1.27 1.36 1.36 1.36 3.92 5.82 4.47 4.52	1.34 1.34 1.34 1.34 1.34 1.34 1.34 1.34	4.02 7.62 4.47 4.21 4.51 1.69 4.30 3.88 2.61 1.74 2.09 3.62 1.45 1.34
ν ω το 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	· N	4744704664664664664664664664664664664646464
-4.00 -2.00 0.00 0.00 1.00 1.00 1.00 -3.00 -2.00	-1.00 -1.00 -1.00 -1.00 -1.00 -1.00	-2.00 -1.00 -2.00 -2.00 -1.00 -1.00 -2.00 -2.00 -2.00 1.00
FALSE FALSE 1.00 1.00 1.00 1.00 1.00 1.00 FALSE FALSE FALSE FALSE	FALSE FALSE 1.00 1.00 FALSE 1.00 FALSE FALSE FALSE	FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE 1.00 1.00 1.00
6.00 6.00 6.00 6.00 6.00	2.00 2.00 2.00 2.00 2.00 2.00 2.00	5.00 6.00 6.00 5.00 6.00 6.00 6.00 6.00
3.00 2.00 0.00 0.00 0.00 0.00 0.00 0.00	1.00 1.00 1.00 1.00 1.00 1.00 1.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00
Private Room Private Room Private Room Private Room	Private Room Private Room Private Room	Private Room Private Room

135 Sherbourne 135 Sherbourne 135 Sherbourne 135 Sherbourne			135 Sherbourne 135 Sherbourne 135 Sherbourne 135 Sherbourne 135 Sherbourne		135 Sherbourne 135 Sherbourne 135 Sherbourne 135 Sherbourne 135 Sherbourne	
ယယယ	ေယယ	ာ ယ ယ ယ	ယ ယ ယ ယ ယ	. ယ ယ ယ ယ (ယယယယ	ωωωωυνννννννννννννννν
326 327 328 329	323 325	319 320 321	314 315 316 317	310 312 313 313	305 306 307 308	239 240 241 245 246 247 248 253 259 260 261 261 262 267 303
28.60 16.20 19.30 21.10	9.00 19.30	7.70 7.50 7.60	7.80 7.80 13.60 12.40 11.80	7.80 7.80 7.80 7.80	7.80 7.80 7.80 7.80	21.00 15.90 15.90 9.40 17.90 17.90 17.90 17.60 9.20 9.20 9.20 9.20 9.30 17.00 8.40 7.80
15.11 20.50 16.20 15.90	12.40	12.40 12.40 12.40	12.80 12.80 25.30 12.10 12.40	12.80 12.80 12.80	12.80 12.80 12.80 12.80 12.80	15.90 10.50 20.10 17.90 12.80 12.80 12.80 16.00 16.00 16.00 16.00 16.00 16.00 12.80 12.80
432.16 332.10 312.66 335.49	111.60 291.62	95.48 93.00 94.24	99.84 99.84 344.08 150.04 146.32	99.84 99.84 99.84	99.84 99.84 99.84 99.84	333.90 166.95 319.59 168.26 229.12 229.12 229.12 277.21 177.21 147.20 147.20 147.20 147.20 148.80 148.80 148.80 148.80 148.80 148.80 148.80 199.84 99.84
4.47 4.21 4.52	1.50 3.92	1.29 1.25 1.27	1.34 1.34 4.63 2.02 1.97	1.34 1.34 1.34	1 1 1 1 3 1 3 4 4 3 4 4	4.49 2.25 3.08 3.08 3.08 3.08 1.98 1.98 1.98 1.34 1.34
0444	ıω -		<u>- 4 4 4 -</u>			4 4 4 4 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
-3.00 -1.00 -2.00	-3.00	-1.00 1.00	1.00 1.00 -1.00 2.00	1.00 1.00	1.00 1.00 1.00	-2.00 0.00 1.00 1.00 1.00 1.00 -2.00 -2.00 -1.00 1.00 1.00 1.00
FALSE FALSE FALSE	1.00 FALSE	FALSE FALSE 1.00	1.00 1.00 FALSE 1.00 FALSE	FALSE 1.00 1.00	1.00 1.00 FALSE 1.00	FALSE 1.00 1.00 1.00 1.00 1.00 1.00 FALSE FALSE FALSE FALSE FALSE FALSE 1.00 1.00 1.00
6.00 6.00	6.00 0.00	2.00 0.00	0.00 5.00 0.00	0.00 0.00 0.00	0.00 2.00 0.00	6.00 2.00 2.00 2.00 2.00 2.00 3.00 3.00 5.00 5.00 0.00
0.00 0.00 0.00	0.00	1.00 0.00	0.00 0.00 0.00	0.00 0.00 0.00	0.00 0.00 0.00 0.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0
	Private Room	Private Room	Private Room Private Room Private Room	Private Room Private Room Private Room	Private Room Private Room	Private Room Private Room

HS - SH St - SH St - SH St - SH St - SH St - SH St - SH		George St - SH	George St - SH,		135 Sherbourne
444440	44444	444444	444444) W W W W A A A A	
454 455 456 457 458 459 201	441 442 443 451 452	423 432 433 434 436	411 412 413 414 415 421	345 346 348 349 350 401 402	330 331 332 334 341 342 343
18.00 16.00 16.00 16.00 16.00 33.00	8.00 16.00 8.00 11.00 17.00	11.00 11.00 13.00 17.00 17.00 17.00	12.00 12.00 13.00 22.00 14.00 8.00	13.50 16.80 9.50 9.50 17.00 12.00 13.00	21.00 10.50 20.10 14.10 17.60 9.20 9.20 9.20
20.00 20.00 18.00 18.00 18.00 18.00 19.00	18.00 18.00 18.00 20.00 20.00	18.00 18.00 21.00 21.00 21.00 21.00 18.00	18.00 18.00 18.00 18.00	16.00 16.00 16.00 18.00	15.90 15.90 15.90 8.20 16.10 16.00 16.00
360.00 360.00 288.00 288.00 288.00 288.00 627.00	144.00 144.00 288.00 144.00 220.00 340.00 320.00	198.00 198.00 273.00 357.00 340.00 357.00 234.00	232.00 342.00 228.00 234.00 396.00 252.00 144.00	216.00 268.80 152.00 152.00 272.00 144.00 216.00 234.00	333.90 166.95 319.59 115.62 283.36 147.20 147.20 147.20
4.85 4.85 3.88 3.88 3.88 3.88	1.94 1.94 3.88 1.94 2.96 4.58	2.66 2.66 3.67 4.80 4.58 4.80 3.15	3.39 4.60 3.07 5.33 5.33 1.94	2.91 2.05 2.05 3.66 1.94 2.91	4.49 2.25 4.30 1.56 3.81 1.98 1.98
440000	<u>8-94</u>	ααω44ω.	υ 4 ω ω το ω − ω	ωωνμωννων-	4 2 4 4 8 4 4 4
-2.00 -2.00 -2.00 -2.00 -2.00 -2.00 -16.00	-1.00 -2.00 -1.00 -1.00 -1.00	-2.00 -2.00 -1.00 -2.00 -1.00	-1.00 -1.00 -1.00	-2.00 -2.00 -2.00 -1.00	-2.00 0.00 -2.00 -4.00 -3.00 -3.00
FALSE FALSE FALSE FALSE FALSE	FALSE FALSE FALSE	FALSE FALSE FALSE FALSE 1.00	FALSE FALSE FALSE FALSE	FALSE FALSE 1.00 FALSE FALSE	FALSE FALSE FALSE FALSE FALSE FALSE FALSE
6.00 5.00 5.00 5.00 5.00 24.00	5.00 5.00 5.00 5.00	4.00 4.00 6.00 5.00	4.00 4.00 4.00 4.00 4.00	4.00 4.00 4.00 4.00 4.00	6.00 6.00 7.00 4.00 4.00
0.00 0.00 0.00 0.00 0.00 0.00	0.00 0.00 0.00 0.00	0.00	0.0000000000000000000000000000000000000	0.00	0.00 0.00 0.00 1.00 1.00

616 Vaughan	- ,	_		850 Bloor St W	339 George - SH - O'Neill	George -	339 George St - SH LT	- S	339 George St - SH LT	George St -	339 George St - SH LT		George St - SH	George St - SH	George St - SH	George St -	George St -	George St - SH	George St -	George St -	George St -	339 George St - SH LT	339 George St - SH Hostel																						
N V	1 C	>	2	Ν	2	2	2	2	_	ယ	ω	ယ	ယ	ယ	ယ	ယ	ယ	ω	ω	ယ	ယ	ယ	ယ	ω	ယ	ω	ω	ယ	ω	ယ	ယ	ယ	ယ	ယ	ယ	Ν	2	2	2	2	2	N	2	2	2
205) <u> </u>	211	203	206	204	203	200	A208	A108	359	358	357	356	355	354	353	352	351	343	342	341	340	333	332	331	323	322	321	314	သ (၁)	312	311	304	303	302	244	242	240	239	211	210	209	207	206	202
23.00	67.00	32.00	15.00	14.00	27.00	14.00	15.00	56.00	45.00	15.00	15.00	11.00	16.00	16.00	18.00	18.00	16.00	17.00	8.00	16.00	16.00	12.00	17.00	17.00	13.00	11.00	15.00	10.00	18.00	13.00	13.00	19.00	13.00	13.00	13.00	29.00	57.00	30.00	19.00	26.00	11.00	24.00	52.00	45.00	19.00
18.00	30.00	23.00	17.00	29.00	19.00	30.00	19.00	27.00	11.00	18.00	18.00	18.00	18.00	18.00	20.00	20.00	20.00	20.00	18.00	18.00	18.00	18.00	20.00	20.00	20.00	18.00	18.00	18.00	18.00	18.00	18.00	18.00	18.00	18.00	19.00	16.00	18.00	17.00	17.00	18.00	18.00	18.00	18.00	18.00	18.00
414.00	214400	736.00	255.00	406.00	513.00	420.00	285.00	1512.00	495.00	270.00	270.00	198.00	288.00	288.00	360.00	360.00	320.00	340.00	144.00	288.00	288.00	216.00	340.00	340.00	260.00	198.00	270.00	180.00	324.00	234.00	234.00	342.00	234.00	234.00	247.00	464.00	1026.00	510.00	323.00	468.00	198.00	432.00	936.00	810.00	342,00
5.57	30 oc	991	3.43	5.46	6.90	5.65	3.84	20.35	6.66	3.63	3.63	2.66	3.88	3.88	4.85	4.85	4.31	4.58	1.94	3.88	3.88	2.91	4.58	4.58	3.50	2.66	3.63	2.42	4.36	3.15	3.15	4.60	3.15	3 15	3.32	6.24	13.81	6.86	4.35	6.30	2.66	5.81	12.60	10.90	4.60
5 28	ည္ ဖ	٥ (ယ	Cī	O	ហ	ω	20	O.	ω	ယ	N	ယ	ω	4	4	4	4	_	ω	ω	2	4	4	ယ	N	ယျ	2	4	ယ (ω.	4 (ယ (ယ	ယ	တ	13	တ	4	တ	N	បា	12	10	4
-5.00	23.00	-5 00	-1.00	-3.00	-2.00	-3.00	-2.00	-17.00	-22.00	-1.00	-1.00	-2.00	-1.00	-1.00	-1.00	-1.00	-1.00	0.00	0.00	-2.00	-1.00	-2.00	0.00	-1.00	0.00	-2.00	-2.00	-2.00	-2.00	-1.00	-1.00	-> 00	-1.00	-1 00	-1.00	-14.00	-29.00	-16.00	-8.00	-14.00	-6.00	-13.00	-24.00	-26.00	-8.00
FALSE	7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7	ΕΔΙ (Γ ΕΔΙ (Γ	FAISE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	1.00	1.00	FALSE	FALSE	FALSE	1.00	FALSE	1.00	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FAI SE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE
50.00 10.00	4.00	14.00	4 00	8.00	8.00	8.00	5.00	37.00	28.00	4.00	4.00	4.00	4.00	4.00	5.00	5,00	5.00	4.00	1.00	5.00	4.00	4.00	4.00	5.00	3.00	4.00	5.00	4.00	6.00	4 00	4.00	6 OO	4 00	4 00	4.00	20.00	42.00	22.00	12.00	20.00	8.00	18.00	36.00	36.00	12.00
5.00 5.00	2.5	7.00	000	0.00	0.00	0.00	0.00	10.00	10.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	00.0	00.00	0.00	0.00	0 00	0.00	0.00	0.00	000	00.0	10.00	21.00	11.00	6.00	10.00	4.00	9.00	18.00	18.00	6.00

161 Sheppard 162 Queen St E 412 Queen St E	
ω ν ν ν ν ν ν ν ν ν ν ν ν ν ν ν ν ν ν ν	- N N - N N N N N N N
204 204 206 206 207 209 210 217.1 217.2 217.3 217.4 217.6 217.6 217.1 217.1 217.1 217.1 217.1 217.1 217.1 217.1 217.1 217.1 217.1 217.1 217.1 217.1 217.2	206 208 210 212 215 216 217 201
9.33 9.33 15.33 16.17 12.67 9.33 9.33 27.00 12.00 12.00 12.00 12.00 12.00 12.00 13.00 13.00 13.00 13.00 10.00	16.00 16.00 16.00 26.00 12.00 8.00 13.00 19.00 24.00 25.00
15.58 15.58 15.58 10.17 12.83 17.83 17.83 17.83 17.83 17.83 17.83 17.00 7.00 7.00 7.00 7.00 7.00 7.00 7.0	13.00 11.00 15.00 19.00 13.00 9.00 18.00 33.00 30.00
180.75 145.44 145.44 145.44 164.36 166.44 166.44 378.00 84.00 84.00 84.00 84.00 84.00 91.00 70.00 91.00 91.00 91.00 91.00 91.00 91.00 91.00 91.00 91.00	208.00 176.00 240.00 494.00 156.00 72.00 234.00 475.00 792.00 750.00
1.96 1.96 2.21 2.21 2.21 5.09 6.18 1.13 1.13 1.13 1.13 1.13 1.13 1.13 1	2.80 2.37 3.23 6.65 2.10 0.97 3.15 6.39 10.66
) 1 1 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6
-1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00	4.00 -5.00 -5.00 -5.00 -5.00
FALSE 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.0	FALSE FALSE FALSE FALSE FALSE
3.00 3.00 4.00 5.00 3.00 3.00 3.00 3.00 1.00 1.00 1.00 1	6.00 6.00 8.00 4.00 4.00 9.00 15.00
2.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	3.00 4.00 5.00 2.00 0.00 0.00

502 Spadina Ave	502 Spadina Ave	525 Bloor St E	525 Bloor St E	412 Queen St E		412 Queen St E		412 Queen St E																				
2	2	В	œ	ω	ယ	ω	ω	ω	ω	ω	ယ	ယ	ယ	ယ	ယ	ω	ω	ω	ω	ω	ω	ω	ω	ω	ω	ω	ω	ω
203	200	RM018	B111	318.15	318.14	318.13	316.49	316.48	316.47	316.46	316.45	316.44	316.43	316.42	316.41	319.4	316.39	316.38	316.37	316.36	316.35	316.34	316.33	316.32	316.31	316.3	316.29	316.27
75.00	22.00	50.00	15.00	10.00	10.00	19.00	13.00	13.00	13.00	13.00	13.00	13.00	10.00	10.00	10.00	10.00	12.00	12.00	12.00	10.00	9.00	9.00	12.00	12.00	12.00	12.00	11.00	12.00
32.00	32.00	64.00	14.00	8.00	8.00	16.00	7.00	7.00	7.00	7.00	7.00	7.00	7.00	7.00	7.00	7.00	7.00	7.00	7.00	8.00	8.00	7.00	8.00	7.00	7.00	7.00	7.00	7.00
2400.00	704.00	3200.00	210.00	80.00	80.00	304.00	91.00	91.00	91.00	91.00	91.00	91.00	70.00	70.00	70.00	70.00	84.00	84.00	84.00	80.00	72.00	63.00	96.00	84.00	84.00	84.00	77.00	84.00
32.30	9.48	43.07	2.83	1.08	1.08	4.09	1.22	1.22	1.22	1.22	1.22	1.22	0.94	0.94	0.94	0.94	1.13	1.13	1.13	1.08	0.97	0.85	1.29	1.13	1.13	1.13	1.04	1.13
32	9	43	2	_	- >	4	_	_	<u> </u>	-	_	_	0	0	0	0	_	_		_	0	0	_	_	->	-	->	<u> </u>
-18.00	-5.00	-14.00	-3.00	-1.00	-1.00	-2.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-2.00	-1.00	-1.00	-1.00	-1.00	-2.00	-2.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00
FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE
50.00	14.00	57.00	5.00	2.00	2.00	6.00	2.00	2.00	2.00	2.00	2.00	2.00	1.00	1.00	1.00	2.00	2.00	2.00	2.00	2.00	2.00	2.00	2.00	2.00	2.00	2.00	2.00	2.00
17.00	7.00	27.00	2.00	1.00	1.00	2.00	1.00	1.00	1.00	1.00	1.00	1.00	0.00	0.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00

APPENDIX C

	1 4					2 2 2							
5 42	4 71	0											
21	32	07	200	20	23	71.5 23 20	33.5 71.5 23 20	27 33.5 71.5 23	32 27 33.5 71.5 23	46 32 27 33.5 71.5 23	38 46 32 27 27 33.5 71.5 23	27 38 46 32 27 27 33.5 71.5 23	38 46 32 27 27 33.5 71.5 23
882	2272	30/1	7770	600	600	5698.3 887 600	934.65 5698.3 887 600	3240 934.65 5698.3 887 600	2112 3240 934.65 5698.3 887 600	2680 2112 3240 934.65 5698.3 887 600	1862 2680 2112 3240 934.65 5698.3 887 600	1080 1862 2680 2112 3240 934.65 5698.3 887 600	364 1080 1862 2680 2112 3240 934.65 5698.3 887 600
10	27	20	200	15	15	48 8 15	48 15	41 2 48 15	20 41 48 48 15	25 20 41 2 48 48 15	25 20 41 48 8 8	16 25 20 41 48 8 8	16 25 26 41 48 8
11.87079408	30.57873486	22.96/66094	200020001	8.075370121	11.93808883 8.075370121	76.69313594 11.93808883 8.075370121	12.57940781 76.69313594 11.93808883 8.075370121	43.60699865 12.57940781 76.69313594 11.93808883 8.075370121	28.42530283 43.60699865 12.57940781 76.69313594 11.93808883 8.075370121	36.06998654 28.42530283 43.60699865 12.57940781 76.69313594 11.93808883 8.075370121	25.06056528 36.06998654 28.42530283 43.60699865 12.57940781 76.69313594 11.93808883 8.075370121	14.53566622 25.06056528 36.06998654 28.42530283 43.60699865 12.57940781 76.69313594 11.93808883 8.075370121	4.899057873 14.53566622 25.06056528 36.06998654 28.42530283 43.60699865 12.57940781 76.69313594 11.93808883 8.075370121
11	30	22		8	11	76 11 8	76 11 8	43 12 76 11	28 43 12 76 11	36 28 43 12 76 11	25 36 28 43 12 76	25 36 28 43 12 76 11	14 25 36 28 43 12 76 11
	3	2		-7	-7	28 3	10 28 3	2 10 28 3	8 2 10 28 3	11 8 2 10 28 3	9 11 8 2 10 28 3	-2 9 11 8 2 10 28 3	2 9 11 8 2 10 28
1		1		0	0	0 1 1	0 1 1	0 1 1 1	0 4 4 4 4	0 1 1 1 1	0 4 4 4 4 4 4	0 1 1 1 1 0	0 1 1 1 1 0 1
0	0	0		0	0 0	0 0 0	0 0 0	0000	0 0 0 0	00000	000000	000000	00000000

5800 YONGE

DOTI ISLINGTON

NIA	0		2	2.029893674	ယ	150.8211	10.17	14.83	315	3
N/A	0		2	2.117449529	ယ	157.3265	11.15	14.11	314	ω
N/A	0	7	2	2.180118439	ယ	161.9828	11.48	14.11	313	ω
N/A	0	-2		1.928269179	ω	143.2704	11.48	12.48	312	ω
N/A	0		2	2.231106326	ယ	165.7712	11.48	14.44	311	ယ
N/A	0	-1	2	2.180118439	ω	161.9828	11.48	14.11	310	ω
N/A	0		2	2.368125168	ယ	175.9517	12.47	14.11	309	ယ
N/A	0	4	ယ	3.53069179	4	262.3304	18.04	14.76	308	ω
N/A	0		2	2.295240915	ယ	170.5364	11.81	14.44	307	ω
N/A	0		2	2.242787349	ω	166.6391	11.81	14.11	306	ω
N/A	0		2	2.180118439	w	161.9828	11.48	14.11	305	ယ
	0		2	2.242787349	ω	166.6391	11.81	14.11	304	ω
N/A	1	0	2	2.234522207	2	166.025	11.45	14.5	303	ယ
N/A	0		2	2.197927322	3	163.306	11.42	14.3	302	ω
N/A	0	V 15	2	2.892526245	ယ	214.9147	14.63	14.69	301	ပ
# of Bunk Beds	Interpretation (Meets Standard =1) (Does not meet standard =0)2	(shortage or overage of Beds) [Rounded]	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]	# or Clients droom to with 74.3 sq onal Space ounded]	of Bedroom/ of Bedroom/ Per Be Sleeping area (ft) [not r	Square reet of Bedroom/ Sleeping area (ft)	Bedroom/ Sleeping area (ft)	Bedroom/ Sleeping area (ft)	Bedroom / Sleeping Area	rioor #

	l
W	ŀ
W	١
٩	I
D	I
8	ŀ
23	
M	

		2000)						
0	0	Control March Control	2	2.377388964	3	176.64		12.8	13.8	P Dorm	2
15	0	-10	20	20.34993271	30	1512		27	56	A208	2
0	0	11 15 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	6	6,66218035	17	495		11	45	A108	1000
			[Rounded DOWN]								
	(Does not meet		ft of Personal Space	Inot rounded							
	(Meets Standard =1)		Comply with 74.3 sq	ft of Personal Space Comply with 74.3 sq		(ft)		area (ft)	area (ft)	Area	
			Sleeping area to	Comply with 74.3 sq		Steeping area	Sleeping area	Sleeping	Sleeping	Sleeping	
			Per Bedroom or	Per Bedroom to		of Bedroom/	(columns etc.) in Bedroom/ of Bedroom/	Bedroom/	Bedroom/	Bedroom /	
# of Bunk Beds	Interpretation	Dolta	Required # of Clients	y Required # of Clients	Actual Occupancy	Square Feet	Number of Length of Width of Square Feet of Irregularities Square Feet Actual Occupancy Required # of Clients Required # of Clients	Width of	Length of		Floor #

	100000000000000000000000000000000000000		2	BOSA WELLNETON	DEA WI	80					
0	1	O DESCRIPTION	2	2.624495289	2	195		13	15	325	3
0	1	0	>	1.776581427		132		ੜ	12	156	_
•	0			1.017496635	2	75.6		8.4	9	152	1
			[Rounded DOWN]								
	standard =0)2			[not rounded]							
	(Does not meet		ft of Personal Space				area				
	(Meets Standard =1)		Comply with 74.3 sq	ft of Personal Space Comply with 74.3 sq		(ft)	Bedroom/ Sleeping	area (ft)	area (ft)	Area	
			Sleeping area to	Comply with 74.3 sq		Sleeping area	(columns etc.) in	Sleeping	Sleeping	Sleeping	
AND ST THE			Per Bedroom or	Per Bedroom to		of Bedroom/	Irregularities	Bedroom/	Bedroom/	Bedroom /	
# of Bunk Beds	Interpretation	Delta	Required # of Clients	Square Feet Actual Occupancy Required # of Clients Required # of Clients	Actual Occupancy	Square Feet	Square Feet of	Width of	Length of	Number of Length of Width of	Floor #

SHS LAKESHORE

- 1											
_	1-	State of the latest and the latest a	61	61.50201884	60	4569.6		76.16	60	202	2
	0	-2	38	38.94266487	40	2893.44		41.1	70.4	201	2
_	0	-5	65	65,89562584	70	4896.045		78.5	62.37	102	
	0	-2	28	28.25091521	30	2099.043		34.81	60.3	101	1
	0	4	-1	1.281561238	2	95.22		10.35	9.2	B06	Basement
	0	-2	10	10.930821	12	812.16	128	20.8	45.2	B05	Basement
			4	4.19807537	ယ	311.917		16.46	18.95	B04	Basement
	1		30	30.11483176	29	2237.532		20.1	111.32	B03	Basement
_	0	412	8	8.721130552	9	647.98		17.9	36.2	B 02	Basement
	0	-3	17	17.09185734	20	1269.925		19.75	64.3	B01	Basement
	standard =0)2		[Rounded DOWN]	[not rounded]				No. of the Control of		TOTAL TOTAL STREET	
	(Does not meet		ft of Personal Space			1	area				
	(Meets Standard =1)		Comply with 74.3 sq	ft of Personal Space Comply with 74.3 sq		(f	Bedroom/ Sleeping	area (ft)	area (ft)	Area	
			Sleeping area to	Comply with 74.3 sq		Sleeping area	(columns etc.) in	Sleeping	Sleeping	Sleeping	
			Per Bedroom or	Per Bedroom to		of Bedroom/	Irregularities	Bedroom/	Bedroom/	Bedroom /	
	Interpretation	Delta	Required # of Clients	Square Feet Actual Occupancy Required # of Clients Required # of Clients	Actual Occupancy	Square Feet /	Square Feet of	Width of	Length of	Number of	Floor#

490 SHERBOURNE

0	1		2	2.148048452	1	159.6		12	13.3	11	ပ
0	1	0	1	1.4487214	-	107.64		13.8	7.8	10	ω
0	1 1	0	1	1.424495289	1	105.84		9.8	10.8	9	ယ
0	_	0		1.956258412	_	145,35		9.5	15.3	œ	ω
0	1	0	1 3	1.738896366	1	129.2		13.6	9.5	7	ယ
0		0	-	1.66218035	_	123.5		13	9.5	6	ω
0	1	0	1	1.846567968	1	137.2		9.8	14	Οī	ယ
0	1	0	1	1.6487214		122.5		9.8	12.5	4	ω
0	1	0	1	1.652220727	1	122.76		13.2	9.3	ω	ယ
0	1	0		1.393001346		103.5		15	6.9	2	ω
0		0		1.372812921		102		8.5	12		3
			[Rounded DOWN]								
	standard =0)2			[not rounded]							
	(Does not meet		ft of Personal Space				area				
	(Meets Standard =1)		Comply with 74.3 sq	ft of Personal Space		(ft)	Bedroom/ Sleeping	area (ft)	area (ft)	Area	
			Sleeping area to	Comply with 74.3 sq		Sleeping area	(columns etc.) in	Sleeping	Sleeping	Sleeping	
			Per Bedroom or	Per Bedroom to		of Bedroom/	Irregularities	Bedroom/	Bedroom/	Bedroom /	
# of Bunk Beds	Interpretation	Delta	Required # of Clients Required # of Clients		Square Feet Actual Occupancy	aquare Feet	oquare Feet of	ANIGEN OF	Pendul of	INDIBORTOR	71001#

70	
4	
2	
500	

0	1	0	1	1.080753701		80.3		7.3	11	207	2
0	1		2	2.132489906		158.444		11.08	14.3	206	2
0		0		1.810497981	1	134.52		11.8	11.4	205	2
0	1	0	_	1.628532974	_	121		11	11	202	2
0	1	0	THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER.	1.269205922		94.302		7.8	12.09	201	2
			[Rounded DOWN]								
	standard =0)2			[not rounded]							
	(Does not meet		ft of Personal Space				area				
	(Meets Standard =1)		ft of Personal Space Comply with 74.3 sq	ft of Personal Space		(ft)	Bedroom/ Sleeping	area (ft)	area (ft)	Area	
			Sleeping area to	Comply with 74.3 sq		Sleeping area	(columns etc.) in	Sleeping	Steeping	Sleeping	
			Per Bedroom or	Per Bedroom to		of Bedroom/	Irregularities	Bedroom/	Bedroom/	Bedroom /	
# of Bunk Beds	Interpretation	Delta	Required # of Clients	Square Feet Actual Occupancy Required # of Clients Required # of Clients	Actual Occupan	Square Feet	Square Feet of	Width of	Length of	Number of	Floor#

0	1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5	5.16769852	4	383.96		11.6	33.1	Stage	2
31	0	-40	46	46.13741588	86	3428.01	1095.7	55.1	82.1	111	1
			[Rounded DOWN]								
	standard =0)2			[not rounded]							
	(Does not meet		ft of Personal Space				area				
	(Meets Standard =1)		Comply with 74.3 sq	ft of Personal Space Comply with 74.3 sq		(ft)	Bedroom/ Sleeping	area (ft)	area (ft)	Area	
			Sleeping area to	Comply with 74.3 sq		Sleeping area	(columns etc.) in	Sleeping	Sleeping	Sleeping	
			Per Bedroom or	Per Bedroom to		of Bedroom/	irregularities	Bedroom/	Bedroom/	Bedroom /	
# of Bunk Beds	Interpretation	Delta	Required # of Clients Required # of Clients	y Required # of Clients	Square Feet Actual Occupancy	Square Feet	Square Feet of	Width of	Length of	Number of Length of	Floor#

3576 ST CLRIC

0	0	-3	6	6.974600269	9	518.2128	19.08	27.16	210	2
0	0		2	2.020491252	3	150.1225	11.33	13.25	209	2
0	0		A STATE OF THE PARTY OF THE PAR	1.090174966	2	81	9	9	116	1
0	0		1	1.09986541	2	81.72	9.08	9	115	_
0	0			1.09986541	2	81.72	9.08	9	114	1
4	0	-13	12	12.06460296	25	896.4	27	33.2	111	
23	0	-29	23	23.66800538	52	1758.5328	33.08	53.16	110	1
	(Meets Standard =1) (Does not meet standard =0)2		Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]	Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]		Bedroom/ Sleeping area (ft)	Bedroom/ Sleeping area (ft)	Bedroom/ Sleeping area (ft)	Bedroom / Sleeping Area	
# of Bunk Beds	Interpretation	Delta	Required # of Clients	Square Feet of Actual Occupancy Required # of Clients Required # of Clients	Actual Occupancy	Square Feet of	Width of	Length of	Number of	Floor #

HESOYNAG TILE

129 PETER

2 4	2	2 2	2	2 Women's Dormiton	2 Men's Dormitory	1 BF Bedroom	Sleeping Area
11.9	12.1	12	13.7	tory 16.9	ry 21.9	8.1	a Sleeping a area (ft)
16	16	13.9	12	23.3	81.4	8.5	Sleeping area (ft)
190.4	193.6	166.8	164.4	393.77	1782.66	68.85	of Bedroom/ Sleeping area (ft)
3	ω	2	2	7	22		
2.562584118	2.605652759	2.244952894	2.212651413	5,299730821	23.99273217	0.926648721	Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
2	2	2	2	5	23	0	Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
45		0	0	-2	1		
0	0		_	0		0	(Meets Standard =1) (Does not meet standard =0)2
0	0	0	0	3	0	0	

			100							
# TIGOT #	Bedroom / Sleeping	Bedroom/ Sleeping	Bedroom/ Sleeping	Square Feet of Bedroom/ Sleeping area (ft)	Actual Occupancy	Actual Occupancy Required # of Clients Per Bedroom to Comply with 74.3 sq	Required # of Clients Per Bedroom or Sleeping area to	Delta shortage or overage of Beds)	Interpretation	# of Bunk Beds
	Area	area (ft)	area (ft)			ft of Personal Space	Comply with 74.3 sq ft of Personal Space		(Meets Standard =1) (Does not meet	
						[not rounded]	[Rounded DOWN]		standard =0)2	
Same Land	B01	9.75	5.6	54.6		0.734858681	0	-1	0	0
1	B02	8.5	9.75	82.875		1.115410498		0	1	0
	B03	7.83	9.75	76.3425	Same and the same of	1.027489906	1	0		0
	B04	15.1	7.1	107.21	_	1.442934051		0	_	0
1	B05	11.4	18.25	208.05	3	2.80013459	2		0	0
	B06	18.25	16.6	302.95	5	4.077388964	4		0	
1	B07	9.33	18.23	170.0859	2	2.289177658	2	0	-1	
1	808	13.75	18.25	250.9375	2	3.377355316	ဒ			0
1	B09	14.75	14.9	219.775	2	2.957940781	2	0	_	0
	B10	14.9	9.33	139.017	2	1.87102288	ļ	4	0	0
1	B11	14.9	9.33	139.017	2	1.87102288		4	0	0
_	B11A	14.9	9.33	139.017	2	1.87102288	1		0	0
-	B12	14.9	9.33	139.017	2	1.87102288	1		0	0
	B13	14.9	9.33	139.017	2	1.87102288	1		0	0
1	B15	14.6	19.4	283.24	S)	3.812113055	ယ	-2	0	1
	B16	14.6	19.4	283.24	5	3.812113055	ω	-2	0	
1	B17	14.6	19.4	283.24	5	3.812113055	ယ	-2	0	1
	B18	18.4	11.1	204.24	5	2.748855989	2	-33	0	_
	B19	19.5	18.4	358.8	5	4.829071332	4	-	0	`
1	B20	19.5	18.4	358.8	2	4.829071332	4	2	_	0
_	B21	19.5	18.4	358.8	5	4.829071332	4	14	0	
	B22	19.5	18.4	358.8	5	4.829071332	4		0	
1	B23	19.5	18.4	358.8	5	4.829071332	4	1	0	

1161 CALGONIA

100 LIPPINCOTI

1	0		1	1.498990579	2	111.375	13.75	8.1	308	ω
1	0	11-47		1.610026918	2	119.625	13.75	8.7	307	ယ
_	0	1-	3-	1.832099596	2	136.125	13.75	9.9	306	ω
	0	1-1		1.592462988	2	118.32	13.6	8.7	305	ယ
	0		1	1.592462988	2	118.32	13.6	8.7	304	ယ
1	0			1.812113055	2	134.64	13.6	9.9	303	ယ
_	0	1 2	1	1.592462988	2	118.32	13.6	8.7	302	ယ
1	0		1	1.482637954	2	110.16	13.6	8.1	301	ယ
# of Bunk Beds	Interpretation (Meets Standard =1) (Does not meet standard =0)2	Delta (shortage or overage of Beds) [Rounded]	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]	Square Feet Actual Occupancy Required # of Clients Required # of Clients of Bedroom/ of Bedroom/ Sleeping area (ft)	Actual Occupanc	Square Feet of Bedroom/ Sleeping area (ft)	Width of Bedroom/ Sleeping area (ft)	Length of Bedroom/ Sleeping area (ft)	Number of Bedroom / Sleeping Area	Floor #

						The state of the s	Services.	Company of the Compan	the detailed reason breakfillening to take take
	70	0	250	0	11	85%	13	5800 Yonge Street	Willowdale Welcome Centre: Women's & Men's Program
z	-15	-15	45	0	1	7%	15	2671 Islington Avenue	Salvation Army: Islington Seniors' Shetter Women's & Men's Program
	-22	-22	0.5	0	0	0%	ω	339 George Street	Seaton House: O'Neill Program
	-	-1	OI	1	2	67%	3	805A Wellington St West	Homes First Society. Strachan House
	-13	-13	275	0	3	30%	5	545 Lakeshore Blvd West	Homes First Society - Mixed Adult, Men's, and Women's Program
	-	0	11	n	n	100%	11	490 Sherbourne Street	Fife: Sherbourne Transitional Program
	1	0	5	5	Gr.	100%	un	70 Denison Avenue	Fife House Denison Program
	-39	-39	90	0	1	50%	2	3576 St Clair Ave East	Homes First Society: Scarborough Shelter
	-49	-49	95	0	0	0%	7	2714 Danforth Avenue	Dixon Hall: Heyworth House Main Program
	4	-4	40	-	ယ	43%	7	129 Peter Street	SHARC Bedded Program
	-18	-18	70	4	7	30%	23	1161 Caledonia Road	Fred Victor Bethlehem United Program
	-8	-8	16	0	0	0%	8	100 Lippincott Street	COSTI Reception Centre CITY Program
# of Bunk Bed at Silv	Overage/shortage of beds to meet 74.3sqft	Reduction in beds required	Current	Number of single accupancy raphys	Number of tooms currently comply	% of Rooms Complying with 74 3 seft of Personal Space	Raoms	Address	Sites

Legend

(None of the bedroom does bedrooms comply)	Does Not Comply Complies
oes (All bedrooms	s Fully Complie

0	70	0	250	0	11	85%	13	5800 Yonge Street	Willowdale Welcome Centre: Women's & Men's Program
N/A	-15	-15	45	0	1	7%	55	2671 Islington Avenue	Salvation Army: Islington Seniors' Sheller Women's & Men's Program
ಡ	-22	-22	50	0	0	0%	3	339 George Street	Seaton House: O'Neill Program
	-1	-4	5	-	2	67%	ယ	805A Wellington St West	Homes First Society: Strachan House
0	-1 3	-13	275	0	ω	30%	10	545 Lakeshore Blvd West	Homes First Society - Mixed Adult, Men's, and Women's Program
0	1	0	11	11	11	100%	11	490 Sherbourne Street	Fife: Sherbourne Transitional Program
0	1	0	5	5	J.	100%	5	70 Denison Avenue	Fife House Denison Program
21	-39	-39	90	0	1	50%	2	3576 St Clair Ave East	Homes First Society: Scarborough Shelter
27	-49	-49	95	0	0	0%	7	2714 Danforth Avenue	Dixon Hall: Heyworth House Main Program
w	-4	4-	40		బ	43%	7	129 Peter Street	SHARC Bedded Program
5	-18	-18	70	4	7	30%	23	1161 Caledonia Road	Fred Victor Bethlehem United Program
83	°29	-8	16	0	0	0%	8	100 Lippincott Street	COSTI Reception Centre CITY Program
# of Hunk Beds at Site	Over age/ Shortage of heds to meet 34.3 soft	Reduction in broth required	Current	Number of single occupancy rooms	Number of rooms currently with 74.3	% of Rooms Camplying with 74.3sqlt of Personal Space	Hogms Assessed	Autor essa	Sites

Legend

dedrooms comply)	(Nane of the	Does Not Comply
not comply)	(At least 1	Partially Complies
comply)	(All bedroom	Fully Compile

Sleeping Sleeping Sleeping area Comply with 74.3 sq.	•					-	010.110					
Steeping Steeping Steeping Steeping Steeping area to to the Principle The Principl	0	0	۵.	50	6.974600269	9	518 2128	19.08	27.16	210	2	2714 Danforth Avenue
Sinstying Sinstyling Sins	0	0		2	2.020491252	ω	150.1225	11.33	13.25	209	2	2714 Danforth Avenue
Sherping	0	0	1	1	1.090174966	2	81	9	9	116	1	2714 Danforth Avenue
Sistaying Sist	0	0	4	1	1.09986541	2	81.72	9.08	9	115	1	2714 Danforth Avenue
Sheeping Sheeping Sheeping area to Comply with As as Comply with As Comp	0	0		1	1.09986541	2	81.72	9.08	9	114	1	2714 Danforth Avenue
Sheeping Sheeping Sheeping area Complyy-pin'A3 sq. Complyy-p	4	0	-13	12	12.06460296	25	896.4	27	33.2	111		2714 Danforth Avenue
Steeping Steeping Steeping area Comply-yiri) As a Steeping area to Comply-yiri) As a Steeping area to Comply-yiri) As a Steeping area to Comply-yiri) As a Comply-yi	23	0	-29	23	23.66800538	52	1758.5328	33.08	53.16	110	_	2714 Danforth Avenue
Stephing Stephing Stephing area Comply with 74.3 sq	0	0		2	2.562584118	ω	190.4	16	11.9	4	2	129 Peter Street
Stephing	0	0	.1	2	2.605652759	ယ	193.6	16	12.1	ယ	2	129 Peter Street
Siesping	0		0	2	2.244952894	2	166.8	13.9	12	2	2	129 Peter Street
Siesping Siesping Siesping area Comply with 74.3 sq (fig) Comply with 74.3 sq (fig) (f	0	1	0	2	2.212651413	2	164.4	12	13.7	_	2	129 Peter Street
Sierping	3	0	-2	O.	5.299730821	7	393.77	23.3	16.9	Women's Dormitory	2	129 Peter Street
Strephing Strephing area (th)	0			23	23.99273217	22	1782.66	81.4	21.9	Men's Dormitory	2	129 Peter Street
Strepling Steeping area (th) area (t	0	0	4	0	0.926648721	1	68.85	8.5	.0.	BF Bedroom	1	29 Peter Street
	1	0		4	4.829071332	(J)	358.8	18.4	19.5	B23		161 Caledonia Road
Steeping Steeping Steeping area to Comply with 74.3 sq. Steeping area to Comply with 74.3 sq. Steeping area to Comply with 74.3 sq. Comply wit	_	0		4	4.829071332	o o	358.8	18.4	19.5	B22	_	161 Caledonia Road
Siepping Siepping area Comply with 74.3 sq Siepping area to Of Berks American at Of Berks Comply with 74.3 sq Siepping area to Of Berks	1	0	-	4	4.829071332	O1	358.8	18.4	19.5	B21	_	Caledonia
Siepping Siepping area Comply with 74.3 sq. Siepping area to O Berley Charlest Charle	0	1	2	4	4.829071332	2	358.8	18.4	19.5	B20	_	
		0	1	4	4.829071332	5	358.8	18.4	19.5	819	-	_
Sleeping Sleeping area Comply with 1/4.3 sq. Sleeping area Comply with 1/4.3 sq. Receing area to Com	1	0	-3	2	2.748855989	5	204.24	11.1	18.4	B18		
Sleeping Sleeping area Comply with 1/4.3 sq Comply with 1/4.	1	0	-2	သ	3.812113055	ST.	283.24	19.4	14.6	B17	1	1161 Caledonia Road
Sleeping Sleeping Sleeping area Comply with 74.3 sq Sleeping area Comply with 74.3 sq Comply wit	_	0	-2	3	3.812113055	5	283.24	19.4	14.6	B16	_	1161 Caledonia Road
Siceping	1	0	-2	သ	3.812113055	σı	283.24	19.4	14.6	B15	-	Caledonia
Steeping Steeping Steeping area Comply with 7.4.3 sq Steeping area Comply with 7.4.3 sq Rounded (Does not meet In of Personal Space Rounded Rounded (Does not meet In of Personal Space Rounded Rounded (Does not meet In of Personal Space Rounded Rounded (Does not meet In of Personal Space Rounded In of Personal Space Rounded (Does not meet In of Personal Space	0	0	1		1.87102288	2	139.017	9.33	14.9	B13	_	1 Caledonia
Siesping Siesping Siesping area Comply with 7.4.3 sq Siesping area to ft of Personal Space ft of Per	0	0	1		1.87102288	2	139.017	9.33	14.9	B12	1	Caledonia
Sleeping Sleeping Sleeping Sleeping area to Info Personal Space Comply with 74.3 sq (Meets Standard =1) Info Personal Space Info Info Personal Space Info Info Personal Space Info	0	0	1.3		1.87102288	2	139.017	9.33	14.9	B11A	_	l Caledonia
Sleeping Sleeping Sleeping Sleeping Sleeping Area (tt)	0	0			1.87102288	2	139.017	9.33	14.9	811		Caledonia
Sleeping Sleeping Sleeping area (ft) area (ft) area (ft) area (ft) area (ft)	0	0	-1	<u> </u>	1 87102288	2	139.017	9.33	14.9	B10		Caledonia
Sleeping Sleeping Sleeping area (ft)	0			> 0	2 957940781	2 1	219 775	14.9	14.75	B09	_	Caledonia
Sleeping Sleeping Sleeping area Comply with 74.3 sq Sleeping area to Of Beds (Meets Standard =1) (Meets Standard =1				w	3.377355316	2	250 9375	18.25	13.75	B08		Caledonia
Sleeping Sleeping Sleeping Area (ft)	-			v 4	2 280177658	0	170 0850	18.23	933	B07		Caledonia
Sleeping Sleeping Sleeping area (ft) area (ft) area (ft) area (ft) area (ft) area (ft) (ft)			-	4	7.9088270 V	חכ	300.00	16.20	18.25	808	- ا	161 Caledonia Road
Sleeping Sleeping Sleeping area Comply with 74.3 sq Sleeping area to of Beds (ft) area (ft) area (ft) (ft) (ft) area (ft) (0		0	, _	1.442934051	ب ا	107.21	10.75	15.1	B04		Caledonia
Sleeping Sleeping Sleeping area	0		0		1.027489906		76.3425	9.75	7.83	803	1	
Sleeping Sleeping Sleeping area (ft)	0		0	1	1.115410498	1	82.875	9.75	8.5	B02	_	
Sleeping Sleeping Sleeping area Comply with 74.3 sq Sleeping area to of Beds (Meets Standard =1) (Meets Standard =1	0	0		0	0.734858681	1	54.6	5.6	9.75	B01	1	161 Caledonia Road
Sleeping Sleeping Sleeping area Comply with 74.3 sq Sleeping area to of Beds (Meets Standard =1)	_	0	-		1.498990579	2	111.375	13.75	8.1	308	ω	100 Lippincott Street
Sleeping Sleeping Sleeping area Comply with 74.3 sq Sleeping area to of Beds (Meets Standard =1)	1	0			1.610026918	2	119.625	13.75	8.7	307	ယ	100 Lippincott Street
Sleeping Sleeping Sleeping area Comply with 74.3 sq Sleeping area to of Beds (Meets Standard =1)		0	-4		1.832099596	2	136.125	13.75	9.9	306	ω	100 Lippincott Street
Sleeping Sleeping Sleeping area Comply with 74.3 sq Sleeping area to of Beds (Meets Standard =1)	1	0			1.592462988	2	118.32	13.6	8.7	305	ယ	100 Lippincott Street
Sleeping Sleeping Sleeping area Comply with 74.3 sq Sleeping area to of Beds (Meets Standard =1) (Meets Standard =1) (Does not meet standard =0)2	٠,	0	-		1.592462988	2	118.32	13.6	8.7	304	ω	100 Lippincott Street
Sleeping Sleeping area area (ft) area (ft) (ft) (ft) (ft) (ft) (ft of Personal Space Comply with 74.3 sq ft of Personal Space (ft o		0	-	1	1.812113055	2	134.64	13.6	9.9	303	w	100 Lippincott Street
Sleeping Sleeping area (ft) (ft) (ft) (ft) (ft of Personal Space Comply with 74.3 sq (Rounded) (Rounded) [Rounded DOWN]	->	0	-		1.592462988	2	118.32	13.6	8.7	302	ω	100 Lippincott Street
Sleeping Sleeping area (ft) (ft) (ft) (ft) (ft of Personal Space (0	4		1.482637954	2	110.16	13.6	8.1	301	ω	100 Lippincott Street
Sleeping Sleeping area (ft) (ft) (ft) (ft of Personal Space (ft of Personal Space (ft of Personal Space (Rounded)		standard =0)2		[Rounded DOWN]	[not rounded]							
		(Meets Standard =1) (Does not meet	of Beds) [Rounded]	Sleeping area to Comply with 74.3 sq ft of Personal Space	Comply with 74.3 sq ft of Personal Space		Sleeping area (ft)	Sleeping area (ft)	Sleeping area (ft)			
Floor # Number of Bedroom Length of Width of Square Feet Actual Occupancy Required # of Clients Required # of Clients Delta Interpretation # of Bunk Beds / Sleeping Area Bedroom/ Bedroom/ of Bedroom/ of Bedroom/ Per Bedroom to Per Bedroom or (shortage or overage	# of Bunk Beds	Interpretation	Delta (shortage or overage	Required # of Clients Per Bedroom or		Actual Occupancy	_	Width of Bedroom/	-	Number of Bedroom / Sleeping Area	Floor#	Site

5800 Yonge Street	5800 Yonge Street	Yonge		Yonge					-	30,000	-	_	1 Islington		2671 Islington Avenue	_	2671 Islington Avenue	_		339 George Street	339 George Street	339 George Street	805A Wellington St West	805A Wellington St West	805A Wellington St West	545 Lakeshore Blvd West	545 Lakeshore Blvd West		545 Lakeshore Blvd West	545 Lakeshore Blvd West	545 Lakeshore Blvd West		545 Lakeshore Blvd West			490 Sherbourne Street	490 Sherbourne Street	Sherbourne	490 Sherbourne Street	490 Sherhoume Street	490 Sherbourne Street	Sherbourne	490 Sherbourne Street	490 Sherbourne Street	490 Sherbourne Street	490 Sherbourne Street	70 Denison Avenue	3576 St Clair Ave East				
2	2	2	2) N	S	G	ن د	ω	ω	3	G	ω	ω	ω	ယ	ω	ယ	ω	w	2	2	_	ω		1	2	2	_	_	Basement	Basement	Basement	Basement	Basement	Basement	ယ	ω	ယ	ယ) در) دن	دن	ω	ω	ω	ယ	2	2	2	2	2	2
10	9	00	,	10	315	314	313	312	311	310	309	308	307	306	305	304	303	302	301	P Dorm	A208	A108	325	156	152	202	201	102	101	B06	B05	B04	B03	B02	B01	11	10	9	00	7	5	ຠ	4	သ	2	1	207	206	205	202	201	Stage
66	60	49	40	20	14.83	14.11	14.11	12.48	14.44	14.11	14.11	14.76	14.44	14.11	14.11	14.11	14.5	14.3	14.69	13.8	56	45	15	12	9	60	70.4	62.37	60.3	9.2	45.2	18.95	111.32	36.2	64.3	13.3	7.8	10.8	15.3	0 0	9.	14	12.5	9.3	6.9	12	11	14.3	11.4	11	12.09	33,1
32	46	38	27	14	10.1/	11.15	11.48	11.48	11.48	11.48	12.47	18.04	11.81	11.81	11.48	11.81	11.45	11.42	14.63	12.8	27	11	13	11	8.4	76.16	41.1	78.5	34.81	10.35	20.8	16.46	20.1	17.9	19.75	12	138	9.8	9 0	136	13	9.8	9.8	3.2	15	8.5	7.3	11.08	11.8	11	7.8	11.6
2112	2680	1862	1080	364	150.8211	157,3265	دان	10.0	165.7712	161.9828	1/5.951/	262.3304	170.5364	166.6391	161.9828	166.6391	166.025	163.306	214.9147	176.64	1512	495	195	132	75.6	4569.6	2893.44		2099.043	95.22	812.16	311.917	2237.532	647.98	1269.925	159.6	107.64	105.84	145.35	1202	123.5	137.2	122.5	122.76	103.5	102	80.3	158.444	134.52	121	94.302	383.96
20	25	16	16	2	Cui	3	o Cu	ω	ω	ω	Cu	4	ω	ω	ω	သ	2	ω	w	ω	30	17	2	_	2	60	40	70	30	2	12	ω	29	9	20				_		١.	1		_	_		_	1	1		1	4
28.42530283	36.06998654	25.06056528	14.53566622	4.89905/8/3	2.029893674	2.11/449529	2.180118439	1.928269179	2.231106326	2.180118439	2.368125168	3.53069179	2.295240915	2.242787349	2.180118439	2.242787349	2.234522207	2.197927322	2.892526245	2.377388964	20.34993271	6.66218035	2.624495289	1.776581427	1.017496635	61.50201884	38.94266487	65.89562584	28.25091521	1.281561238	10.930821	4.19807537	30.11483176	8.721130552	17.09185734	2.148048452	1.4487214	1.424495289	1 956258412	1 738908366	1 66018035	1 846567968	1.6487214	1.652220727	1.393001346	1.372812921	1.080753701	2.132489906	1.810497981	1.628532974	1.269205922	5.16769852
28	36	25	14	4	. 2	2	2		2	2	2	ω	2	2	2	2	2	2	2	2	20	6	2			61	38	65	28		10	4	30	œ	17	2	٠, د		٠.		-			1	1			2				51
8	1.1 IX	9	-2	2			-	-2			-100	-	÷			-	0	1-1	-1		-10	-11	0	0			-2	-5	-2		-2		1	4	చ		0	0	0 0					0	0	0	0 0		0	0	0	1
1	-	1	0	1	0	0	0	0	0	0	0	0	0	0	0	0	1	0	0	0	0	0	1		0		0	0	0	0	0			0	0				-		4		4		_		_	1	1	1		
0	0	0	0	0	NA	N/A	NA	N/A	N/A	NA	NA	N/A	N/A	N/A	N/A	N/A	N/A	NA	N/A	0	15	0	0	0	1	0	0	0	0	0	0	0	0	0	0	0	0	0					0	0	0	0	0	0	0	0	0	0

_	_	1	_	1	2	2	2
5	4	ఆ	2	1	13	12	11
42	71	61	30	49	92.2	27.9	120
21	32	28	20	23	71.5	33.5	27
882	2272	1708	600	887	5698.3	934.65	3240
10	27	20	15	8	48	2	41
11.87079408	30.57873486	22.98788694	8.075370121	11.93808883	76.69313594	12.57940781	43.60699865
_	3 0	22	8	11	76	12	43
	3	2	-7	w	28	10	2
1	1	1	0	1	1	1	1
0	0	0	0	0	0	0	0

APPENDIX D

	=======================================	10	9	8	5	4	ω	2		22	7	6	Bedroom / Sleeping Area
	12	17.7	11.4	10.8	14.5	11.7	9	12.8	16	14.8	15	15	Bedroom or Sleeping area (ft)
	16.7	13.7	9.9	11.5	14.6	14.8	6.9	15.4	15.2	32.8	8.8	6	Bedroom/ S!eeping area (ft)
	200.4	242.49	112.86	124.2	211.7	173.16	62.1	197.12	243.2	485.44	132	135	Bedroom/ Sleeping area (ft)
L8	6	0	3	3	6	On	-	5	7	2	4	2	
87 PEMBROKE	2.69717362	3.263660834	1.51897712	1.671601615	2.849259758	2.330551817	0.835800808	2.653028264	3.273216689	6,533512786	1.776581427	1.816958277	Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
E	2	3			2	2	0	2	ယ	6			Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
	-4	-3	-2	5-2	4	-3	341	-3	T-	4	-3		(shortage or overage of Beds) [Rounded]2
	0	0	0	0	0	0	0	0	0	1	0	0	(Meets Standard =1) (Does not meet standard =0)
		78.7					_						

0

Floor #

Number of Bedroom / Sleeping

Length of Bedroom

Width of

Bedroom/ Sleeping Square Feet of

Actual Occupancy

Required # of Clients Required # of Clients

Per Bedroom to Per Bedroom or

Delta

Interpretation

of Bunk Beds

	0 1		2			10.00		
	3 0	1.905335128		141.5664	1017	1393	207	2
	0	1.768457604	2	131.3964	10.17	12.92	205	2
	ω	0.928720054	1	69.0039	5.67	12.17	202	2
		3.308576043	4	245.8272	13.92	17.66	201	2
0 4 0 0	0	0.967074024	1	71.8536	6.58	10.92	109	G
0	1	1.348283984	<u> </u>	100.1775	9.25	10.83	105	G
0		1.480925976	2	110.0328	10.16	10.83	104	ଜ
0		1.030772544	_	76.5864	7.92	9.67	103	G
	2	2.684656797	2	199.47	13.08	15.25	101	G
(Me		Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]		Bedroom/ Sleeping area (ft)	Bedroom/ Sleeping area (ft)	Bedroom or Sleeping area (ft)		
<u> </u>		Delta (shortage or overage of Beds) [Rounded]2	Required # of Clients Delta Per Bedroom or (shortage or overage Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded]2 [Rounded DOWN]	Delta (shortage or overage of Beds) [Rounded]2	Actual Occupancy Required # of Clients Required # of Clients Per Bedroom to Per Bedroom or Comply with 74.3 sq ft of Personal Space [not rounded] [Rounded DOWN]	Square Feet of Actual Occupancy Required # of Clients Required # of Clients Delta Per Bedroom to Per Bedroom or (shortage or overage Comply with 74.3 sq Sleeping area to of Beds) ft of Personal Space Comply with 74.3 sq ft of Personal Space [Rounded]2 [not rounded] [Rounded DOWN]	Width of Square Feet of Actual Occupancy Required # of Clients Required # of Clients Bedroom or Sleeping Bedroom/ Sleeping area (ft) Sleeping area (ft) area (ft) Required # of Clients Section of Section of Beds) Indicate the foliation of the foliation	f Length of Width of Square Feet of Actual Occupancy Required # of Clients Required # of

126 PAPE

	1	2	2	2	2	2	2	2	2	ω	ω	دير
Area	105	201	202	203	204	205	206	207	208	304	305	305
Sleeping area (ft)	15.08	12.33	13.67	14.33	19.25	9	15.33	14.67	18.75	13.67	16.75	14.42
area (代)	14	13.67	7.58	12.58	12.25	12	14	13.67	12	12.25	9.17	883
	211.12	168.5511	103.6186	180.2714	235,8125	108	214.62	200.5389	225	167.4575	153.5975	127.3286
	3	4		4	6	2	5	4	5	3	3	2
ft of Personal Space [not rounded]	2.841453567	2,268520861	1.394597577	2.426263795	3.173788694	1.453566622	2.888559892	2.699043069	3.028263795	2.253802153	2.067261104	1 713709287
ft of Personal Space Comply with 74.3 sq ft of Personal Space [not rounded] [Rounded DOWN]	2	2	1	2	3	1	2	2	3	2	2	1
[Rounded]2	-1	-2	0	-2	-3		-3	-2	-2	4	- 1	
(Meets Standard =1) (Does not meet standard =0)	0	0	1	0	0	0	0	0	0	0	0	O
	0	_	0		1	0	1	0	0	0	0	٥

Floor # Number of Length of Bedroom / Bedroom or

Width of Bedroom/

Square Feet of Bedroom/ Sleeping area (ft)

Actual Occupancy

Required # of Clients
Per Bedroom to
Per Bedroom or
Comply with 74.3 sq
Sleeping area to

s Delta (shortage or overage of Beds)

Interpretation

of Bunk Beds

275A BROADVIEW

	ယ	ယ	ω	ω	ω	w	ω	ω	ယ	ယ	ω	2	2	2	2	2	2	2	2	2	2	2	2	2	_	1		1		1	_	1	00	œ	8	0	0	CO	Floor #
	32	33	34	35	36	37	16	15	14	13	12	25	26	27	28	29	30	31	11	10	9	8	6	7	104	21	22	23	24	ហ	7	6	17	18	19	20	2	-	Number of Bedroom / Sleeping Area
	9	8.5	12.7	9.3	9.3	9.3	9.3	7.2	7.8	8.4	8.4	11.6	15.4	11.2	11.3	11.3	11.3	11.3	12.4	9	9	9.3	7.9	7.9	12.5	7.3	7.3	7.3	7.3	10.5	10.5	10.5	7.7	7	6.9	7	7.8	7.8	Length of Bedroom or Sleeping area (ft)
	10	11.9	9.1	7.1	7.6	9	7.1	10	12.9	12	14	10	7	9	7.3	7.3	7.3	7.3	10.5	10.5	10.5	12.5	14	11.6	12.5	11.2	11.2	11.2	10.5	10.7	9.4	9	10	10	10	10	10	10	Width of Bedroom/ Sleeping area (ft)
	90	101.15	115.57	66.03	70.68	83.7	66.03	72	100.62	100.8	117.6	116	107.8	100.8	82.49	82.49	82.49	82.49	130.2	94.5	94.5	116.25	110.6	91.64	156.25	81.76	81.76	81.76	76.65	112.35	98.7	94.5	77	70	69	70	78	78	Square Feet of Bedroom/ Steeping area (ft)
	1	1	→	1	1	L Company	1	1	_		_	1	~2		1		-	1	1	1	1	1	-*	1	-1		1	1	1	L	1	1	-	1	-	1	-	The second second second second	Actual Occupancy
386 Du	1.211305518	1.361372813	1.555450875	0.888694482	0.9512786	1.126514132	0.888694482	0.969044415	1.354239569	1.35666218	1.582772544	1.561238223	1.450874832	1.35666218	1.110228802	1.110228802	1.110228802	1.110228802	1.752355316	1.271870794	1.271870794	1.564602961	1.488559892	1.233378197	2.102960969	1.100403769	1.100403769	1.100403769	1.031628533	1.512113055	1.328398385	1.271870794	1.036339166	0.942126514	0.928667564	0.942126514	1.049798116	1.049798116	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
SADAR	1	1		0	0	1	0	0				1 000	_	1	1	1	1	1	1		1		1		2	1	1	1	1	1	1	1	1	0	0	0		IN THE REAL PROPERTY.	Required # of Clients Required # of Clients Per Bedroom to Per Bedroom or Comply with 74.3 sq Sleeping area to ft of Personal Space [not rounded] [Rounded DOWN]
	00	0	0	4		0			0	0	0	0	0	0	0	0	0	0	0	0	0	0	. 0	0	1	0 -	0	0	0	0	0	0	0		-1	4	0	0	Delta (shortage or overage of Beds) (Rounded]2
	-1	l,	1	0	0	1	0	0	1	1	1	1	_	1	1	1	1	1	1	1	1	1	1					_,	→		_`		1	0	0	0	-		Interpretation (Meets Standard =1) (Does not meet standard =0)
	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	# of Bunk Beds

ΝΝω	0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	0	0.829071332	1	61.6	00	7.7	11	2
Νω	0	-3	Control Control Control Control	1.760430686	4	130.8	10.9	12	8	2
ω	0	-3	هـــــــــــــــــــــــــــــــــــــ	1.439434724	4	106.95	9.3	11.5	7	2
	0	-4	2	2.194885599	6	163.08	10.8	15.1	တ	2
ω	0	4	2	2.537012113	თ	188.5	13	14.5	σı	2
2	0	-2	2	2.261103634	4	168	10.5	16	4	2
3	0	-4	2	2.528398385	0	187.86	10.1	18.6	ω	N
0	0	-2	2	2.522745626	4	187.44	13.2	14.2		-
0	0	4 3 100	0	0.734320323	-	54.56	8.8	6.2	110	
1	0	-2	3	3.618304172	5	268.84	18.8	14.3	2	1
	(Meets Standard =1) (Does not meet standard =0)	(shortage or overage of Beds) [Rounded]2	Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]	Per Bedroom to Per Bedroom or Comply with 74.3 sq ft of Personal Space [not rounded] [Rounded DOWN]		Bedroom/ Sleeping area (ft)	Bedroom/ Sleeping area (ft)	Bedroom or Sleeping area (ft)	Bedroom / Sleeping Area	

60 NEWCASTUE

0	1		2	2.368775236	1	176	11	16 	#2	ယ
0	1	0		1.633647376	1	121.38	8.67	14	#1	w
0	1	0	-	1.457454913		108.2889	13.83	7.83	#7	2
0	1	0		1.791741588	1	133.1264	9.92	13.42	#5	2
0	→	0		1.278600269		95	ō	9.5	*5	2
0		0	2	2.239083445	2	166.3639	13.67	12.17	艺	2
0		0		1.379725437	_	102,5136	10.17	10.08	3	N
0		0	2	2.259454913	2	167.8775	12.67	13.25	œ	1
	(Meets Standard =1) (Does not meet standard =0)	overage s) d]2		Per Bedroom to Per Bedroom or Comply with 74.3 sq Steeping area to Comply with 74.3 sq ft of Personal Space [not rounded] [Rounded DOWN]		Bedroom/ Steeping area (ft)	Bedroom/ Sleeping area (ft)	Bedroom or Sleeping area (ft)		
# of Bunk Beds	Interpretation	Delta	Required # of Clients	Required # of Clients Required # of Clients	Actual Occupancy	Square Feet of	Width of	Length of	Number of	Floor#

63 Bemoods

10.9
8.1
89.1 120.99
2
1.109001902

70 GERRARD

00	
しのす	The second secon
DADD	

_	0	-4	ω	3.646433378	7	270.93	16.5	16.42	#14	2
0	1	4	5	5.109152086	_	379.61	17	22.33	202	2
	0	Section 1 Contraction		1.069145357	2	79.4375	7.75	10.25	#13	2
0	0		Management of the contract of	1.328364738	2	98.6975	9.25	10.67	#12	2
0	0	-3	2	2.579004038	O)	191.62	11	17.42	#11	2
0	0	-2	1	1.61761642	3	120.1889	15.67	7.67	#10	2
0	0		_	1.463040377	2	108.7039	14.83	7.33	#9	2
0	0	1	1	1.288829071	2	95.76	15.75	6.08	##	2
0		0	သ	3.208613728	3	238.4	20	11.92	#7	2
0	0	- 1		1.496702557	2	111.205	11.5	9.67	费	2
0	0	-22	2	2.100336474	4	156.055	14.75	10.58	#5	2
0	0		5	5.822745626	6	432.63	17.25	25.08	巷	2
0	0		0	0.757065949	-1	56.25	7.5	7.5	#.	_
0	0			1.362718708	2	101.25	6.75	15	艿	1
0	0		2	2.039584118	3	151.5411	10.33	14.67	#3	
0		0		1.241502019	1	92.2436	6.92	13.33	102	1
# of Bunk Beds	Interpretation (Meets Standard =1) (Does not meet standard =0)	. Delta (shortage or overage of Beds) [Rounded]2	Required # of Clients Required # of Clients Per Bedroom to Per Bedroom or Comply with 74.3 sq Sleeping area to Comply with 74.3 sq ft of Personal Space [not rounded] [Rounded DOWN]	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]	Actual Occupancy	Square Feet of Bedroom/ Sleeping area (ft)	Width of Bedroom/ Sleeping area (ft)	Length of Bedroom or Sleeping area (ft)	Number of Bedroom / Sleeping Area	Floor #

			R	サレンサ	67					
0	0	k2	6	6.025306191	8	447.68025	21.75	20.583	412	4
0	0		ယ	3.686280094	4	273,890611	19.333	14.167	411	4
0	0	-2	ယ	3.337873486	J.	248,004	12	20.667	410	4
0	0		1	1.625208614	2	120.753	9	13.417	409	4
0	0	-2	1	1.960477793	S	145.6635	9.5	15.333	408	4
0	0	-2	1	1.915588829	3	142.32825	9.333	15.25	407	4
0	0	-2	>	1.932829744	3	143.60925	9.417	15.25	406	4
0	0	-2	1	1.932829744	ယ	143,60925	9,417	15.25	405	4
0	0	-2	1	1.932829744	3	143.60925	9.417	15.25	404	4
0	0		2	2.001177658	3	148.6875	9.75	15.25	403	4
0	0		2	2.01666891	3	149.8385	15.5	9.667	402	4
0	0		2	2.027467847	S	150.640861	15.583	9.667	401	4
0	0	-2	2	2.923956931	4	217.25	19.75	11	314	. C
0	0	-2	2	2.196300659	4	163.185139	19.583	8.333	313	Cu
0	0	-2	2	2.904845222	4	215.83	21.583	10	312	0
0	0	-2	2	2.904845222	4	215.83	21.000	5	201	s (
0	C	×	0	3,337073400	C C	215 02	31 503	1000	211	w (
c	c		,	2 227270400	n I	3/800/	13	20.65	310	יני
		4		1 800588008	2	134 452389	9.167	15	309	ယ
	0	1		1.977606178	2	146.936139	9.583	15.333	308	ယ
0	0	-2		1.908886272	3	141.83025	9.25	15.333	307	ω
0	0	-2	1	1.915588829	3	142.32825	9.333	15.25	306	ω
0	0	-2	4.2	1.932829744	3	143.60925	9.417	15.25	305	ω
0	0	-2	-	1.932829744	ω	143.60925	9.417	15.25	304	C
0	0	4	2	2.001177658	ω	148.6875	9.75	15.25	303	C
0	0		N	2.009850458	ω	149.331889	15.583	9.583	302	C.
0	0	-T-	2	2.009850458	G	149.331889	75,583	9.583	307	ی
0	0		-1	1.873759906	2	100027.801	3.000	14.917	200	3 P
C	c	7-		/#5420060*1	٥	130 330361	0 333	14017	208	0 1
		0 6		4 900634347) در	140 473389	9 417	14.917	207	2
		0.1	_	1 890624347	ω	140.473389	9.417	14.917	206	2
0		-27		1.873759906	ယ	139.220361	9.333	14.917	205	2
0	0	-2	_	1.873759906	3	139.220361	9.333	14.917	204	2
0	0	-2	The second secon	1.934656797	3	143.745	9.583	15	203	2
0	0	-2		1.879977941	3	139.682361	14.833	9.417	202	2
0	0	-2	•	1.879977941	3	139.682361	14.833	9.417	201	2
			[Rounded DOWN]	[not rounded]						
	(Does not meet standard =0)	[Rounded]2	It of Personal Space	Space				area (ii)		
	(Meets Standard =1)		Comply with 74.3 sq	sq tt of Personal			area (it)	Sindanic	Airea	
						area (ft)	Sleeping	or	Sleeping	
The second second second		(shortage or overage	ŎM	_		Bedroom/ Sleeping	Bedroom/	Bedroom	Bedroom /	
# of Bunk Beds	Interpretation	Deita	Required # of	equired # of	Actual Occupancy	Square Feet of	Width of	Length of	Number of	Floor #

Number of Bedroom / Sleeping Area	Length of Bedroom or Sleeping area (ft)	Width of Bedroom/ Sleeping area (ft)	Square Feet of Bedroom/ Sleeping area (ft)	Actual Occupancy	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]		Delta (shortage or overage of Beds) [Rounded]2	Interpretation (Meets Standard =1) (Does not meet standard =0)	# of Bunk Beds
6J	22.1	15.1	333.71	œ	4.491386272	4	-4	0	2
L15	40	31.8	1272	22	17.11978466	17	Ġ	0	7
W1	16	17.8	284.8	4	3.833109017	3	-1	0	2
W2	17.7	13.1	231.87	4	3.120726783	ယ		0	
W3	7.8	13.1	102.18	2	1.375235532		1.	0	
W4	7.8	13.1	102.18	2	1.375235532	-1		0	
W5	7.6	15.1	114.76	1	1.544549125		0	-	0
W6	7.8	15.1	117.78	1	1.585195155		0		
W7	7.6	15.1	114.76	1	1.544549125		0		0
W8	7.6	15.1	114,76	1	1.544549125		0	>	0
ew.	12.1	13.7	165.77	2	2.231090175	2	0	-1	
W10	12	17	204	2	2.745625841	2	0		
WH1	11.8	13.9	164.02	2	2.207537012	2	0		
WH2	14.1	13.9	195.99	2	2.63781965	2	0		
E1	13.8	13.7	189.06	2	2,544549125	2	0		
E2	13	13.7	178.1	4	2.397039031	2	-2	0	2
E3	7.7	13.7	105.49	1	1.419784657		О		
E4	7.7	13.7	105.49	2	1.419784657			0	
E5	7.7	13.7	105.49	2	1.419784657			0	
E6	7.7	13.7	105.49	2	1.419784657	1		0	-3
E7	7.8	13.7	106.86	2	1.438223419	1		0	-1
E8	11.9	13.7	163.03	4	2.194212651	2	-2	0	
E9	12.8	19	243.2	6	3.273216689	3	-3	0	ယ
	Number of Bedroom / Sleeping Area L15 W1 W2 W2 W3 W4 W4 W4 W5 W6 W7 W8 W9 W10 WH1 E2 E3 E4 E5 E6 E6 E7 E8		Length of Bedroom or Sleeping area (ft) 22.1 40 16 17.7 7.8 7.8 7.6 7.6 7.6 7.6 7.6	Length of Bedroom/ Bedroom Bedroom/ or Sleeping area (ft) area (ft	Length of Width of Bedroom/ Sleeping or Sleeping area (ft) Sleeping area (ft) Sleeping area (ft) area (ft) 22.1 15.1 333.71 40 31.8 284.8 17.7 13.1 231.87 7.8 13.1 102.18 7.8 13.1 102.18 7.8 15.1 114.76 7.6 15.1 114.76 7.6 15.1 114.76 11.8 13.9 164.02 14.1 13.7 165.77 12 17 204 11.8 13.9 164.02 14.1 13.7 165.49 7.7 13.7 105.49 7.7 13.7 105.49 7.7 13.7 105.49 7.7 13.7 105.49 7.8 13.7 105.49 7.8 13.7 105.49 7.8 13.7 105.49 7.8 13.7 105.49 7.8 13.7 105.49 7.8 13.7 105.49 7.8 13.7 105.49 7.8 13.7 105.49 7.8 13.7 105.49 7.8 13.7 106.86	Length of Bedroom/ Bedroom/ Sleeping or Sleeping area (ft) Bedroom/ Sleeping or Sleeping area (ft) Bedroom/ Sleeping area (ft) Bedroom/ Sleeping area (ft) Bedroom/ Sleeping or Sleeping area (ft) Bedroom/ Sleeping are	Length of Width of Square Feet of Bedroom Bedroom Sleeping area (ft) Bedroom Sleeping Bedroom Space Comply with 74.3 sq ft of Personal Space Comply with 74.3 sq ft of Personal Space Comply with 74.3 sq ft of Personal Space Sp	Length of Width of Bedroom Bedroom Bedroom Bedroom Sleeping or Required # of Clients Bedroom Comply with 74.3 sq Sleeping area (ft) Fer Bedroom Comply with 74.3 sq Sleeping ft of Personal Space ft	Length of Width of Square Feet of Bedroom Steeping Bedroom Steeping Actual Occupancy Per Bedroom Per Bedroom Steeping Actual Occupancy Per Bedroom Per Bedroom Per Bedroom Occupancy Per Bedroom Per Bedroom Occupancy Per Bedroom Occupancy Per Bedroom Per Bedroom Occupancy Per Bedroom Per

702 KENNEDY

-1	1						
105	102					Area	Sieeping
16.7	49.3				area (ft)	Sleeping	or
40,4	40				8 0	area (ft)	Sleeping
674.68	1972						area (ft)
17	45						
9.080484522	26.5410498			[not rounded]	9	ft of Personal Space	Comply with 74.3 sq Sleeping area to
9	26		[Rounded DOWN]		ft of Personal Space	Personal Space Comply with 74.3 sq	Sleeping area to
-8	-19				[Rounded]2		of Beds)
0	0			standard =0)	(Does not meet	(Meets Standard =1)	
0	0						

Floor #

Number of Length of Bedroom / Bedroom

Width of Bedroom/

Square Feet of Bedroom/ Steeping

Actual Occupancy

Required # of Clients
Per Bedroom to
Per Bedroom or

Per Bedroom or (shortage or overage

Delta

Interpretation

of Bunk Beds

732 QUEEN

				_			
ω	w	ω	2	2	2		Floor #
307	302	301	207	202	201	Bedroom / Sleeping Area	Number of
42	11.5	7.6	42	11.5	7.6	Bedroom or Sleeping area (ft)	Length of
13	8.5	12	11	8.5	10	Bedroom/ Sleeping area (ft)	Width of
546	97.75	91.2	462	97.75	76	Bedroom/ Sleeping area (ft)	Square Feet of
11	2	2	11	2	2		Actual Occupancy
7.34858681	1.315612382	1.227456258	6.218034993	1.315612382	1.022880215	Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]	Required # of Clients
7	1	1	6	_		Per Bedroom to Per Bedroom or Comply with 74.3 sq Sleeping area to ft of Personal Space ft of Personal Space [not rounded] [Rounded DOWN]	Required # of Clients Required # of Clients
-4			úι	-101	-	(shortage or overage of Beds) [Rounded]2	Delta
D	0	0	0	0	0	(Meets Standard =1) (Does not meet standard =0)	Interpretation
0	0	0	1	0	0		# of Bunk Beds

BLOOP BLOOP

0	-3.	0	_	1.30820996	1	97.2	8.1	12	204D	2
0	1	0	1	1.30820996	1	97.2	œ.1	12	204C	2
0	-	0	1	1.30820996	_	97.2	8.1	12	204B	2
0		0	1	1.30820996	1	97.2	8.1	12	204A	2
0	0	-1	3	1.713728129	2	127.33	10.7	11.9	203D	2
0		0	Section of the section of	1.29730821	1	96.39	8.1	11.9	203C	2
0	-1	0		1.29730821	-	96.39	8.1	11.9	203B	2
0	0		0	0.976985195	1	72.59	6.1	11.9	203A	2
0	1	0	2	2.400403769	2	178.35	8.7	20.5	202E	2
0		0	1	1.319111709	1	98.01	8.1	12.1	202D	2
0	-	0		1.319111709	1	98.01	8.1	12.1	2 0 2C	2
0	1	0		1.319111709	1	98.01	8.1	12.1	202B	2
0	_	0	1	1.319111709		98.01	8.1 1	12.1	202A	2
0		0	2	2.400403769	2	178.35	8.7	20.5	201E	2
0	1	0		1.319111709	1	98.01	8.1	12.1	201D	2
0		0	1	1.319111709	1	98.01	8.1	12.1	201C	2
0	-1	0		1.319111709	1	98.01	20 1	12.1	201B	2
0		0	1	1.30282638		96.8	80	12.1	201A	2
# of Bunk Beds	Interpretation (Meets Standard =1) (Does not meet standard =0)	Delta (shortage or overage of Beds) [Rounded]2	Required # of Clients Required # of Clients Per Bedroom to Per Bedroom or Comply with 74.3 sq Sleeping area to ft of Personal Space Comply with 74.3 sq ft of Personal Space [not rounded] [Rounded DOWN]	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]	Actual Occupancy	Square Feet of Bedroom/ Sleeping area (ft)	Width of Bedroom/ Sleeping area (ft)	Length of Bedroom or Sleeping area (ft)	Number of Bedroom / Steeping Area	Floor #

389 CHURCH

2	N	N	2	2	2	2	2	2	N	N) h	2 1	3	J P	0	2	2	2	2	2	2	2	2	2	2	2	7) N) N	S P	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	2	2	2	2				-		-	-	_					Floor #
237	236	235	234	231	230	229	228	227	226	225	477	222	777	37.	221	220	219	218	217	216	215	214	213	212	210	209	200	707	2002	300	205	204	203	202	201	107	106	COL	104	104	102	100	101			Area	Sleeping	Number of Bedroom /
12.7	12.7	12.7	12.7	12.7	12.7	12.7	12.7	12.7	12.7	8.8	0.8	000	0.0	000	200	8.9	8.9	8.9	8.9	8.9	8.9	8.9	8.6	8.6	8.7	8.7	6.7	2 9	2	3 1	10	10	12	12	12	8.3	8.3	8.3	2.5	40.5	100	125	12.5		area (ft)	Sleeping	or	Length of Bedroom
10	7	7	13.1	9	9	9	9	9	9	12.5	12.0	12.0	10.0	13 7	125	12.5	12.5	.12.5	12.5	12.5	12.5	12.5	15.6	15.6	11.4	11.4	11.4	0.71	40.0	100	10.5	12.5	12.5	12.5	12.5	13	13	13	6.21	200	0.0	99	9.9			area (ft)	Sleeping	Width of Bedroom/
127	88.9	88.9	166.37	114.3	114.3	114.3	114.3	114.3	114.3	111.25	111.20	111.20	444 08	444 35	111 25	111.25	111.25	111.25	111.25	111.25	111.25	111.25	134.16	134.16	99.18	99.18	99.18	6.711	1106	150	350	150	150	150	150	107.9	107.9	6.701	100.20	120.75	37 2010	123.75	123.75				area (ft)	Square Feet of Bedroom/ Sleeping
ယ	_		ω		→	1	-	1								1	-		3		1	1	1	1					۸ و	w () بر	ه ما	ယ	4	3	1	1	1	7			۵	1					Actual Occupancy
1.709286676	1.196500673	1.196500673	2.239165545	1.538358008	1.538358008	1.538358008	1.538358008	1.538358008	1.538358008	1.49/30821	1.497.30021	1.49/30021	1 40700021	1 40730821	1 49730821	1 49730821	1.49730821	1.49730821	1.49730821	1.49730821	1.49730821	1.49730821	1.805652759	1.805652759	1.334858681	1.334858681	1.334858681	1.014131696	2.01004200	201004263	201884253	201884253	2.01884253	2.01884253	2.01884253	1.452220727	1.452220727	7.452220727	2.1020000	1.000040007	1 666646007	1 665545087	1.665545087		[not rounded]	ft of Personal Space	Comply with 74.3 sq	Required # of Clients Per Bedroom to
1	1		2	1	1	1	1		_							1	1	1	1			_	_	_					N	3	3 1	01	2	2	2	1	1		7		4	1		[Rounded DOWN]	ft of Personal Space	Comply with 74.3 sq	Sleeping area to	ts Required # of Clients Per Bedroom or
-2	0	0		0	0	0	0	0	0	0	0				0.0		0		0	0	0	0	0	0	0	0	0	0	1					-2		0	0	0				0	.0.		[Rounded]2		of Beds)	Delta (shortage or overage
0	1		0	1	1	1		1							-	1	1	1		>	1			1	The state of the s							0	0	0	0		>					1	1		(Does not meet standard =0)	(Meets Standard =1)		Interpretation
1		1	0		1	And the state of t	1									4			1	1		1	0	>	1								0		0	0	0	c	,			0	0					# of Bunk Beds

80 WOOD LANN

P
00
0
808
d
C
2
Ø
R

	<	177	7	2.207733000	c	107.0000	10:0	10,000	-	
			3	2 207750085	ا در	164 0365	15.5	10 583	414	4
		-1	2	2 27743607	ယ	169.2135	15.5	10.917	413	4
4	0	-	2	2.207759085	ယ	164 0365	15.5	10.583	412	4
	0	4	2	2.259912517	ယ	167.9115	15.5	10.833	411	4
1	0		2	2.051298789	ယ	152.4115	9.833	15.5	410	4
0	0		4	4.208240242	5	312.67225	16.75	18.667	407	4
0		0	2	2.423452221	2	180.0625	16.75	10.75	406	4
0	_	0	2	2.367092867	2	175.875	16.75	10.5	405	4
0		0	2	2.479811575	2	184.25	16.75	1	404	4
1	0		2	2.385804172	ω	177.26525	16.75	10.583	403	4
0	0	-1	4	4.790545087	O.	355.9375	16.75	21.25	402	4
-	0	-	2	2.27743607	ω	169.2135	15.5	10.917	316	. ω
0	1	0	2	2.207759085	2	164.0365	15.5	10.583	315	C.
1	0	-1	2	2.27743607	ω	169.2135	15.5	10.917	314	C.
0	1	0	2	2.207759085	2	164.0365	15.5	10.583	313	Cu
	0	-1	2	2.259912517	w	167.9115	15.5	10.833	312	C
0	0	-1	4	4.902422611	5	364.25	15.5	23.5	311	C
0	_	0	2	2.010225437	2	149.35975	16.75	716.8	308	C
	0	1.	N	2.104007402	¢.	156.32775	16.75	9.333	30/	C
0		0	2	2.423452221	2	180.0625	16.75	10.75	306	3
0		0	2	2.367092867	2	175.875	16.75	10.5	305	C)
-	1	0	2	2.479811575	2	184.25	16.75	11	304	C
0	1	0	2	2.385804172	2	177.26525	16.75	10.583	303	o cu
0	0	-4	4	4.790545087	Ø1	355.9375	16.75	21.25	302	ω.
0	0	-	4	4.737550471	Ch	352	16	22	212	2
	0	-4	2	2.242597577	ω	166.625	10.75	15.5	211	2
1	0	-	4	4.902422611	Ch	364.25	15.5	23.5	210	2
0	1	0	2	2.344185734	2	174.173	19	9.167	207	2
0		0	2	2.423452221	N	180.0625	16.75	10.75	206	2
0	1	0	2	2.367092867	2	175.875	16.75	10.5	205	2
1	0		2	2.479811575	3	184.25	16.75	11	204	2
0		0	2	2.385804172	2	177.26525	16.75	10.583	203	2
0	0		4	4.790545087	5	355.9375	16.75	21.25	202	2
# of Bunk Beds	Interpretation (Meets Standard =1) (Does not meet standard =0)	Delta (shortage or overage of Beds) [Rounded]2	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]	Actual Occupancy	Square Feet of Bedroom/ Sieeping area (ft)	Width of Bedroom/ Sleeping area (ft)	Length of Bedroom or Sleeping area (ft)	Number of Bedroom / Sleeping Area	Floor#

0			2	2.42/0393)	100.01.00	0.00			ľ
c				2 4276202		180 3736	15.00	11 33	#19	2
			2	2.4276393		180.3736	15.92	11.33	#18	2
0			2	2.4276393	1	180.3736	15.92	11.33	#17	2
0			2	2.4276393	1	180.3736	15.92	11.33	#16	2
0			2	2,4276393	_	180.3736	15.92	11.33	#15	2
0			2	2.4276393	1	180.3736	15.92	11.33	#14	2
0			2	2.4276393	1	180.3736	15.92	11.33	#13	2
0			2	2.4276393	1	180.3736	15.92	11.33	#12	N
0			2	2.4276393	1	180.3736	15.92	11.33	#11	2
0	1		2	2.4276393	1	180.3736	15.92	11.33	#10	2
0	_	The second second	2	2.4276393	1	180.3736	15.92	11.33	#9	2
0		0	1	1.922798116	4	142.8639	10.33	13.83	#29	1
0	→		2	2.724880215	1	202,4586	16.42	12.33	#22	_
0			3	3.4243607	2	254.43	16.5	15,42	#20	1
0			2	2 394664872	1	177.9236	15.58	11.42	#8	
0			2	2.394664872	1	177.9236	15.58	11.42	#7	-
0	_		2	2.394664872		177.9236	15.58	11.42	#6	
0			2	2.394664872	Leconomic Contraction	177.9236	15.58	11.42	#5	1
0			2	2.394664872	1	177.9236	15.58	11.42	艺	
0			2	2.394664872	1	177.9236	15.58	11.42		1
0	>		2	2.394664872	1	177.9236	15.58	11.42	#2	_
0			2	2.394664872	1	177.9236	15.58	11.42	#1	1
0			2	2.395405114	1	177.9786	14.33	12.42	#23	B-South
0			2	2.395405114	1	177.9786	14.33	12.42	#26	B-South
0	_	0	2	2.355989233	2	175.05	15	11.67	#28	B-South
0			2	2.490021534	1	185.0086	14.42	12.83	#24	B-South
0	-	0	_	1.563391655	1	116.16	14.08	8.25	#25	B-South
0			2	2.355989233		175.05	15	11.67	#27	B-South
# of Bunk Beds	Interpretation (Meets Standard =1) (Does not meet standard =0)	Delta (shortage or overage of Beds) [Rounded]2	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]	Actual Occupancy	Square Feet of Bedroom/ Sleeping area (ft)	Width of Bedroom/ Steeping area (ft)	Length of Bedroom or Sleeping area (ft)	Number of Bedroom / Sleeping Area	Floor#

340 BAYVIEW

+	-19 -26	20 50	- 4	- & -	40% 8%	10 12	275A Broadview 126 Pape 87 Pembroke	Neille's Women's Stelter (VAW) St Vincent De Paul - Amelie House Street Haven
-	6	38	38	31	82%	38	386 Dundas	
-26	-26	41	2	0	0%	10	60 Newcastle	St Vincent De Paul - Elisa House
	0	10	6	8	Mox	8	63 Bellwoods	Womens' Residence - Bellwoods House
-18	-18	45	2	ω	21%	14	70 Gerrard	St Vincent De Paul - Mary's Home
-16	-16	46	4	w	19%	16	86 Lombard	Fred Victor Women's Hostel Program
-57	-57	112	0	0	0%	34	674 Oundas	Womens' Residence - Main Program
0	0	0	0	0	20%	23	702 Kennedy	Homes First Society - Kennedy Road Women's Program
-27	-27	62	0	0	0%	2	732 Queen	Salvation Army - Florence Booth House
-13	-13	30	0	0	0%	٥	1322 Bloor	Homes First Society - Savard's Women's Shelter
-19	-19	99	0	16	42%	33	2808 Dundas	Salvation Army - Evangeline Residence
25		30	26	28	100%	28	3410 Bayview	St. Vincent De Paul - St. Clare's Residence
-2	-2	23	ij.	17	89%	3	389 Church	Fred Victor Transition to Housing Church Site
-10	-10	59	32	0	9%0	41	80 Woodlawn	YWCA - Adult Women Shelter
beds Declaryshorrage of Seds to meet 74 3sqft	Reduction in beds required	Current Capacity	dumber of smale	Number of rooms. Rumber of unall currently comply occupancy tooms.	% of Rooms Complying with 74 July of Personal Space	Assessed	Address	Siley

Legend:

(None of the badrooms comply)	Does Not Comply
bedroom does not	
(All but	. Fully C

22		71 /481	38	60 Newcastle 10	63 Bellwoods 8	St.Vincent De Paul - Mary's Home 70 Gerrard 14 21% 3	Fred Victor Women's Hostel Program 86 Lombard 16 19% 3	Womens Residence - Main Program 674 Dundas 34 0% 0%	Hames First Society - Kennedy Road Women's Program 702 Kennedy 23 43% 10	Salvation Army - Florence Booth House 732 Queen 2	Homes First Society - Savard's Women's Shelter 1322 Bloor 6 0% 0	Salvation Army - Evangeline Residence 2808 Dundas 33 42% 14	St.Vincent De Paul - St. Clare's Residence 3410 Bayview 28 100% 28	Fred Victor Transition to Housing Church Site 389 Church 19 89% 17	WCA - Adult Women Shelter 80 Woodlawn 41 89% 33	Accenticed Personal Space with 74.3
-			000		6	2	ω	0	5	0	0	0	26	ii ii	32	Comply occupancy robins
JUC	20	42	- G	47	10	45	46	112	79	62	30	99	, 30	23	59	Correct Gapacity
-26	e lún	-19	-6	-26	0	-18	-16	-57	-24	-27	-13	-19	0	-2	-10	required
-26	ů	-19	6	-26	-	-18	-16	-57	-24	-27	-13	-19	25	-2	-10	of beds to meet 74 3sqN

2	
峀	
ž	
유	

Andreas company	hedrooms comply)	(None of the	Andrews seed of them	Does Not Comply
comply)	bedroom does not	(At least 1	Complies	Partially
			antifering Appear	1

Site	Floor#	Number of Bedroom / Sleeping Area	or Sleeping area (ft)	Width of Bedroom/ Sleeping area (ft)	Square Feet of Bedroom/ Sleeping area (ft)	Actual Occupancy	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space	Delta (shortage or overage of Beds) [Rounded]2	Interpretation (Meets Standard =1) (Does not meet standard =0)
							[not rounded]	[Rounded DOWN]		(0)
80 Woodlawn		101	12.5	9,9	123.75	1	1.665545087		0	
80 Woodlawn		102	12.5	9.9	123.75	_	1.665545087	_	0	
80 Woodlawn	4	104	12.5	10 N	156.25	s -	1.665545087	د د	0	
80 Woodlawn	-	105	8.3	13.0	107.9	1	1.452220727	1	200	
80 Woodlawn		106	8.3	13	107.9		1.452220727		oic	
80 Woodlawn	1	107	8.3	13	107.9		1.452220727	1	0	
80 Woodlawn	2	201	12	12.5	150	ω	2.01884253	2	-1	
80 Woodlawn	N	202	12	12.5	150	4	2.01884253	2	-2	
80 Woodlawn	2	203	12	12.5	150	3	2.01884253	2	-1	
80 Woodlawn	2 22	204	12	12.5	150	o Cu	2.01884253	2	1.1	
N Woodlawn	2 ^	202		10.0	150	s c.	2.01884253	2	-1	
80 Woodlawn	2 1	205	0 2	12.5	110	ن ۵	2.01884253	- 12		
80 Woodlawn	2	208	8.7	11.4	99.18	•	1.334858681		0.0	
80 Woodlawn	2	209	8.7	11.4	99.18	_	1.334858681	_	0	
80 Woodlawn	2	210	8.7	11.4	99.18		1.334858681	-	0	1000
80 Woodlawn	2	212	8.6	15.6	134.16	1	1.805652759		0	
80 Woodlawn	> k	214	20.0	12.5	111 25		1.805052759		000	
80 Woodlawn	2	215	8.9	125	111 25		1 49730821	-	0 0	
80 Woodlawn	2	216	8.9	12.5	111.25		1.49730821		0	
80 Woodlawn	2	217	8.9	12.5	111.25	1	1.49730821		0	
80 Woodlawn	2	218	8.9	12.5	111.25		1.49730821		0	
80 Woodlawn	2	219	8.9	12.5	111.25		1.49730821	1	0	
80 Woodlawn	3 N	220	8.9	12.5	111.25	1	1.49730821		0	
80 Woodlawn	2 2	222), o	12.5	111.25	4	1.49/30821		0	
80 Woodlawn	2	223	8.9	12.5	111.25	<u>.</u>	1 49730821	-	0 0	
80 Woodlawn	2	224	8.9	12.5	111.25		1.49730821	-2	0	
80 Woodlawn	2	225	8.9	12.5	111.25	1	1.49730821	1	0	
80 Woodlawn	2	226	12.7	9	114.3	1	1.538358008		0	
80 Woodlawn	0 0	227	12.7	9	114.3	-	1.538358008	_	0	
80 Woodlawn	0 1	228	12.7	0 6	114.3		1.538358008		00	
80 Woodlawn	2	230	12.7	<u>ه</u> ون	114.3	_	1 538358008	-	00	
80 Woodlawn	2	231	12.7	9 9	114.3		1 538358008			
80 Woodlawn	2	234	12.7	13.1	166.37	ω.	2.239165545	2	4	
80 Woodlawn	2	235	12.7	7	88.9	1	1.196500673		0	
80 Woodlawn	2	236	12.7	7	88.9	1	1.196500673		0	
80 Woodlawn	2	237	12.7	10	127	3	1.709286676	1	-2	
389 Church	2	201A	12.1	œ	8.36	1	1.30282638	1	0	
389 Church	2	201B	12.1	8.1	98.01	1	1.319111709	1	0	
389 Church	2	201C	12.1	8.1	98.01	Account to the second	1.319111709	The second secon	0	
389 Church	2	201D	12.1	8.1	98.01		1.319111709	_	0	
389 Church	2 2	201E	20.5	8.7	178,35	2	2.400403769	2	0	
389 Church	2 2	202A	12.1	0.00	98.01		1.319111709		0	
389 Church	2	202C	12.1	8.1	98.01	_	1.319111709		9 0	
	3	202D		00	98.01		1.319111709		0 0	

2808 Dundas	2808 Dundas	2808 Dundas	2808 Dundas	2000 Dundas	2000 Duildas	2000 Duildas	2000 Dandas	2808 Dundas	Zooo Duriuas	2000 Duindas	2000 Dundas	SOC Dandas	2808 Dundas	3410 Bayview	3410 Баууны	3410 bayview	3410 Dayriow	3410 Rawiew	3410 Bawiew	3410 Bayview	3410 Bawiew	3410 Bayview	3410 Bayview	3410 Bayview	3410 Bayview	3410 Bayview	3410 Bayview	3410 Bayview	3410 Bayview	3410 Bayview	3410 Bayview	3410 Bayview	389 Church	389 Church	389 Church	389 Church	389 Church	389 Church	389 Church	389 Church	389 Church	389 Church																			
3	3	ယ	ω	, (۵ د	3	.	N C) در	ω	3	3	N	2	N	N	N		2) [2 1) II	2	2	2	2	2	N	2	N N		3	3 1	2	2		1	1	1			1	1	1	1	1	B-South	B-South	B-South	B-South	B-South	B-South	2	2	2	2	2	2	2	2	2	2
315	314	313	312	311	300	300	307	205	305	304	303	302	212	211	210	207	206	200	205	202	202	200	#19	81#	#17	#16	#15	#14	#13	#12	==-	#11	#10	巷	#29	#22	#20	***	#7	ま	#5	*	#3	#2	#1	#23	#26	#28	#24	#25	#27	204E	204D	204C	204B	204A	203D	203C	203B	203A	202E
10.583	10.917	10.583	10.833	23.3	0.917	9.000	0.22	10.75	10.5		10.583	21.25	22	15.5	23.5	9.16/	07.01	10.0	ion -	10.000	10.502	2125	11.33	11.33	11.33	11.33	11.33	11.33	11.33	11.33	44.33	11 22	1133	11.33	3.83	12.33	15.42	11.42	11.42	11.42	11.42	11.42	11.42	11.42	11.42	12.42	12.42	11.67	12.83	8.25	11.67	12	12	12	12	12	11.9	11.9	11.9	11.9	20.5
15.5	15.5	15.5	15.5	10.0	0.70	10.75	16.75	16.75	16.75	16.75	16.75	16.75	16	10,75	15.5	18	16.75	10.75	16.75	16.75	16.75	16.75	15.92	15.92	15.92	15.92	15.92	15.92	15.92	78.01	15.02	15.02	15.92	15.92	10.33	16.42	16.5	15.58	15.58	5.58	15.58	15.58	15.58	15.58	15.58	14.33	14.33	15	14.42	14.08	15	14.7	8.1	1.8	8.1	œ	10.7	8-1	8.1	6.1	8.7
164.0365	169.2135	164.0365	167.9115	364.25	264.057.0	130.32775	456 22775	180 0625	175 875	184 25	177.26525	355.9375	352	166.625	364.25	1/4.1/3	6290.081	173.073	175 075	404 25	177 06506	355 9375	180.3736	180.3736	180.3736	180.3736	180.3736	180.3736	180.3736	100.3730	3525.001	180 2726	180 3736	180.3736	142 8639	202.4586	254.43	177.9236	177.9236	177.9236	177 9236	177.9236	177.9236	177.9236	177.9236	177.9786	177.9786	175.05	185.0086	116.16	175.05	176.4	97.2	97.2	97.2	97.2	127.33	96.39	96.39	72.59	178.35
2	ယ	2	ω	O			2	S 1	3	2	2	თ	Ch	ω	5	2	2	2 1	3 0	3 1	3 0	יות.	_		1	1	_	The second secon					_	_		-	2			_	-	1				1		2	1		Section of the second	2	_	1	_		2	1	_	_	2
2.207759085	2.27743607	2.207759085	2.259912517	4.902422611	7.0000000	2.104007402	2 104007402	2 423452221	236700267	2.479811575	2.385804172	4.790545087	4.737550471	2.242597577		2.344185734	2.423452221	2.307092007	2.36700267	2.303004172	2 395904172	4 790545087	2.4276393	2.4276393	2.4276393	2.4276393	2,4276393	2.42/6393	2.4276393	2.42/0383	2.4270393	2 4276303	2 4276393	2.4276393	1 922798116	2.724880215	3.4243607	2.394664872	2.394664872		2.394664872	2.3946648 7 2	2.394664872	2.394664872	2.394664872	2.395405114	2.395405114	2.355989233	2.490021534	1.563391655	2,355989233	2.374158816	1.30820996	1.30820996	1.30820996	1.30820996	1.713728129	1.29730821	1.29730821	0.976985195	2.400403769
2	2	2	2	4	7		3 1	2	3 1	2	2	4	4	2	4	2	2	2	2 1	3 2	4 د	4	2	2	2	2	2	2	2		2 1	1 0	2	2		2	ယ	2	2	2	2	2	2	2	2	2	2	2	2	1	2	2	1	-			>			0	2
0	1001 10-40 1020	0		2	0	71 172 171	-		0	0	0	-1	-	-1		0	0	000	t.											The state of the s					0															0			0	0	0	0	-1	0	0		0
>	0	1	0	C	-					-1	_1	0	0	0	0		1			0 -	<u> </u>					1						-				-		_									1	-	Construction of the second	1	The second secon				_	1	0	_	-	0	1
0		0		C						-	0	0	0			0	0			10			0	0	0	0	0	0	0	0 0			0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0

.

674 Dundas	6/4 Dundas	6/4 Dundas	0/4 Dulldas	674 Dundos	674 Dundas	674 Dundas	674 Dundas	0/4 Duildas	674 Dundes	674 Dundas	674 Dundas	674 Dundas	702 Kennedy	702 Kennedy	702 Kennedy	/UZ Kennedy	702 Net illedy	702 Konnody	702 Kennedy	702 Nerritedy	702 Konnady	702 Kennedy	700 Kennedy	702 Kennedy	732 Queen	732 Queen	1322 Bloor	1322 Bloor	1322 Bloor	1322 Bloor	1322 Bloor	1322 Bloor	2808 Dundas	2808 Dungas																												
3	3	ω	ယ	w	3	C.	ن	2	٥	2	N	2	7	2	3	2	2	2	2	2	2	7	3 1	3	2	2	2	2	7	2	2 1	3 1	2	2	2	2	2	2	2	2	000	8		1	သ	3	ω	2	2	2	4	4	4	4	4	4	4	4	4	4	4	C
308	307	306	305	304	303	302	301	200	300	207	206	205	204	202	202	202	201	E9	E8	E7	E6	L. 2	n 4	П []	E 3	E2	П.	WH2	VI I	AA I O	CAAA	14/0	W/A	W7	W.S	Wn	W/A	Wa	W2	W1	L15	6	105	102	307	302	301	207	202	201	414	413	412	411	410	407	406	405	404	403	402	310
15.333	15.333	15.25	15.25	15.25	15.25	9.583	9.583	14.91/	44047	14 917	14.917	14.917	14.91/	1000	270	9 417	9.417	12.8	11.9	7.8	7.7	1.1	1.1	77	7.7	13	13.8	14.1	11.8	71	12.1	1.0	76	76	7.8	76	7.8	78	17.7	16	40	22.1	16.7	49.3	42	11.5	7.6	42	11.5	7.6	10.583	10.917	10.583	10.833	15.5	18,667	10.75	10.5	11	10.583	21.25	10.317
9.583	9.25	9.333	9.417	9.417	9.75	15.583	15.583	9.333	0.41	9 4 1 7	9.417	9.333	9.333	9.060	0 500	14 833	14.833	19	13,7	13.7	13.7	13./	10.7	127	13.7	13.7	13.7	13.9	13.9		13.1	10.1	10.	15.1	3 A	15.	13.1	131	13.1	17.8	31.8	15.1	40.4	40	13	8,5	12	11	8.5	10	15.5	15.5	15.5	15.5	9.833	16.75	16.75	16.75	16.75	16.75	16.75	100
146.936139	141.83025	142.32825	143.60925	143.60925	148.6875	149.331889	149.331889	139,220361	120.00000	140 473389	140.473389	139.220361	139.220361	143./43	142 745	130 682361	139.682361	243.2	163.03	106.86	105.49	105.49	105.49	105.49	105.49	178.1	189.06	195.99	164.02	204	100.//	114.70	111.76	114.76	117.79	114.76	102:10	103 19	231.87	284.8	1272	333 71	674.68	1972	546	97.75	91.2	462	97.75	76	164,0365	169.2135	164,0365	167.9115	152.4115	312.67225	180.0625	175.875	184.25	177.26525	355.9375	109.21.33
2	ယ	ယ	3	ယ	ω	ω	ယ	2	, c	ı.	ω	ယ	C	C	٥	2	ω	O	4	2	2	2				4	2	2	2	2		-		_		1	J N	J 1	4	4	22	00	17	45	11	2	2	11	2	2	ယ	ω	ယ	ω	ယ	On I	2	2	2	ω	හා	د
1.977606178	1.908886272	1.915588829	1.932829744	1.932829744	2.001177658	2.009850458	2.009850458	1.873759906	140420080.1	1 80063/13/7	1.890624347	1.873759906	1.873759906	1.934050797	1.02.0307.041	1 870077041	1 879977941	3.273216689	2.194212651	1.438223419	1.419784657	1.419784657	1.419/8465/	1.419704007	1 410784657	2.397039031	2.544549125	2.63781965	2.207537012	2./45625841	2.231090175	1.044049120	1 544540405	1 544540135	1 505105155	1 644640436	1 275225522	4 275225522	3 120726783	3.833109017	17 11978466	4.491386272	9.080484522	26.5410498	7.34858681	1.315612382	1.227456258	6.218034993	1.315612382	1.022880215	2.207759085	2.27743607	2.207759085	2.259912517	2.051298789	4,208240242	2.423452221	2.367092867	2.479811575	2.385804172	4.790545087	100c+117.7
		3		1	2	2	2				-3	1						ω	2	1		1			4	2	2	2	2	2	2					-		١	w 0		17	4	9	26	7			6	_		2	2	2	2	2	4	2	2	2	2	4	^
-4	-2	-2	-2	-2		11	-1		7-	011	-2	-2	-2	-2	7.	0 6	2	-3	-2		-4		-	0		.2	0	0	0	0	0	0										-4	20	-19	-4			5	4	-1	4	-	<u>.</u>	٠	4	1.	0	0	0			
0	0	0	0	0	0	0	0	0	C		0	0	0	0				0	0	0	0	0	0		1	0															0		0	0	0	0	0	0	0	0	0	0	0	0	0	0	1				O	_
0		0	0	0	0	0	0	0	0		0	0	0	0	0	0		اد	2	1	`	1		C		3	1	0	2	0	0	0	0						3 N	3	7	3 0	0	o	0	0	0	1	0	0			1	-> -	1		0	0		<u>.</u>	0	_

60 Newcastle	60 Newcastle	60 Newcastle	63 Bellwoods	70 Gerrard	70 Gerrard	70 Gerrard	70 Correid	70 Correct	70 Gerrard	70 Gerrard	70 Gerrard	70 Gerrard	70 Carrain	70 Gerrard	70 Compard	70 Certaid	70 Corrard	70 Correct	86 ombard	an ombard	86 Combard	86 Lombard	86 cmbard	86 Lombard	86 Lombard	86 Lombard	86 Lombard	86 Lombard	86 Lombard	86 Lombard	86 Lombard	as ombard	86 ombard	86 I ombard	674 Dundas	674 Dundas	674 Dundas	674 Dundas	674 Dundas	674 Dundas	674 Dundas	674 Dundas	674 Dundas															
1		1	သ	ယ	2	2	2	2	2	1	G.	C	S C.	3 0	3 6	ی د	0	0	2 2		3 1	3 2	2	3 0	0	S 4	2	2	2	0	2	2	2	2	2	2	2	-	-	4	4	4	1	4	4	4	4	4	4	4	4	4	ယ	3	3	ယ	ယ	ယ
1	110	2	艿	#	#7	恭	悲	艺	#3	00	309	308	30/	300	305	304	303	302	204	203	202	202	200	300	# 14	#14	200	#12 1	#12	#11	#10	#5	#50	#7	禁 5	#5	#	# 1	\$ 3	10%	100	415	411	410	400	407	406	405	404	403	402	401	314	313	312	311	310	309
14.2	6.2	14.3	16	14	7.83	13.42	9.5	12.17	10.08	13.25	14.9	6.01	10.9		10.0	18.5	13.3	16	9.1	11.0	1.0	77	4-1	4	10.42	16.43	20.22	10.05	10.67	17.40	7.67	7.33	808	11.92	9.67	10.58	25.08	7.5	17.07	14.67	13 33	20.592	14 167	20.667	10.333	15.25	15.25	15.25	15.25	15.25	9.667	9.667	111	8.333	10	10	20.667	15
13.2	8.8	18.8	11	8.67	13.83	9.92	10	13.67	10.17	12.67	11.7	10.9	11.1	0.1	2.0	8.2	9.7	1.1	8.8	14.0	10.9	11.5	1.0	10.0	10.3	100	47	7.75	925	44	15.67	14.83	15.75	200	115	14.75	17.25	7.5	6.75	10.33	200	21.75	10 222	2 c	9.5	9.333	9.417	9.417	9.417	9.75	15.5	15.583	19.75	19.583	21.583	21,583	12	9.167
187.44	54.56	268.84	176	121.38	108.2889	133.1264	95	166.3639	102.5136	167.8775	174.33	118.81	120.99	89.1	26.92	152.52	129.01	123.2	80.08	1/4.64	128.62	200	253	047.8	CR.017	370.03	370.61	70 4275	08 6075	101.000	120 1889	108 7039	25.76	238.4	111 205	156 055	432 63	76 27.	101.04	1212410	02 2426	273.0900	240.004	120.753	145,6635	142.32825	143.60925	143.60925	143.60925	148.6875	149.8385	150.640861	217.25	163.185139	215.83	215.83	248.004	134.452389
4	_	S)	1	1	1	1	->	2	1	2	2	2	2	2		Cu	3	2		C	2	0	n C	14		7	7	3	3 0	n C	יז נע	2	3 0	w N	٠,	4	on -	4	٥	s –	10	4 0	٥	1	2	ω	ω	ω	ω	ဒ	ω	3	4	4	4	4	σı	2
2.522745626	0.734320323	3.618304172	2.368775236	1.633647376	1.457454913	1.791741588	1.278600269	2.239083445	1.379725437	2.259454913	2.346298789	1.599057873	1.628398385	1.199192463	1.169851952	2.052759085	1.736339166	1.658142665	1.077792732	2.350471063	1./310901/5	3.405114401		8./18/0/941		2 64642278	1.00014000/	1.020004730	1 328264729	3 570004038	1 61761642	1 463040377	1 288820174	3 208613728	1 406702557	2 100336474	5 822745626	0.7620000	1 363719709	2020594449	0.025305191	3.505280094	3.33/8/3480	1.625208614	1.960477793	1.915588829	1.932829744	1.932829744	1.932829744	2.001177658	2.01666891	2.027467847	2.923956931	2.196300659	2.904845222	2,904845222	3.337873486	1.809588008
2	0	ယ	2	1		1		2	_	2	2					2			-	2		Cu	2	0	S	o C	1 -			o –				- س	1	S (л	-		3	٥	s (u	3 (4	9		-3				2	2	2	2	2	2	2	ω.	-
-2	4	-2		0	0	0	0	0	0	0	0		-1	1	0	-1	-2	-	0	-1	-	-2	-	-6	-4	The second second	-1		3 6	2.	5		0		4 6	3	1			0	2-	, -	7.		-2	-2	-2	-2	-2	-4			-2	-2	-2	-2	.2	
0	0	0		1		_		1	>	1		0	0	0		0	0	0		0	0	0	0	0	0	7	0	0 0	0 0				> -									C		0	0	0	0	0	0	0	0	0	0	0	0	0	0	D
0	0		0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0		0		0		0		0		0									0 0	0 0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5

126 Pape	126 Pape	275A Broadview	275A Broadview	2/5A Broadview	Z/3A Broadview	275A Broadview	275A Broadview	275A Broadview	275A Broadview	2/5A Broadview	2/5A Broadview	2/5A BroadVieW	Welverd Port	375A Brand	386 Dundas	186 Dindas	386 Dindas	386 Dundas	386 Dindas	386 Dindas	386 Dundas	386 Dundas	386 Dundas	386 Dundas	386 Dundas	386 Dundas	386 Dundas	386 Dundas	386 Dundas	386 Dundas	386 Dundas	200 Dundas	386 Dindas	200 Duiluas	386 Dundas	386 Dundas	386 Dundas	386 Dindas	386 Dundas	60 Newcastle																				
G	G	ယ	ω	C	2	2	2	2	2	2	2	2	_	A ()	ى د	ی در		ى د	n c	ه در	ω	ယ	ω	ω	ω	2	2	2	2	2	2	2	3 ^		2	2 1	2	2 1	2	•						-		00	8	œ	œ	8	æ	2	2	2	2	2	2	2
103	101	306	305	304	208	207	206	205	204	203	202	207	COI	32	33 6	22 4	34	250	38	37	16	15	14	13	12	25	26	27	28	29	30	30	2	10	10	0 0	00	» -	7	104	21	22	23	24	On .	7	6	17	18	19	20	2		11	8	7	6	ഗ	4	ω
9.67	15.25	14.42	16.75	13.67	18.75	14.67	15.33	9	19.25	14.33	13.67	12.33	15.08	9	0.0	1.7	40.7	9.0	0.2	0.0	93	7.2	7.8	8.4	8.4	11.6	15.4	11.2	11.3	11.3	11.3	11.3	12.4	4	0	9.0	0.3	70	70	105	73	7.3	7.3	73	10.5	10.5	10.5	7.7	7	6.9	7	7.8	7.8	7.7	12	11.5	15.1	14.5	16	18.6
7.92	13.08	8.83	9.17	12.25	12	13.67	14	12	12.25	12.58	7.58	13.67	14	O.	-1.0	4,-		7.0	3.5	0	71	10	12.9	12	14	10	7	9	7.3	7.3	7.3	1.3	70.5	c.ui	10.0	10.0	1 4 A	11.0	10.0	12.5	112	112	112	10.5	10.7	9.4	9	10	10	10	10	10	10	80	10.9	9.3	10.8	1	10.5	10 1
76.5864	199.47	127.3286	153.5975	167.4575	225	200.5389	214.62	108	235.8125	180.2714	103.6186	168.5511	211.12	00	31.10	10.07	445.57	70.00	03.7	83.7	66.03	72	100.62	100.8	117.6	116	107.8	100.8	82.49	82.49	82.49	82.49	130.2	94.5	94.5	10.23	110.0	31.04	04.64	156.25	81 76	8176	81.76	76.65	112 35	98.7	94.5	77	70	69	70	78	78	61.6	130.8	106.95	163.08	188.5	168	187.86
1	2	2	ω	ω	CTI	4	5	2	6	4	1	4	. Cu								1		_	1	1	1	_	COO SEELS TO THE SEELS	_		_	1										-		-		*				-		_		_	4	4	6	6	4	50
1.030772544	2.684656797	1.713709287	2.067261104	2.253802153	3.028263795	2.699043069	2.888559892	1.453566622	3.173788694	2.426263795	1.394597577	2.268520861	2.841453567	1.211305518	1.361372813	1.000400070	0.000094402	0.9512780	1.120014132	1 106511120	0.00004440	0 969044415	1 354239569	1.35666218	1.582772544	1.561238223	1.450874832	1.35666218	1.110228802	1.110228802	1.110228802	1.110228802	1.752355316	1.2/18/0/94	1.271870794	1062004001	1.488009892	1.2333/8/9/	2.102979407	2 102060060	1 100403769	1 100403760	1 100403769	1 031638533	1 512113055	1 328308385	1 271870794	1 036339166	0.942126514	0.928667564	0.942126514	1.049798116	1.049798116	0.829071332	1.760430686	1.439434724	2 194885599	2.537012113	2.261103634	2 52828385
	2	1	2	2	ယ	2	2	1	3	2		2	2									5	-		,	1	_												7	3 -		4				-		-	0	0	0	_		0			2	2	3	2
0	0		-1	-1	-2	-,2	-3		-3	-2	0	-2		0	0	0	The second second		O THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN			1	0	0	0	0	0	0	0	0	0	0	0	0	0			0								0 0	0.0	0	-		-	0	0	1.2	-3	د	4	-4	3	
1		0	0	0	0	0	0	0	0	0		0	0										1				1					Married Marrie	_													4		1	0	0	0			0	0	0	0	0		0
0	0	0	0	0	0	0		0		1	0		0	0	0	0			0				0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0		0 0										0	0	0	0	0	2	2	ی در	W P	3 0	۵

126 Pape 126 Pape	126 Pape	126 Pape	126 Pape	126 Pape	126 Pape	126 Pape	87 Pembroke	87 Pembroke	87 Pembroke	87 Pembroke	87 Pembroke	87 Pembroke	87 Pembroke	87 Pembroke	87 Pembroke	87 Pembroke	37 Pembroke	87 Pembroke
ଦ ଦ	ଜ	2	2	2	2	2		-	1	2	2	2	2	2	2	2	2	2
104 105	109	201	202	205	207	208	9	7	22		2	ω	4	ഗ	00	9	10	11
10.83 10.83	10.92	17.66	12.17	12.92	13,92	24.42	15	15	14.8	16	12.8	9	11.7	14.5	10.8	11.4	17.7	12
10.16 9.25	6.58	13.92	5.67	10.17	10.17	17.42	9	88	32.8	15.2	15.4	6.9	14.8	14.6	11.5	9.9	13.7	16.7
110.0328 100.1775	71.8536	245.8272	69.0039	131,3964	141.5664	425.3964	135	132	485.44	243.2	197.12	62.1	173.16	211.7	124.2	112.86	242.49	200.4
2		4		2	2	4	2	4	2	7	5	1	5	6	3	3	6	6
1.480925976	0.967074024	3.308576043	0.928720054	1.768457604	1,905335128	5.725388964	1.816958277	1.776581427	6.533512786	3.273216689	2.653028264	0.835800808	2.330551817	2.849259758	1.671601615	1.51897712	3.263660834	2.69717362
1	0	ယ	0	-		5	1		O	3	2	0	2	2			3	2
		1		1			1	ů.	The second second	4	ė.	4	-3	-4	-2	-2	-3	-4
0	0	0	0	0	0	-	0	0	1	0	0	0	0	0	0	0	0	0
0 4	0	_	0	_	0	0	0	_	0	ω	ယ	0	2	2	1		2	ω

APPENDIX E

	7 Vanauley	7 Vanautey	7 Vanauley	Site																
	N	N	23	Ŋ	Ŋ	Ŋ	Ŋ	N	N	N	Ŋ	12	N	N	2	Ŋ	N	N	2	Floor
	221	220	219	218	217	216	215	214	213	211	210	208	207	206	205	204	203	202	201	Room Length of
	7.60	10.00	10.10	10.00	10.10	10.10	10.00	14.50	10.30	9.90	12.70	10.10	9.11	9.11	9.11	10.10	9.11	10.10	12.40	Room Length of Bedroom/ Sleeping area. Width of Bedroom/ Sleeping area. # (ft)
	12.50	14.50	14.50	14.50	14.50	14.50	14.50	8.11	14.50	14.50	11.40	14.30	14.30	14.30	14.30	14.30	14.30	13.40	10.00	i of Bedroom/ Steeping area (ft)
2608 417	95.00	145.00	146.45	145.00	146.45	146.45	145.00	132.10	149.35	143.55	144.78	144.43	130.27	130.27	130.27	144.43	130.27	135.34	124.00	Total Area
	1.28	1.95	1.97	1.95	1.97	1.97	1.95	1.78	2.01	1.93	1.95	1.94	1.75	1.75	1.75	1.94	1.75	1.82	1.67	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
		-		_	_	_		_	2	-		_	_				_	_	_	Required # of Clients For Bodroom or Steeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
	0.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	0.00	-3.00	-5.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
	1.00	FALSE	1.00	FALSE	Interpretatio in (Meets 74.3)															
	-	N	2	2	2	Ŋ	23	N	N	4	6	23	23	N	N	N	2	N	2	Actual Occupancy
	0	<u> </u>	<u></u>	_	_		_	_	_	2	ω	-	_	0	0	0	0	_	0	# Bunk Beds

Site	Flo	or floo	Lungth of Bedroom/ Steeping area (ft)	Width of Bedroom/ Sleeping area (II)	Total Area	Required # of Clients Fer Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq it of Personal Space [Rounded DOWN]	Deita: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]	Interpretation (Needs 74.3)	Actual Occupancy	≠ Bunk Beds
20 Gerrard St E	2	A208	16.6	8.2	136.12	1.83	1	1.00	FALCE		
20 Gerrard St E	2	A209	8.1	16.6	134.46	1.81	1	-1.00 -1.00	FALSE FALSE	2	1
20 Gerrard St E	2	A210	9.9	16.6	164.34	2.21	2	0.00	1.00	2 2	1
20 Gerrard St E	2		9.5	13.4	127.30	1.71	1	-1.00	FALSE	2	1
20 Gerrard St E 20 Gerrard St E	2		8.11	13,4	108,67	1.46	1	-1.00	FALSE	2	1
20 Gerrard St E	2 2		8.7	13.4	116.58	1.57	1	-1.00	FALSE	2	1
20 Gerrard St E	2		8.9 8.9	13.4	119.26	1.61	1	-1.00	FALSE	2	1
20 Gerrard St E	2		10.1	13.4 13.4	119.26	1.61	1	-1.00	FALSE	2	1
20 Gerrard St E	2		8.8	13.4	135,34 117,92	1.82	1	-1.00	FALSE	2	1
20 Gerrard St E	2		8.8	13.4	117.92	1.59	1	-1.00	FALSE	2	1
20 Gerrard St E	2	A222	14	12	168.00	1.59 2.26	1 2	-1.00 0.00	FALSE	2	1
20 Gerrard St E	2	A223	9.6	17.2	165.12	2.22	2	1.00	1.00 1.00	2	0
20 Gerrard St E	2	A227	9.1	18	163.80	2.20	2	0.00	1.00	1 2	0
20 Gerrard St E	2	A228	9,1	18	163.80	2.20	2	0.00	1.00	2	1 0
20 Gerrard St E	2	A244	13.4	13.11	175.67	2.36	2	-2.00	FALSE	4	2
20 Gerrard St E 20 Gerrard St E	2	A245	8.1	16.6	134.46	1,81	1	-1.00	FALSE	2	1
20 Gerrard St E	2	A246 A247	8.7	13.6	118.32	1.59	1	-1.00	FALSE	2	1
20 Gerrard St E	2	A248	8.1 16.6	16.6	134.46	1.81	1	-1.00	FALSE	2	1
20 Gerrard St E	3	A303	8.7	9.9 16.6	164.34	2.21	2	0.00	1.00	2	1
20 Gerrard St E	3	A304	8.1	16.6	144.42 134.46	1.94	1	0.00	1.00	1	0
20 Gerrard St E	3	A305	9.9	16.6	164.34	1,81 2.21	1	0.00	1.00	1	0
20 Gerrard St E	3	A306	9.5	13.4	127.30	1.71	2 1	1.00 0.00	1.00	1	0
20 Gerrard St E	3	A307	8.1	13.4	108.54	1.46	1	0.00	1.00 1.00	1	0
20 Gerrard St E	3	A309	8.7	13,3	115.71	1.56	1	0.00	1.00	1	0
20 Gerrard St E	3	A310	8.8	13,3	117.04	1.58	1	0.00	1.00	1	0 0
20 Gerrard St E	3	A311	12,4	13.3	164.92	2.22	2	0.00	1.00	2	0
20 Gerrard St E 20 Gerrard St E	3	A312	10.1	13.3	134,33	1.81	1	0.00	1.00	1	0
20 Gerrard St E	3	A313 A314	9 10.7	13.3	119.70	1.61	1	-1.00	FALSE	2	1
20 Gerrard St E	3	A318	11.2	13,3 17	142.31	1.92	1	-1.00	FALSE	2	1
20 Gerrard St E	3	A319	8.5	17	190.40 144.50	2.56	2	1.00	1.00	1	0
20 Gerrard St E	3	A320	9.3	17	158.10	1.94	1	0.00	1.00	1	0
20 Gerrard St E	3	A321	9.11	17	154.87	2.13 2.08	2	1.00	1.00	1	0
20 Gerrard St E	3	A322	8.11	17	137.87	1.86	1	1.00 0.00	1.00 1.00	1	0
20 Gerrard St E	3	A324	11,3	16.4	185.32	2.49	2	1.00	1.00	1 1	0
20 Gerrard St E	3	A325	9.1	18	163.80	2.20	2	1.00	1.00	1	0 0
20 Gerrard St E	3	A326	9	18	162.00	2.18	2	1.00	1.00	1	0
20 Gerrard St E 20 Gerrard St E	3 3	A327	11.7	18	210.60	2.83	2	0.00	1.00	2	0
20 Gerrard St E	3	A331 A332	9.11 13.1	14.3	130.27	1.75	1	-1.00	FALSE	2	0
20 Gerrard St E	3	A333	12.5	17.11 17.11	224.14	3.02	3	1.00	1.00	2	0
20 Gerrard St E	3	A334	17.7	13.2	213.88 233.64	2.88	2	-1.00	FALSE	3	1
20 Gerrard St E	3	A335	13.2	8.7	114.84	3,14 1,55	3	2.00	1.00	1	0
20 Gerrard St E	3	A336	8.8	13.2	116.16	1.56	1	0.00	1.00	1	0
20 Gerrard St E	3	A337	7	13.2	92.40	1.24	i	0.00	1.00 1.00	1	0
20 Gerrard St E	3	A338	9.9	15.6	154,44	2.08	2	1.00	1.00	1 1	0
20 Gerrard St E	3	A339	8.1	15.6	126.36	1.70	1	0.00	1.00	1	0 0
20 Gerrard St E 20 Gerrard St E	3	A340	8.7	15.6	135,72	1.83	1	0.00	1.00	1	0
20 Gerrard St E	3	A341	8.1	15.6	126.36	1.70	1	0.00	1.00	1	0
20 Gernard St E	3	A342 A343	13.4	13.11	175.67	2.36	2	0.00	1.00	2	0
20 Gerrard St E	3	A344	11.11 12.1	16.7 16.7	185.54	2.50	2	0.00	1.00	2	0
20 Gerrard St E	3	A345	15.5	16.7 16.7	202.07	2.72	2	0.00	1.00	2	0
20 Gerrard St €		A346	11.6	16.7	258.85 193.72	3.48	3	1.00	1.00	2	0
1953			10%		130.12	2.61	2	0.00	1.00	2	0
					8449.738						

21 ~	2 ! 2 :	21	21 >	21 N	21 N	21 N	21 1	21 N	21 N	21 1	21 N	21 1	21 N	21 1	21 1	21	21 1	21 1	21	211	21	21 1	21	21.	21	21	21	Sile
21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	McGill	McGill	McGill	McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill					
1 4	. 4	4	4	4	4	4	4	4	4	ω	ယ	ယ	ယ	ω	ć	ω	ω	ယ	ω	ω	ယ	ω	ω	ယ	ω	ω	ω	Floor
B410	B400	B408	B407	B406	B405	B404	B403	B402	B401	B328	B327	B326	B315	B314	B313	B312	B311	B310	B309	B308	B307	B 306	B305	B304	B303	B302	B301	Floor Room #
9.7	0 0	DO 9	9	9.6	6	9.11	9.11	9.11	14.3	10.4	14.4	14.4	10.5	9,6	8.3	9.7	9.6	10.1	10.6	9.11	9.11	12.1	10.1	10.5	10.5	10.5	11.11	Length of Width of Bedroom/ Bedroom/ Sleeping Sleeping area (t)
14.11	14.1	14 11	14 11	14.11	18.5	16	16	1 6	6	14.4	10.2	9.11	14.8	14.8	14.8	14.8	14.8	18.3	15.2	15.2	15.2	15.2	15.2	15.2	15.2	15.2	15.2	Width of Bedroem/ Sleeping area (ft)
136.87	130.60	125.58	139.69	135.46	185.00	145.76	145.76	145.76	228.80	149.76	146.88	131.18	155.40	142.08	122.84	143.56	142.08	184.83	161.12	138.47	138.47	183.92	153.52	159.60	159.60	159.60	168.87	Total Area
1.84	1 00	160	1 R	1.82	2.49	1.96	1.96	1.96	3.08	2.02	1.98	1.77	2.09	1.91	1.65	1.93	1.91	2.49	2.17	1.86	1.86	2.48	2.07	2.15	2.15	2.15	2.27	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
<u> </u>	-	- -	٠.	_	N	_	_	_	ယ	2	_	_	2	_	->	_	_	2	N	_	_	Ν	8	2	N	Ν	2	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
0.00	0.00	0.00	000	0.00	1.00	0.00	0.00	0.00	2.00	1.00	0.00	0.00	1.00	0.00	0.00	0.00	0.00	1.00	1.00	0.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
1.00	• 6 6	3 :	1 :00	100	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	Interpretatio n (Meets 74.3)
- -	<u>ئ</u> ے ک	. _	. _	ዹ .	- .	_	-	<u> </u>	<u> </u>	- ->	<u> </u>	<u> </u>	<u> </u>	-	_	_	-	_	_	-	_	-3	-	<u>.</u>	_	_	-1	Actual Occupancy
00	o c	,	,	0	- (o	0	0	0	0	0	0	0	0	0	0	0	0	0	0	o :	0	0	0 1	0	0	0	#Bunk Beds

21 Walmer 21 Walmer 21 Walmer 21 Walmer 21 Walmer	21 Walmer	21 Walmer	Sign
00000	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	<mark>െ</mark> ഒരെ ഒരെ ഒര	Floor
304 305 306 307 308	105 108 201 202 203 203 204 208 209 209 301 302	100 100 100 100 100 100 100 100 100 100	Floor Room #
11.1 12.8 11.7 16.11 10.8	12.5 13.8 12.4 12.3 11.4 9.8 15.4 13.4	10.6 8.7 10.9 11.2 23.4 10.1 10 12.11	Length of Bedroom/ Sleeping area (ft)
12.1 14.6 11.2 15.4	12.6 9.7 13.11 9.9 11.1 12.3 19.8 12.11 8.3 9.4	8.6 10 9.6 9.7 9.4 10.11 11.11 8.3	Width of Bedroon/ Sleeping area (ft)
134.31 186.88 131.04 180.43 166.32	157.50 114.46 180.92 122.76 136.53 140.22 194.04 148.95 127.82 167.50	91.16 87.00 104.64 108.64 219.96 102.11 111.10 100.51	Total Area
1.81 2.52 1.76 2.43 2.24	2.12 1.54 2.43 1.65 1.89 2.61 2.00 1.72 1.68	1.23 1.17 1.41 1.46 2.96 1.37 1.50 1.35	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
N N → N → I	v v v v v	<u>6</u> N	Required # of Clients Per Bedroom or Steeping area to Comply with 74.3 sq ft of Personal Space {Rounded DOWN]
1.00	1.00 0.00 0.00 0.00 1.00 0.00	0.00 0.00 0.00 1.00 0.00 0.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
1.00	1.00 1.00 1.00 1.00 1.00	1.00 1.00 1.00 1.00	Interpretatio n (Meets 74.3)
			Actual Occupancy
00000		00000000	# Bunk Beds

25 Canterbury	Site 25 Canterbury 25 Canterbury 25 Canterbury	
N N N N N N N N N A A A A A A A A A A A	Floor	
118 119 121 201 202 210 211 212 213 214 215 216 217	Floor Room 1 107 1 108 1 117	
10.3 10.3 9.3 9.3 9.1 9.1 9.1 9.1 9.1	Length of Bedroom/ Sleeping area (ft)	
9.2 9.2 9.1 8.1 9.4 9.7 9.7 9.7 9.7 9.7 9.7	Width of Bedroom/ Sleeping area (ft) 8.8	
90.64 90.64 90.64 55.20 84.63 75.33 85.54 88.27 88.27 88.27 88.27 88.27 88.27 88.27 88.27 88.27 88.27	Total Area 83.60 93.00 90.64	
1.22 1.22 1.22 0.74 1.14 1.15 1.19 1.19 1.19 1.19 1.19 1.19 1.19	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded] 1.13 1.25 1.22	
	Required # of Clients Per Bedroom or Steeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]	
-1.00 -1.00 -1.00 -1.00 -1.00 -1.00 -1.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded] -1.00 -1.00 -1.00	
FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE	Interpretation (Meets 74.3) FALSE FALSE	
N N N N N N N N N N N N N N N N N N N	Occi	
000000000000	# Bunk Beds	

						Required # of Clients Per Bedroom to	Required # of Clients Per Bedroom or Sieeping	Deita: 74.3 (=>û equais compliance				
Site	Floc	Room #	Bedroom/	Width of Bedroom Sleeping area (ft)	Totai Area	Comply with 74.3 sq ft of Personal Space	area to		Interpretatio n (Meets 74.3)	Actual Occupancy	≓ Bunk Beds	
						inot roundedj	[Rounded DOWN]	[Rounded]				
60 Brant	1	109	8.3	13,1	108.73	1.46	1	0.00	1.00	1	0	
60 Brant	1	115	12.9	8.1	104.49	1.41	1	0.00	1.00	1	0	
60 Brant	1	150	10.11	9.8	99.08	1,33	1	0.00	1.00	1	0	
60 Brant	2	204	7.8	11.7	91.26	1.23	1	0.00	1.00	1	0	
60 Brant 60 Brant	2	205	6.4	11.9	76.16	1.03	1	0.00	1.00	1	0	
60 Brant	2	207 208	7.1	12	85.20	1,15	1	0.00	1.00	1	0	
60 Brant	2	209	6.6 7.1	15,6 11,6	102.96 82.36	1.39	1	0.00	1.00	1	0	
60 Brant	2	213	7.6	12,1	91.96	1.11	1	0.00	1.00	1	0	
60 Brant	2	214	7.6	12.3	93.48	1.24 1.26	1	0.00	1.00	1	0	
60 Brant	2	215	7.6	12.3	93.48	1.26	1	0.00	1.00 1.00	1	0	
60 Brant	2	216	7.7	15.1	116.27	1.56	1	0.00	1.00	1	0	
60 Brant	2	217	7.11	15.1	107.36	1.44	1	0.00	1.00	1	0	
60 Brant	2	220	7.1	12.4	88.04	1.18	1	0.00	1.00	1	0	
60 Brant	2	221	7.6	12.6	95.76	1.29	1	0.00	1.00	1	0	
60 Brant	2	222	7.1	12,9	91.59	1,23	1	0.00	1.00	1	0	
60 Brant	2	223	7.6	13	98.80	1.33	1	0.00	1.00	1	0	
60 Brant	2	224	7.1	13.4	95.14	1.28	1	0.00	1.00	1	0	
60 Brant	2	225	7.2	13.8	99,36	1.34	1	0.00	1.00	1	0	
60 Brant	2	227	7.11	12.1	86.03	1.16	1	0.00	1.00	1	0	
60 Brant	2	228	7.6	16.6	126.16	1.70	1	0.00	1.00	1	0	
60 Brant 60 Brant	2	238	11.4	11	125.40	1.69	1	0.00	1.00	1	0	
60 Brant	2	242	7.3	10.9	79.57	1.07	1	0.00	1.00	1	0	
60 Brant	2	243 244	10.3 6.6	7.1	73.13	0.98	0	-1.00	FALSE	1	0	
60 Brant	2	245	6.6	13.3 13.3	87.78 87.78	1.18	1	0.00	1.00	1	0	
60 Brant	2	246	6.6	13.3	87.78	1.18 1.18	1	0.00	1.00	1	0	
60 Brant	2	251	10.11	7.8	78.86	1.06	1	0.00	1.00	1	0	
60 Brant	2	252	6.9	13.3	91.77	1.24	1	0.00	1.00 1.00	1	0	
60 Brant	2	253	6.6	13.3	87.78	1.18	i	0.00	1.00	1	0	
60 Brant	2	254	6.6	13.3	87.78	1.18	1	0.00	1.00	1 1	0 0	
60 Brant	2	255	6.4	11.1	71.04	0.96	0	-1.00	FALSE	1	0	
60 Brant	2	256	7.6	13.3	101.08	1.36	1	0.00	1.00	1	0	
60 Brant	2	257	6.4	11.1	71.04	0.96	Ö	-1.00	FALSE	1	0	
60 Brant	2	259	6.4	13.3	85.12	1.15	1	0.00	1.00	1	0	
60 Brant	2	260	6.4	13.3	85.12	1.15	1	0.00	1.00	1	0	
60 Brant	2	261	6.4	13.3	85.12	1.15	1	0.00	1.00	1	0	
60 Brant	2	265	6.4	13.3	85.12	1.15	1	0.00	1.00	1	0	
60 Brant 60 Brant	2	266	6.4	13.3	85.12	1.15	1	0.00	1.00	1	0	
60 Brant	2	267 268	6.4	13.3	85.12	1.15	1	0.00	1.00	1	0	
60 Brant	2	269	6.4 6.4	13.3	85.12	1.15	1	0.00	1.00	1	0	
60 Brant	2	270	6.4	11.1 11.1	71.04 71.04	0.96	0	-1.00	FALSE	1	0	
60 Brant	2	272	6.4	13.3	85.12	0.96	0	-1.00	FALSE	1	0	
60 Brant	2	273	6.4	13.3	85.12 85.12	1.15 1.15	1	0.00	1.00	1	0	
60 Brant	2	274	6.5	13.3	86.45	1.16	1	0.00	1.00	1	0	
60 Brant	2	275	10.11	11.3	114.24	1.54	1	0.00	1.00 1.00	1	0	
60 Brant	2	277	12.5	6.11	76.38	1.03	i	0.00	1.00	1	0	
60 Brant	2	280	12.2	7.6	92.72	1.25	i	0.00	1.00	1 1	0	
60 Brant	2	281	9.1	8.7	79.17	1.07	1	0.00	1.00	1	0 0	
			_		4521 576						J	

Site	Floor	Room #	Steeping	Width of Bedroom Sleeping area (It)	Total Area	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space	Sleeping area to	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds)	Interpretation (Meets 74.3)	Actual Occupancy	# Bunk Beds	
						rnot rounded)	[Rounded DOWN]	[Rounded]				
80 Woodlawn	1	101	12,5	9.9	123.75	1.67	1	0.00	1.00	1	0	
80 Woodlawn	1	102	12.5	9.9	123.75	1.67	1	0.00	1.00	1	0	
80 Woodlawn	1	103	12.5	9.9	123.75	1.67	1	0.00	1.00	1	0	
80 Woodlawn	1	104	12.5	12.5	156.25	2.10	2	0.00	1.00	2	0	
80 Woodlawn	1	105	8.3	13	107.90	1.45	1	0.00	1.00	1	0	
80 Woodlawn	1	106	8.3	13	107.90	1.45	1	0.00	1.00	1	0	
80 Woodlawn	1	107	8.3	13	107.90	1.45	1	0.00	1.00	1	0	
80 Woodlawn	2	201	12	12.5	150.00	2.02	2	-1.00	FALSE	3	0	
80 Woodlawn	2	202	12	12.5	150.00	2.02	2	-2.00	FALSE	4	0	
80 Woodlawn	2	203	12	12.5	150.00	2.02	2	-1.00	FALSE	3	0	
80 Woodlawn	2	204	12	12.5	150.00	2.02	2	-1.00	FALSE	3	0	
80 Woodlawn	2	205	12	12.5	150.00	2.02	2	-1.00	FALSE	3	0	
80 Woodlawn	2	206	12	12.5	150.00	2.02	2	-1.00	FALSE	3	0	
80 Woodlawn	2	207	9	12.5	112.50	1.51	1	0.00	1.00	1	0	
80 Woodlawn	2	208	8.7	11.4	99,18	1.33	1	0.00	1.00	1	0	
80 Woodlawn	2	209	8.7	11.4	99.18	1.33	1	0.00	1.00	1	0	
80 Woodlawn	2	210	8.7	11.4	99.18	1.33	1	0.00	1.00	1	0	
80 Woodlawn	2	210	8.7	11.4	99.18	1.33	1	0.00	1.00	1	0	
80 Woodlawn	2	212	8.6	15.6	134.16	1.81	1	0.00	1.00	1	0	
80 Woodlawn	2	213	8.6	15.6	134.16	1.81	1	0.00	1.00	1	0	
80 Woodlawn	2	214	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn	2	215	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn	2	216	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn	2	217	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn	2	218	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn	2	219	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn	2	220	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn	2	221	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn 80 Woodlawn	2	222	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
	_	223	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn 80 Woodlawn	2	224	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn	2	225	8.9	12.5	111.25	1.50	1	0.00	1.00	1	0	
80 Woodlawn	2 2	226 227	12.7 12.7	9	114.30	1.54	1	0.00	1.00	1	0	
80 Woodlawn	2	228	12.7	9	114.30	1.54	1	0.00	1.00	1	0	
80 Woodlawn	2	229	12.7	9 9	114.30 114.30	1.54	1	0.00	1.00	1	0	
80 Woodlawn	2	230	12.7	9	114.30	1.54	1	0.00	1.00	1	0	
80 Woodlawn	2	231	12.7	9	114.30	1.54 1.54	1	0.00	1.00	1	0	
80 Woodlawn	2	234	12.7	13.1	166.37	2.24	1 2	0.00	1.00	1	0	
80 Woodlawn	2	235	12.7	7	88.90	1.20	1	-1.00 0.00	FALSE	3	0	
80 Woodlawn	2	236	12.7	7	88.90	1.20	1	0.00	1.00 1.00	1	0	
80 Woodlawn	2	237	12.7	10	127.00	1.71	1	-2.00	FALSE	1	0	
						1.71		-2.00	1 ALVE	3	0	

5020.71

95 Wellesley 95 Wellesley 95 Wellesley 95 Wellesley 95 Wellesley	Site
N N N → →	Floor
101 103 201 202 203	Room -
13.5 22.5 24.7 18.1 24.2	Length of Width of Floor # Sleeping Sleeping area (ft) area (ft)
12.1 15.2 11.4 15.3	Width of Bedroom/ Sleeping area (ft)
163.35 342.00 281.58 276.93 244.42	Total Area
2.20 4.60 3.79 3.73	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
α4ωωω	Required # of Clients Delta of Clients Per Per Bedroom or (=>0 Sleeping comply with area to Space [not rounded] [Rounded [Rounded]]
-2.00 -3.00 -6.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
FALSE FALSE FALSE	Interpretatio n (Meets 74.3)
4 7 0 0 T	Actual Occupancy
и w 4 4 c	# Bunk Beds

360 Lesmill	360 Lesmili	360 Lesmill	360 Lesmill	Site										
G	ଦ	G	ଦ	ଦ	ଦ	ଦ	G	G	ດ	G	വ	ര	ດ	Floor
132	131	130	129	128	127	126	125	118	117	116	115	114	113	
10.2	6	10	6	10	10.3	13.7	13.7	10	6	10	8.5	8.5	8.3	Length of Width of Room Bedroom/ Bedroom/ # Sleeping Sleeping area (ft) area (ft)
16	16	16	16	16	16	13.7	14	16.1	16.1	16.1	16.1	16.1	16.1	Width of Bedroom/ Sleeping area (ft)
163.20	160.00	160.00	160.00	160.00	164.80	187.69	191.80	161.00	161.00	161.00	136.85	136.85	133.63	Total Area
2.20	2.15	2.15	2.15	2.15	2.22	2.53	2.58	2.17	2.17	2.17	1.84	1.84	1.80	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
N	2	2	2	N	N	N	N	N	N	N	-3	_		Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
0.00	-1.00	-1.00	-1.00	-2.00	-2.00	-1.00	-1.00	-2.00	-2.00	-2.00	0.00	0.00	0.00	Delta: 74.3 (=>0 equals compliance or shortage in of beds) (<0 = overage of beds) [Rounded]
1.00	FALSE	1.00	1.00	1.00	Interpretatio n (Meets 74.3)									
N	ယ	ယ	ယ	4	4	ω	ω	4	4	4	_	-	-1	Actual Occupancy
0		<u> </u>	_1	2	2	0	0	2	N	2	0	0	0	# Bunk Beds

422 Gilbert	Site													
2	2	2	2	2	2	N	2	2	ν	8	2	N	2	Floor
222	221	220	213	212	211	210	209	208	207	206	203	202	201	Room
12.7	12.7	12.7	12.9	12.9	12.9	12.9	14.1	12.1	12.1	12.1	12.1	12.1	14.1	Length of Bedroom/ Sleeping area (ft)
11.4	11.4	11.4	10.11	11.2	11.2	11.2	12.1	11.2	11.2	10.11	11.4	11.4	12.1	Width of Bedroom/ Sleeping area (ft)
144.78	144.78	144.78	130.42	144.48	144.48	144.48	170.61	135.52	135.52	122.33	137.94	137.94	170.61	Total Area
1.95	1.95	1.95	1.76	1.94	1.94	1.94	2.30	1.82	1.82	1.65	1.86	1.86	2.30	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
<u>.</u>	_	_	_	_>	_	_	73	_	_	_	_	_	2	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
-3.00	-2.00	-1.00	-2.00	-2.00	-2.00	-3.00	-2.00	-3.00	-3.00	-3.00	-2.00	-2.00	-2.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
FALSE	Interpretatio n (Meets 74.3)													
4	ພ	2	ယ	ω	ω	4	4	4	4	4	ω	ယ	4	Actual Occupancy
ν.	-	0	-	-	-	N	-	N	2	2		>	_	# Bunk Beds

558 Bathurst	Site							
ယ	ယ	ယ	23	2	Ŋ	10	G	Floor
303	302	301	208	205	202	201	103	Room #
12.8	11.6	20.3	13	7.4	11.8	11.8	13.8	Length of Bedroom/ Sleeping area (ft)
11.5	12.1	13	12.1	28.8	13.1	16.7	12.8	Length of Width of Room Bedroom/ Bedroom/ # Sleeping Sleeping area (ft) area (ft)
147.20	140.36	263.90	157.30	213.12	154.58	197.06	176.64	Total Area
1.98	1.89	3.55	2.12	2.87	2.08	2.65	2.38	Required # of Clic of Clients Per Bedroom to Sleep Comply with area 74.3 sq ft of Comply Personal 74.3 sq ft of Comply Personal 76.3 sq ft of Comply Personal Foot Down Pers
<u>~</u>	_	ω	N	2	N	2	2	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
0.00	0.00	1.00	1.00	0.00	0.00	0.00	1.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	Interpretatio n (Meets 74.3)
_	→	Ŋ	_	Ŋ	Ŋ	N	>	Actual Occupancy
0	0	0	0	0	0	0	0	# Bunk Beds

1076 Pape	Site												
N	2	2	2	2	2	Ŋ	N	2	2	N	Ν	2	Floor
210	209	208	207	206	205	204	203	202	201	121	120	119	Room #
12.8	12.3	12.3	12.3	12.3	12.3	12.3	12.3	12.3	12.3	14.7	8.9	9.2	Length of Bedroom/ Sleeping area (ft)
12.9	10.1	10.1	10.1	10.1	13.2	10.5	10.5	10.5	10.5	12.1	8.1	8.1	Width of Bedroom/ Sleeping area (ft)
165.12	124.23	124.23	124.23	124.23	162.36	129.15	129.15	129.15	129.15	177.87	72.09	74.52	Total Area
2.22	1.67	1.67	1.67	1.67	2.19	1.74	1.74	1.74	1.74	2.39	0.97	1.00	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
2	_	-	_	-7	2	->	_	_	<u>~</u>	N	0	_	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
-2.00	-1.00	-3.00	-2.00	-3.00	-2.00	-2.00	-2.00	-1.00	-1.00	1.00	-1.00	0.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
FALSE	1.00	FALSE	1.00	Interpretatio n (Meets 74.3)									
4	N	4	ယ	4	4	ω	ယ	2	N	<u> </u>	_	1	Actual Occupancy
2	0	Ν.		N	2	-	_	0	0	0	0	0	# Bunk Beds

747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	s ē				
-3	-	-	_	-3	_	-	_	_	_		-3		_	-3	<u> </u>	_	<u>.</u> .	_ _ .	٠. د	.	- . .	.		٠ ـ	. .	. - 1	_	-		_	_	_	_			1 0	Floor
C64	C63	C62	C61	C60	C48	046	C24	C20	C18	C54	C53	C52	C51	C49	C47	045	C43	0.45	C36		C37	S C	C34	CSS	C32	<u> 231</u>	C19	C16	C15	C14	C13	B16	B15	B13	B11	B09	Room #
																																				200	Length of Bedroom Steeping area (ft)
																																					Width of Bedroom/ Sleeping area (ft)
154.67	1281	80.19	83.7	84.06	89.87	86.11	126.58	109.03	113.02	102.68	105.8	108.39	95.26	128.19	120.97	119.47	119.47	93.0	93.75	72.61	71.04	89,44	101.71	101.71	101.71	101.71	179.75	68.9	93.75	93.75	93.53	140.79	132 18	100.31	107,42	103.87	Total Area
2.08	100	2 :	1 10	1	2	1.16	1.70	1.47	1.52	1 38	1.42	1.46	1 28	1 73	7.61	1.61	1.61	1.26	1.26	1.07	0.96	1.20	1.37	1.37	1.37	1.37	2.42	1.20	1.26	1.26	1.26	1.89	1 78	35	1.45	1.40	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space
22 -	٠ ـ	. _	. -	- . -	.	<u>.</u> .	- . .	<u>.</u>	→ .	<u> </u>	٠.	<u>.</u> _	٠ ــــــــــــــــــــــــــــــــــــ		· 	. 🕳		0		-1	_	_	_	2	- .	- \$ -	-	-4 -	<u> </u>	.		-1 .	-	Required # of Clients Per Bedroom or Steeping area to Compty with 74.3 sq ft of Personal Space [Rounded DOVVN]
0.00	0.00	0.00	0.00	0.00	9 9	0 - 0	100	0.00	0.00	0.00	0.00	0.00	0.00	0.00	-1.00	0.00	0.00	0.00	0.00	0.00	-1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	3 8	1	1.00	3 8	1	100	Deta: 74.3 (>>0 equals compliance or shortage of beds) (=0 = average of beds) [Rounded]
1.00	1.00	1.00	1.00	3 .5	2 .	3 :	3 :	3 .	3.5	3 5	3.5	1.5	1.00	1.00	FALSE	1.00	1.00	1.00	1.00	1.00	FALSE	1.00	1.00	1.00	1.00	100	1	1.00	1	.	TALSE	TAL SE	TALSE DE	ייייייייייייייייייייייייייייייייייייי	E ALCO	EVICE	Interpretation (Meets 74.3)
2 2	<u>-</u>		_			٠ ۵) <u> </u>	له ۱	۰ -	نہ ہ	۰	· <u> </u>	_	_	2	_	-	_	_	_		_	-	-a .	- . .	<u> </u>	ა _	نه ۵	ب ،	4	N	N	N	2) N		Actual Occupancy
00	0	0	0	0	c	0					. 0	. 0	0	0	0	0	0	0	0	0	0	0	0 (o (0 9)	9 0	• •	0		0	0	0	0	o C		# Burik Hods

Court	Court	Court 6 Warrendale	Court 6 Warrendele	Court 6 Warrendale	Court 6 W mendale	Court 6 Warrendale	Court 6 Warrendale	6 Warrendale																					
N	N	N	2	N	N	N	2	23	N	N	N	2	N	Ν,	N	۵	G	~	2	N	N	N	2	N	2	N	8	G	F og
241	240	239	230	237	236	235	234	233	232	231	223	222	220	219	218	126	124	244	243	213	212	211	205	204	203	202	201	107	For front
7.80	7.80	7.80	7.80	7.70	7.00	8.90	9.11	14.90	11.20	14.20	12.10	7.70	2.80	7.90	7.90	10.70	9.11	7.10	7.80	15.10	7.70	12.10	11.20	11.20	11.30	7.90	B.50	10.50	Lingsh of Pasticomi Sheeping area (1)
18.50	18.50	16.90	16.90	14,70	14.70	11.60	11.60	11.60	10.20	14.50	11.00	11.00	11.00	11.00	11.00	9.80	B.40	14.70	14.70	10.11	B.GQ	10.11	14.50	10,90	8.60	11.60	11.60	10.70	Walte of Jesticomi Steeping area (†)
144.30	144.30	131.82	131.82	113.19	102,90	103.24	105.68	172.84	114.24	205.90	133.10	84.70	30.80	86.90	86,90	104.86	76.52	104.37	114.66	152.66	66.22	122,33	162.40	122.08	97.18	91.64	98.60	112.35	f azar Ares
Ŕ	1.94	1.77	1,77	1.52	1.38	1,39	1,42	2.33	Ž	2.77	1.79	1.14	0.41	1.17	1.17	1.41	1.03	1.40	1.54	2.05	0.89	1.65	2.19	1.64	1.31	1.23	1.33	Öı	Required and Chemic Per Bedroom is Comply with M is an it of Fersonal Space [not rounded]
-	-	-	-	_	_	-	_	N	_	N	_	_	0	_	_	-	_	_	_	2	0		N	_	_	_	-	_	Required # inf Clients Per Redom o Steriping prep to Comply with Passonal Space [Rounded
1.00	-1.00	-1.00	-1.00	0.00	-1.00	0.00	-1.00	-1.00	-1.00	-1.00	-2.00	0.00	-2.00	0.00	0.00	0.00	0.00	0.00	0.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	0.00	-1.00	-1.00	Delta: 74.3 If (=>t) uguats compliance to snotage of teds) f (=t) = overage of bests) [Flourness]
FALSE	FALSE	FALSE	FALSE	1.00	FALSE	1.00	FALSE	FALSE	FALSE	FALSE	FALSE	1.00	FALSE	1.00	1.00	1.00	1.00	1.00	. .	FALSE	FALSE	FALSE	FALSE	FALSE	FALSE	1.00	FALSE	FALSE	haterpressatu o (Aleeto 74.3)
N	N	2	N	-	2	-	N	ယ	N	ω	ш	-	N	-	-	-	-		-	3	-	N3	u	N	2	4	N	N	Actual Occur inco
0	0	-	_	0	0	0	0	0	-	0	•	0	0	0	Đ	0	0	0	0	_	0	o		0	-	0	_	-	Reserved to the second

See detailed room breakdown in site take	747 Warden	10/0 Pape	107/ 0-101	558 Bathurst	422 Gilbert	360 Lesmill	95 Wellesley	80 Woodlawn	60 Brant	25 Canterbury	21 Walmer	ZI McGill	20 berrard St E	/ Vanautey	o Warrendale Court	Sites
kdown in eito	38	ಪ		ю ;	14	14	5	42	50	17	25	28	56	19	29	Rooms Assessed
1	79%	15%	100%	1000	0%	29%	0%	81%	90%	0%	100%	100%	68%	11%	34%	% of Rooms Complying with 74.3sqft of Personal Space
	30	2	CX		5	4	0	34	45	0	25	28	38	2	10	Number of rooms currently comply
	28	ω ·	4		١	ω	0	33	50	-	25	28	25	1	11	Number of single occupancy rooms
	46	34	12	40	00	40	34	60	50	33	25	28	90	43	52	Current Capacity
	-7	-19	0	-32	3 2	<u> </u>	_19	-10	Ç,	-17	O	0	-6	-23	-21	Reduction in beds required
7	-7	-19	ယ	-32	3 2	177	10	-10	Ļ,	-17	24	ω	-6	-23	-21	Overage/shortage of beds to meet 74.3sqft
c	D ;		0	18	ā	ל כ	กี	D (5 (D (0 (o !	21	16	9	Bunk Beds @ Site

Legend

j	Does Not	Partially	Fully
	Comply	Complies	Complies
	(None of the	(At least 1	l'All
	לייסיול טו נווכ	bedroom	IMI
	pedrooms	does not	bedrooms
	comply)	non caon	comply)
	and the second second	comply)	Name and Address of the Owner, where

1 1
- 1
ı
J
- 1
Number of rooms currently comply with 74.3

Legend

÷	Does Not	Partially	Fully
<u> </u>	Comply	Complies	Complies
	(None of the	(At least 1	(All
	bedrooms	bedroom	hedroome
	comp(v)	does not	comply
	F-11	comply)	Thedreson

7 Vanauley	6 Warrendale Court	Site																																		
N	N	2	N	N	N	N	N	N	N	2	2	2	N	2	2	2	2	N	2	N	2	2	G	G	N	N	N	N	N	N	N	N	2	N	G	Floor
207	206	205	204	203	202	201	241	240	239	238	237	236	235	234	233	232	231	223	222	220	219	218	126	124	244	243	213	212	211	205	204	203	202	201	107	Room#
9.11	9.11	9.11	10.10	9.11	10.10	12.40	7.80	7.80	7.80	7.80	7.70	7.00	8.90	9.11	14.90	11.20	14.20	12.10	7.70	2.80	7.90	7.90	10.70	9.11	7.10	7.80	15.10	7.70	12.10	11.20	11.20	11.30	7.90	8.50	10.50	Length of Bedroom/ Sleeping area (ft)
14.30	14.30	14.30	14.30	14.30	13.40	10.00	18.50	18.50	16.90	16.90	14.70	14.70	11.60	11.60	11.60	10.20	14.50	11.00	11.00	11.00	11.00	11.00	9.80	8.40	14.70	14.70	10.11	8.60	10.11	14.50	10.90	8.60	11.60	11.60	10.70	Width of Bedroom/ Sleeping area (ft)
130.27	130.27	130.27	144.43	130.27	135.34	124.00	144.30	144.30	131.82	131.82	113.19	102.90	103.24	105.68	172.84	114.24	205.90	133.10	84.70	30.80	86.90	86.90	104.86	76.52	104.37	114.66	152.66	66.22	122.33	162.40	122.08	97.18	91.64	98.60	112.35	Total Area
1.75	1.75	1.75	1.94	1.75	1.82	1.67	1.94	1.94	1.77	1.77	1.52	1.38	1.39	1.42	2.33	1.54	2.77	1.79	1.14	0.41	1.17	1.17	1.41	1.03	1.40	1.54	2.05	0.89	1.65	2.19	1.64	1.31	1.23	1.33	1.51	Required # of Clients Per Bedroom to Comply with 74.3 sq ft of Personal Space [not rounded]
		_	_	_	_	>	-3	_	_	_	_	_			2	_	2	-	_	0			_	_	_	-	2	0	_	2		_	>	_	1	Required # of Clients Per Bedroom or Sleeping area to Comply with 74.3 sq ft of Personal Space [Rounded DOWN]
-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	0.00	-1.00	0.00	-1.00	-1.00	-1.00	-1.00	-2.00	0.00	-2.00	0.00	0.00	0.00	0.00	0.00	0.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	0.00	-1.00	-1.00	Delta: 74.3 (=>0 equals compliance or shortage of beds) (<0 = overage of beds) [Rounded]
0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	1.00	0.00	1.00	0.00	0.00	0.00	0.00	0.00	1.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	0.00	0.00	0.00	0.00	0.00	0.00	1.00	0.00	0.00	Interpretation (Meets 74.3)
2	2	2	N	8	N	N	N	N	N	N	_	2	-1	2	ယ	N	ယ	ω	_	N	_	-	_	_	<u> </u>	<u> </u>	ω	-	N	ω	N	N	_	2	2	Actual Occupancy # Bunk Beds
٠	0	0	0	0	_	0	0	0	→	<u></u>	0	0	0	0	0	-3	0	-	0	0	0	0	0	0	0	0		0	0		0		0	_	-	# Bunk Beds

20 Gerrard St E	7 Vanauley																																												
ω	ယ	ω	ω	ω	ဒ	ω	3	ယ	ယ	ω	ယ	ပ	3	N	N	N	12	2	N	2	2	2	N	23	N	2	2	N	N	2	8	N	2	N	2	2	2	N	Ν.	N	N	N	2	2	N
A320	A319	A318	A314	A313	A312	A311	A310	A309	A307	A306	A305	A304	A303	A248	A247	A246	A245	A244	A228	A227	A223	A222	A219	A218	A217	A216	A215	A214	A212	A211	A210	A209	A208	221	220	219	218	217	216	215	214	213	211	210	208
9.3	œ.5	11.2	10.7	9	10.1	12.4	8.8	8.7	8.1	9.5	9.9	8.1	8.7	16.6	8.1	8.7	8.1	13.4	9.1	9.1	9.6	14	8.8	8.8	10.1	8.9	8.9	8.7	8.11	9.5	9.9	8.1	16.6	7.60	10.00	10.10	10.00	10.10	10.10	10.00	14.50	10.30	9.90	12.70	10.10
17	17	17	13.3	13.3	13.3	13.3	13.3	13.3	13.4	13.4	16.6	16.6	16.6	9.9	16.6	13.6	16.6	13.11	18	18	17.2	12	13.4	13.4	13.4	13.4	13.4	13.4	13.4	13.4	16.6	16.6	8.2	12.50	14.50	14.50	14.50	14.50	14.50	14.50	9.11	14.50	14.50	11.40	14.30
158.10	144.50	190.40	142.31	119.70	134.33	164.92	117.04	115.71	108.54	127.30	164.34	134.46	144.42	164.34	134.46	118.32	134.46	175.67	163.80	163.80	165.12	168.00	117.92	117.92	135.34	119.26	119.26	116.58	108.67	127.30	164.34	134.46	136.12	95.00	145.00	146.45	145.00	146.45	146.45	145.00	132.10	149.35	143.55	144.78	144.43
2.13	1.94	2.56	1.92	1.61	1.81	2.22	1.58	1.56	1.46	1.71	2.21	1.81	1.94	2.21	1.81	1.59	1.81	2.36	2.20	2.20	2.22	2.26	1.59	1.59	1.82	1.61	1.61	1.57	1.46	1.71	2.21	1.81	1.83	1.28	1.95	1.97	1.95	1.97	1.97	1.95	1.78	2.01	1.93	1.95	1.94
2	_	2	_	_	_>	2	_	_	_		2	_		Ŋ			_	N	2	2	N	2	_		_	_	_			_	2	_	ः _	_	_	_	-3			_	_	N	_	_	_
1.00	0.00	1.00	-1.00	-1.00	0.00	0.00	0.00	0.00	0.00	0.00	1.00	0.00	0.00	0.00	-1.00	-1.00	-1.00	-2.00	0.00	0.00	1.00	0.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	0.00	-1.00	-1.00	0.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	0.00	-3.00	-5.00	-1.00
1.00	1.00	1.00	0.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	0.00	0.00	0.00	0.00	1.00	1.00	1.00	1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	1.00	0.00	0.00	1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	1.00	0.00	0.00	0.00
_	_	_	Ŋ	2	-1	2	_	-3	_	_	_	<u> </u>	_	2	2	2	2	4	N	Ŋ	<u> </u>	N	N	N	Ŋ	2	2	2	2	2	N	N	2	<u>-</u> \	N	2	N	N	N	2	2	N	4	O)	23
0	0	0	_	8	0	0	0	0	0	0	0	0	0	_	 >	_	>	2	0	_	0	0	-1	_	_	>	_	_	_	_			_	0		_	_1	_	_	_	_	->	2	ω	

21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	21 McGill	20 Gerrard St E																					
4	4	4	4	4	4	ω	ယ	ယ	ω	ယ	ω	ω	S	ω	ω	ω	ω	ω	ω	ω	ω	ယ	ယ	ω	ω	ω	ယ	ယ	ω	ω	ယ	ω	ω	ω	ယ	ω	ω	ယ	ω	ω	ω	ω	ω	ω	ω
B406	B405	B404	B403	B402	B401	B328	B327	B326	B315	B314	B313	B312	B311	B310	B309	B308	B307	B306	B305	B304	B303	B302	B301	A346	A345	A344	A343	A342	A341	A340	A339	A338	A337	A336	A335	A334	A333	A332	A331	A327	A326	A325	A324	A322	A321
9,6	1	9.11	9.11	9.11	14.3	10.4	14.4	14.4	10.5	9.6	8.3	9.7	9.6	10.1	10.6	9.11	9.11	12.1	10.1	10.5	10.5	10.5	11.11	11.6	15.5	12.1	11.11	13.4	8.1	8.7	8.1	9.9	7	8.8	13.2	17.7	12.5	13.1	9.11	11.7	9	9.1	11.3	8.11	9.11
14.11	18.5	16	16	16	16	14.4	10.2	9.11	14.8	14.8	14.8	14.8	14.8	18.3	15.2	15.2	15.2	15.2	15.2	15.2	15.2	15.2	15.2	16.7	16.7	16.7	16.7	13.11	15.6	15.6	15.6	15.6	13.2	13.2	8.7	13.2	17.11	17.11	14.3	18	18	18	16.4	17	17
135.46	185.00	145.76	145.76	145.76	228.80	149.76	146.88	131.18	155.40	142.08	122.84	143.56	142.08	184.83	161.12	138.47	138.47	183.92	153.52	159.60	159.60	159.60	168.87	193.72	258.85	202.07	185.54	175.67	126.36	135.72	126.36	154.44	92.40	116.16	114.84	233.64	213.88	224.14	130.27	210.60	162,00	163.80	185.32	137.87	154.87
1.82	2.49	1.96	1.96	1.96	3.08	2.02	1.98	1.77	2.09	1.91	1.65	1.93	1.91	2.49	2.17	1.86	1.86	2.48	2.07	2.15	2.15	2.15	2.27	2.61	3.48	2.72	2.50	2.36	1.70	1.83	1.70	2.08	1.24	1.56	1.55	3.14	2.88	3.02	1.75	2.83	2.18	2.20	2.49	1.86	2.08
->	2	_			ယ	2	_	_	2			. _	. _	2	Ν	_	_	2	2	2	2	2	2	Ŋ	ω	2	2	2	_	_	_	2		_	-	ယ	2	ယ	_	2	2	2	2	_	2
0.00	1.00	0.00	0.00	0.00	2.00	1.00	0.00	0.00	1.00	0.00	0.00	0.00	0.00	1.00	1.00	0.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	0.00	1.00	0.00	0.00	0.00	0.00	0.00	0.00	1.00	0.00	0.00	0.00	2.00	-1.00	1.00	-1.00	0.00	1.00	1.00	1.00	0.00	1.00
1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	0.00	1.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00
0 (<u>.</u>	0	0	0	<u></u>	0	<u>.</u>	1 0	<u>.</u>	<u> </u>	1	1 0	0																										2 0				1	-1	0

8.9 9.9 14.11 9.7 14.11 10.6 8.7 10 10.9 9.6 11.2 9.7 23.4 9.4 10.1 10.1 11.11 12.11 12.5 12.6 11.8 9.7 13.8 13.3 9.8 12.3 13.3 9.8 12.3 13.3 9.4 13.4 13.4 13.4 13.4 13.4 13.4 13.4 13	25 Canterbury	25 Canterbury			25 Canterbury	25 Canterbury	25 Canterbury	25 Canterbury	25 Canterbury	25 Canterbury	25 Canterbury	25 Canterbury		25 Canterbury	21 Walmer			21 Walmer		21 Walmer	21 Walmer	21 Walmer	21 Walmer	21 Walmer	21 Walmer	21 Walmer	21 McGill	21 McGill	21 McGill	21 McGill																	
8.9 14.11 125.55 1.89 9.7 14.11 136.87 1.89 9.7 14.11 136.87 1.94 10.6 8.6 91.6 1.23 8.7 10.9 104.64 1.41 11.2 9.7 108.64 1.46 23.4 9.4 219.96 2.96 10.1 10.11 111.10 1.50 11.21 8.3 100.51 1.35 11.21 8.3 100.51 1.35 12.21 18.3 120.22 2.43 12.4 9.9 122.76 1.65 12.3 11.1 136.53 1.84 11.4 12.3 140.22 1.89 9.8 19.8 19.8 125.62 1.72 13.3 9.4 125.62 1.72 13.3 12.11 148.95 2.00 15.4 8.3 127.82 1.72 13.3 12.11 186.88 2.52 11.7 11.2 186.89 2.52 11.7 11.2 186.89 2.52 11.3 18.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.22 10.3 8.8 90.64 1.29 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19 9.1 9.7 88.27 1.19	N	2	1 0) 1	N	2	N	N	23	2	N	N	-1	_	-	_	_	_	2	2	2	2	2	Ŋ	N	N	2	N	N	N	2	N	G	၀	o 0	် ၀	œ	w	G D	0	œ	œ	œ	4	4	4	4
14.11 125.36 1.89 14.11 136.87 1.84 14.11 136.87 1.84 8.6 91.16 1.23 10 87.00 1.17 9.6 104.64 1.41 9.7 108.64 2.96 10.11 102.11 1.37 111.11 111.10 1.50 8.3 100.51 1.35 103 1215.40 16.36 12.6 157.50 2.12 9.7 114.46 1.84 13.11 136.53 1.84 12.3 140.22 1.89 19.8 194.04 2.61 12.11 148.95 2.00 8.3 127.82 1.72 9.4 125.02 1.86 12.1 131.04 2.61 12.1 136.88 2.52 11.2 131.04 1.76 11.2 131.04 1.76 11.2 180.43 2.43 9.3 90.64 1.22 8.8 90.64 1.22 9.2 55.20 0.74 9.1 88.27 1.19 9.7 88.27 1.19	228	217	2 1	216	215	214	213	212	211	210	202	201	121	119	118	117	108	107	308	307	306	305	304	303	302	301	209	208	204	203	202	201	108	105	103	102	<u></u>	10	9	СЛ	4	ယ	_	B410	B409	B408	B407
1.25.26 1.39.69 1.88 1.36.87 1.84 91.16 1.23 87.00 1.17 104.64 1.46 219.96 102.11 1.50 100.51 1.50 115.50 1215.40 16.36 157.50 2.12 114.46 180.92 2.43 122.76 136.53 122.76 136.53 122.76 136.53 122.82 136.32 125.02 186.88 167.50 2.25 131.04 1.81 186.32 2.43 186.32 2.24 83.60 1.72 125.22 90.64 84.63 1.01 85.54 1.15 86.57 1.19 88.27 1.19 88.27 1.19 88.27 1.19 98.49 96.46 1.30	9.3	9.1	0 0	0 9	91	9.1	9.1	9.1	9.1	9.1	9.3	9.3	6	10.3	10.3	10.3	10	9.5	10.8	16.11	11.7	12.8	11.1	13.4	13.3	15.4	12.3	9.8	11.4	12.3	12.4	13.8	11.8	12.5	11.8	12.11	10	10.1	23.4	11.2	10.9	8.7	10.6	9.7	9.9	8.9	9.9
1.89 1.84 1.23 1.17 1.41 1.46 2.96 1.35 1.65 1.84 1.89 1.89 1.89 1.89 1.89 1.89 1.89 1.89	8.8	10.6	<u> </u>	9.7	9.7	9.7	9.7	9.7	9.7	9.4	8.1	9.1	9.2	8,8	8.8	8.8	9.3	8.8	15.4	11.2	11.2	14.6	12.1	12.5	9.4	8.3	12.11	19.8	12.3	11.1	9.9	13.11	9.7	12.6	103	8.3	11.11	10.11	9.4	9.7	9.6	10	8.6	14.11	14.11	14.11	14.11
	81.84	96.46	06.46	88.27	88.27	88.27	88.27	88.27	88.27	85.54	75.33	84.63	55.20	90.64	90.64	90.64	93.00	83.60	166.32	180.43	131.04	186.88	134.31	167.50	125.02	127.82	148.95	194.04	140.22	136.53	122.76	180.92	114.46	157.50	1215.40	100.51	111.10	102.11	219.96	108.64	104.64	87.00	91.16	136.87	139.69	125.58	139.69
	1.10	1.30	· :	1 10	1 19	1.19	1.19	1.19	1.19	1.15	1.01	1.14	0.74	1.22	1.22	1.22	1.25	1.13	2.24	2.43	1.76	2.52	1.81	2.25	1.68	1.72	2.00	2.61	1.89	1.84	1.65	2.43	1.54	2.12	16.36	1.35	1.50	1.37	2.96	1.46	1.41	1.17	1.23	1.84	1.88	1.69	1.88
	_		. .	.		هـــــــــــــــــــــــــــــــــــــ	>	_	_			. ـــ	0	_			>	_	2	2	_	2		2	_	_	2	2		_	_	2	_	2	16	_	_	_	2	_	_	_3	-3			_	_
1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	-1.00	-1.00	2	-1 00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	-1.00	1.00	1.00	0.00	1.00	0.00	1.00	0.00	0.00	1.00	1.00	0.00	0.00	0.00	1.00	0.00	1.00	15.00	0.00	0.00	0.00	1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
0.0000000000000000000000000000000000000	0.00	0.00	9 6	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00
					10																																				_	_	→	-	-	-3	<u> </u>

60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant	60 Brant						
N	N	2	2	N	N	N	N	2	2	N	Ν.	2	2	2	2	2	2	2	2	2	2	2	23	2	2	2	2	2	2	2	2	2	2	N	2	2	2	2	Ŋ	Ŋ	2	2	_3	_	-
274	273	272	270	269	268	267	266	265	261	260	259	257	256	255	254	253	252	251	246	245	244	243	242	238	228	227	225	224	223	222	221	220	217	216	215	214	213	209	208	207	205	204	150	115	109
6.5	6.4	6.4	6.4	6.4	6.4	6.4	6.4	6,4	6.4	6.4	6.4	6.4	7.6	6.4	6.6	6.6	6.9	10.11	6.6	6.6	6.6	10.3	7.3	11.4	7.6	7.11	7.2	7.1	7.6	7.1	7.6	7.1	7.11	7.7	7.6	7.6	7.6	7.1	6.6	7.1	6.4	7.8	10.11	12.9	8.3
13.3	13.3	13.3	11.1	11.1	13.3	13.3	13.3	13.3	13.3	13.3	13.3	11.1	13.3	11.1	13.3	13.3	13.3	7.8	13.3	13.3	13.3	7.1	10.9	±	16.6	12.1	13.8	13.4	13	12.9	12.6	12.4	15.1	15.1	12.3	12.3	12.1	11.6	15.6	12	11.9	11.7	9.8	8.1	13.1
86.45	85.12	85.12	71.04	71.04	85.12	85.12	85.12	85.12	85.12	85.12	85.12	71.04	101.08	71.04	87.78	87.78	91.77	78.86	87.78	87.78	87.78	73.13	79.57	125.40	126.16	86.03	99.36	95.14	98.80	91.59	95.76	88.04	107.36	116.27	93.48	93.48	91.96	82.36	102.96	85.20	76.16	91.26	99.08	104.49	108.73
1.16	1.15	1.15	0.96	0.96	1.15	1.15	1.15	1.15	1.15	1.15	1.15	0.96	1.36	0.96	1.18	1.18	1.24	1.06	1.18	1.18	1.18	0.98	1.07	1.69	1.70	1.16	1.34	1.28	1.33	1.23	1.29	1.18	1.44	1.56	1.26	1.26	1.24	1.11	1.39	1.15	1.03	1.23	1.33	1.41	1.46
_			0	0		>	_	_			>	0	_	0	>	_	_	_				0	_	-3	->	>	_	→	_	-	_	→	_	_	_	3	_		-		-3		_3	_	<u> </u>
0.00	0.00	0.00	-1.00	-1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	-1.00	0.00	-1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	-1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
1.00	1.00	1.00	0.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	0.00	1.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00
1 0	<u>.</u>	1 0	1 0	1 0	1	-1	0	→	0	1 0	<u>.</u>	 O	1 0	1 0	1 0	1 0	1	1 0	J	<u></u>	0	<u></u>	<u> </u>	1 0	1	<u></u>	<u></u>	1 0	1 0	1 0	1	<u>.</u>	-	1	1	0	1	1	0	0	0	-1	1	1	.

80 Woodlawn	60 Brant	60 Brant	60 Brant	60 Brant																																									
8	2	N	23	2	2	2	N	2	2	2	2	N	2	2	23	2	N	2	2	2	2	2	2	2	2	2	N	N	2	2	2	2	2	2	→	-3	_3	<u></u>	_3	_	>	Ŋ	2	2	22
237	236	235	234	231	230	229	228	227	226	225	224	223	222	221	220	219	218	217	216	215	214	213	212	210	210	209	208	207	206	205	204	203	202	201	107	106	105	104	103	102	101	281	280	277	275
12.7	12.7	12.7	12.7	12.7	12.7	12.7	12.7	12.7	12.7	8.9	8.9	8.9	8.9	8.9	8.9	8.9	8.9	8.9	8.9	8.9	8.9	8.6	8.6	8.7	8.7	8.7	8.7	9	12	12	12	12	12	12	8.3	8.3	8.3	12.5	12.5	12.5	12.5	9.1	12.2	12.5	10.11
10	7	7	13.1	9	9	9	9	9	9	12.5	12.5	12.5	12.5	12.5	12.5	12.5	12.5	12.5	12.5	12.5	12.5	15.6	15.6	11.4	11.4	11.4	11.4	12.5	12.5	12.5	12.5	12.5	12.5	12.5	13	13	13	12.5	9.9	9.9	9.9	8.7	7.6	6.11	11.3
127.00	88.90	88.90	166.37	114.30	114.30	114.30	114.30	114.30	114.30	111.25	111.25	111.25	111.25	111.25	111.25	111.25	111.25	111.25	111.25	111.25	111.25	134.16	134.16	99.18	99.18	99.18	99.18	112.50	150.00	150.00	150.00	150.00	150.00	150.00	107.90	107.90	107.90	156.25	123.75	123.75	123.75	79.17	92.72	76.38	114.24
1.71	1.20	1.20	2.24	1.54	1.54	1.54	1.54	1.54	1.54	1.50	1.50	1.50	1.50	1.50	1.50	1.50	1.50	1.50	1.50	1.50	1.50	1.81	1.81	1.33	1.33	1.33	1.33	1.51	2.02	2.02	2.02	2.02	2.02	2.02	1.45	1.45	1.45	2.10	1.67	1.67	1.67	1.07	1.25	1.03	1.54
			2			_	_		_	_	_		>	_		-	->	_	_	_		_	_	_	-	_	_	_	2	2	2	2	Ν	2	_	_	-3	2		_	-3			-3	-1
-2.00	0.00	0.00	-1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	-1.00	-1.00	-1.00	-1.00	-2.00	-1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
0.00	1.00	1.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	0.00	0.00	0.00	0.00	0.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00
ω	_	-	ω	_	-	<u> </u>	_	-	_		_	_	_	_	_	_	_		-3	-3	_	-	<u> </u>	_	_		_	_	ယ	ယ	ω	ယ	4	ယ	_	- >		2	_	-3	_	_	→	- >	<u> </u>
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0

1076 Pape	558 Bathurst	422 Gilbert	360 Lesmill	95 Wellesley																																									
2	2	2	2	2	ω	ω	ω	2	23	2	2	G	2	2	2	2	2	2	2	2	2	2	23	23	Ŋ	2	G	ធ	G	၀	G	ഗ	G	G	۵	ឲ	ဝ	G	ഒ	G	2	2	N	_	<u> </u>
202	201	121	120	119	303	302	301	208	205	202	201	103	222	221	220	213	212	211	210	209	208	207	206	203	202	201	132	131	130	129	128	127	126	125	118	117	116	115	114	113	203	202	201	103	101
12.3	12.3	14.7	8.9	9.2	12.8	11.6	20.3	13	7.4	11.8	11.8	13.8	12.7	12.7	12.7	12.9	12.9	12.9	12.9	14.1	12.1	12.1	12.1	12.1	12.1	14.1	10.2	10	10	10	10	10.3	13.7	13.7	10	10	10	8.5	& 5	8.3	24.2	18.1	24.7	22.5	13.5
10.5	10.5	12.1	8.1	00	11.5	12.1	13	12.1	28.8	13.1	16.7	12.8	11.4	11.4	11.4	10.11	11.2	11.2	11.2	12.1	11.2	11.2	10.11	11.4	11.4	12.1	16	16	16	16	16	16	13.7	14	16.1	16.1	16.1	16.1	16.1	16.1	10.1	15.3	11.4	15.2	12.1
129.15	129.15	177.87	72.09	74.52	147.20	140.36	263.90	157.30	213.12	154.58	197.06	176.64	144.78	144.78	144.78	130.42	144.48	144.48	144.48	170.61	135.52	135.52	122.33	137.94	137.94	170.61	163.20	160.00	160.00	160.00	160.00	164.80	187.69	191.80	161.00	161.00	161.00	136.85	136.85	133.63	244.42	276.93	281.58	342.00	163.35
1.74	1.74	2.39	0.97	1.00	1.98	1.89	3.55	2.12	2.87	2.08	2.65	2.38	1.95	1.95	1.95	1.76	1.94	1.94	1.94	2.30	1.82	1.82	1.65	1.86	1.86	2.30	2.20	2.15	2.15	2.15	2.15	2.22	2.53	2.58	2.17	2.17	2.17	1.84	1.84	1.80	3.29	3.73	3.79	4.60	2.20
_	_	2	0	_	_	_	ယ	2	2	2	2	2	_	-	_	-		_	_	2	_3		-3		_	2	2	2	2	2	2	2	2	2	2	2	2			->	ω	ယ	ယ	4	2
-1.00	-1.00	1.00	-1.00	0.00	0.00	0.00	1.00	1.00	0.00	0.00	0.00	1.00	-3.00	-2.00	-1.00	-2.00	-2.00	-2.00	-3.00	-2.00	-3.00	-3.00	-3.00	-2.00	-2.00	-2.00	0.00	-1.00	-1.00	-1.00	-2.00	-2.00	-1.00	-1.00	-2.00	-2.00	-2.00	0.00	0.00	0.00	-2.00	-6.00	-6.00	-3.00	-2.00
0.00	0.00	1.00	0.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0,00	1.00	1.00	1.00	0.00	0.00	0.00	0.00	0.00
2 0	2 0																																									_	9 4		·

747 Warden	/4/ Warden	747 Warden	747 18	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Warden	747 Waluell	747 Warden	147 W 147 1	747 Warden	1076 Pape																																
	_		.	_	<u> </u>		_	_	_	_	_		. _	. .	_	>	-	_	_			۰ ـ	.	۰ -	۔ د		-	_	_	_	_	_	-	_	_	_	_	_	_	-3	2	2	N	2	2	· N	2	2	
C64	C63	C82	2 2	S.	C60	C48	C46	C24	C20	C18	C54		CSZ	Ç -	C7.	C49	C47	C45	C43	C40	C39	C38	C3/	2 6	C38	C35	C34	C33	C32	C31	C19	C16	C15	C14	C13	B16	B15	B13	B11	B09	210	209	208	207	206	205	204	203	
																																	£8								12.8	12.3	12.3	12.3	12.3	12.3	12.3	12.3	
																																									12.9	10.1	10.1	10.1	10.1	13.2	10.5	10.5	
154.67	138.1	80.19	200.10	ж 3	84.06	89.87	86.11	126.58	109.03	113.02	102.68	105.8	100.38	100 20	05 76	128.19	120.87	119.47	119.47	119.47	93.75	93.75	79.22	70.00	71 04	89.44	101.71	101.71	101.71	101.71	179.75	88.9	93.75	93.75	93.53	140.79	132.18	100,31	107.42	103.87	165.12	124.23	124.23	124.23	124.23	162.36	129.15	129.15	
2.08	1.86	1.08		1 13	1.13	1.21	1.16	1.70	1.47	1.52	1.38	1.42	1.40	1 120	1)8	1.73	1.63	1.61	1.61	1.61	1.26	1.26	1.07	. o.	900	1.20	1.37	1.37	1.37	1.37	2.42	1.20	1.26	1.26	1.26	1.89	1.78	1.35	1.45	1.40	2.22	1.67	1.67	1.67	1.67	2.19	1.74	1.74	
2		.	. _	.		_	_	_	_		3	·	. _	.	<u>.</u>	_3	_	_		_3			-	. (o -		→	_			N			_	_	_	_		_	_	2	_			_3	· N		. -	
0.00	-1.00	0.00	0 00	000	0.00	0.00	0.00	1.00	0.00	0.00	0.00	0.00	0.00	0.00	000	0.00	0.00	-1.00	0.00	0.00	0.00	0.00	0.00	2 :00	1 00	000	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	-1.00	-1.00	-1.00	-1.00	-1.00	-2.00	-1.00	-3.00	-2.00	-3.00	-2.00	-2.00	-2.00	
1.00	0.00	1.00	3	100	1.00	1.00	1.00	1.00	1.00	1.00								0.00	1.00	1.00	1.00	1.00) 20		3.6	1 00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	
2	2	· _	_	٠.	_	-	_	0										2	_	_	_	>			. .	٠.	_	-	_	_	N	->	_	_	_	N	2	2	2	2	4	2	4	ယ	4	4	ω	ω	
0	0	0	· c	> +	0	0	0	0	0	0	0	0	· c) c) (o (0	0	0	0	0	0	c	· c	o c)	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2	0	2	- ۲	2	N	_	->	